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Directions{1-4): Study the following table which show 5.

the number of students appeared and passed in dif-
ferent streams in a University and answer the ques-
tions given below it. (S8C CHSL Exam 11.12.2011)

1.  Approximately what per cent of students appear-

ing in medical, passed in 2003 ? 7.

T4 2003 W fafiren Twm = T faav Tt sl ge
(a) 75% (b) 83% (c) 78% (d) 88%

2.  Approximately what per cent of total students
appearing in 2004, appeared in commerce
stream ?

T4 2004 ® @ivea T ¥ FF T H T S @

forat % & 8‘
(a) 55.3% (D)64.4% (c}52.5% (b)59.3%

3. The number of students appearing in all
streams was minimum in the year -
ﬁmaﬁwﬂmﬁmﬁaﬁ#mmaﬂmmﬁ*
w1 #i? =
(2)2002  (b)2003  {(c) 2004 (4;_2"’@06%;

4.  The number of students passing in aﬂ:,,sﬂ%sa.ms
was maximum in the year.
weft Wbl ) frreeRt it S A g # m@n faa
T4 HETm i
(a) 2001  (b)2005  (c} 2 : (d) 2004
Directions(5-8): The following table’shows the pro-
duction of food grains(in milfion tonnes) in a State
for the period 1988 to $992. Reéad the table and an-
swer the following questhn&.
. *aﬁ& {SSC CHSL DEO Exam 11.12.2011)

&i

=1

T A A A . e

STATISTICS & DATA INTERP

Engineering Medicat Management Comnmerce
Year gg&i Pass g;}%d Pass ‘éaprgd Pass égr%d Pass
2001 324 (289 |469 |[246 96 69 1467 |1310 6.
2002 1356|312 }430 ]364 74 62 1246 | 1129
D003 (284 212 |384 [326 124 102 { 1387 |[1176
2004 1310 |246 395 |298 106 92 1180 | 1074
2005 |426 {382 424 {382 92 74 1562 | 1326
P06 | 380 (286 466 {405 78 63 1374 | 1207
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During 1990, the percentage of decrease in
production of maize as against the previous
year was :

7§ 1990 = A HFF F A °, fuzd wa F o
H fpaa vfte =t W

(8)2.63% (b}2.56% () 2.71%, (d)2.47%

In 1991, the increase in pro&uctlon over the
previous year was maxinturft-fof :

7§ 1991 ¥, ﬁwwa}mﬂ“ﬁ@ﬁmaﬁw

H o e g2 | %
{a) Wheat .+ (b) Rice
(c) Maize % (d} Other Cereals

The increase in fhe production of other cereals
Bus year) was minimum during

mwﬁa’:mﬂﬁaﬁaﬁaﬁwﬂwq@
ot o g7

: (a) 1989 (b) 1990  (¢) 1991 (d) 1992
=JD1.mr1g 1992, the percentage of increase in the

S productlon of wheat over the previous year was:

ﬁé1992$=ﬂm W & s | s a8 & g o

e
(a) 26.47% (b} 20.92%
() 23.67% (d) 18.74%

Directions(9-12): Study the following table and an-
swer the questions given below.

Annual income of five schools.

(Figures in ‘1000 rupees)
{88C CHSL LDC & DEO Exam 11.12.2011|

Source of Income Schools
| A B |IC DI|E
 Tuition Fee 200 1150168 190 ] 65
Term Fee 15 1 8 |10 (1C0] 70
Donation 18 11719 J11] 15
Grants 19 |32 (12 [12] 75
Miscellaneous 23 18|27 |12 &0
Tota, 275 |2251126 [135] 285

Year| Prod 'on 1ﬁm1]lon tonnes Total (Totall
X | Maize | Other Cereals
1988 150 350 1250 9.
1989 234 400 1454
1990 228 420 1448
1991 380 460 1820,
1992 340 500 1960
Total 1332 2130 7932
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For school E, what per cent of the income of
miscellaneous is the income from donation ?

A E# ford fafay @l § wa 29 anedt 3, SHed
| W T el o W e wiaww #2

(b) 40% (d) 400%

1
(a) 25% (c) Z%




10. Which school has the highest percentage of in-
come from tuition fee out of its total income ?
77 F & 99 9 W F 5o 919 ° TR 9 I g awedt
3 w1 wiaew waifas 82
(a) A (b) B {&C [dD
11. In case of how many schools, is the income by
way of tuition fee, is less than four times of term
fee ?
31 Sl Bl GEH 9 ! TEE § WK B 9l oM,
= W & 9r T | w82
(a) 0 (b)1 c)2 (d)3
Which school has the lowest ratio of income by
way of grants and tuition fee?
%Y B A=A T AT W WA A AW TRA
F ¥ WG B Al S S A ST 87
(@ E (b)B (c} D (A
Directions{13-17}): The following pie-chart shows the
number of students who failed in different subjects
in an examination, Examine the chart and answer
the following questions. The total number of students
who have failed is 500.

(SSC CHSLLDC & DEO Exam 21.10.2012}

12.

13. The number of students failed in sm@pe is ieés

than the number of students failed in: all other
subjects by :

\\\\\

(a) 170 {b) 140 (c) 18@7\_,_5 eﬂ} 160

The central angle of the sector'for the students
who have failed i in mathamatlcs is :

#or fopen By
(a) 30° (b} 1@0, “ {c)105.2° (d) 108°
Total numb@r @students who did not qualify in
Mathe%j:&é nd Language and Science is :

14,

15.

nfum 'rrrsf; Gl | fawdi ¥ et 31 9 I F wE
am&?"‘
(a) 460 (b) 490 (c} 480 (d) 470

16. Number of students who failed in mathematics
is less then the students who did not qualify in

languages by :

=]

Wizard of Maths - Rakesh Yadav Sir

nfird ¥ wel B9 T o ¥ g, T ¥ $ g1 9
o1 1 e W fwal w9 ¥2

{a) 20 (h) 40 {c} 30 (d} 50

The percentage of students who have failed in
mathematics and language is :

TR G W § R B A D6 W He Wavd qa?
(a) 65.5% (b)60% (c) 66% (d)62%
Directions{18-22): The pie-chart given below shows
the number of students enrolled in a school in differ-
ent activities. Total number of students in the school
is 1200. Study the chart and answer the
questions. LB

mo AR
(SSC CHSL LDC & DEO Exam 21.10.2012)
s 00 3

17,

Human Res@u"
Development, Cle

How ma.ny ﬁtﬁ*ﬂents are enrolled in N.C.C. ac-
tl\nﬁe,g‘ P
et BTHN.C.C it § T g2
. (a) 180 (b)120 c) 72 (d) 240
19. What is the total number of students enrolled
" in Debating Club and HRD Club ?
| Tar-faeR Fer don wa waneE fawn (HRD) § wfte
| FW 9 o #) Hem aan?
{a) 144 by 216 (c) 288 {d) 72
The number of students enrolled in Eco-club is
what per cent of those enrolled in Redcross ac-
tivities ?
9o | Wiew 21 o B % 9, TwE § wiEe
BEl 1 fradt wiiem 87
(@) 94.24% (b} 95.45%
(c) 82.45% (d) 104.76%
What is the ratio of number of students enrolled
in Scout and Redcross activities together to
those enrolled in Debating Club activities ?

IS AW SHiE Tafatad ¥ witE 1 T /W st
qul aE-faarR F@a W wiAA B 9 SE & e W
I FA?

@3:1 (b)4:1  (jl:4 (d)1:3
Whcih two clubs have the enrolment in the ra-
tioof2:17

fre 4 4 3 9 ) FoEl o wfue 29 9 o # o
& o9 T 2:1 87
{a) Eco Club, HRD Club

{c) HRD Chub, Eco Club
(d) Debating Club, Eco Club

18.

21.

22,

(b) Eco Club, N.C.C.

840




Directions{23-26): The following pie-chart represents 28.

the result of 600 successful students in various sub-
jects of an examination. Study the Pie-chart and an-
swer question.

{88C CHSL LDC & DEO Exam 28.10.2012)

j Mathematics
Bengali
English
History

23. The ratio of students who passed in Bengali, to

the students who passed in History is 30.

el qen sfaer fael 9 3l 3 A oni @ ge
IR fpan 87
{a)1:2 b)2:1

{c)3:4 (d}3:5

29.

If a total of 1.5 million quintals of crop F was
exported, the amount of total foodgrains
exported{in million) quintals was

afz wua F &t 1.5 fafee fidza o frafa =t et @
TR H G ) i 5 e faeen & (fuferm 9)?
(a) 8.7 b) 12 (c)10.8 {d)9.6

The three crops which combine to contribute to
exactly 50% of the total export of foodgrains are

= § @ FF-W 1w B e 3T fal 59
T I 50% 21

(a) A, F and Others bB,Cand F

A, Band C (d) E, ﬁand Others

If a total of 1.5 million, ﬁ‘%m&ds*of crop F was

exported, then the total’ ity of D and E that
was exported(in million quintals) was

afs w5 F 1 %5 1.5 Mo Todest won frafia =61 7,

24. The number of students passed in Bengali is GUECE) T D Fe) % frafa 1 ™ W fRar %2
greater than the number of students passed in (a) 1.2 (0),15 % (c)4.5 (d) 6.5
History by 31. If the revenue fo¥i 1 quintal of crop A is thrice
sl fasm o, sfaem # gam | fead sm v that from qy.nﬁtal of crop C, then the ratio of
sl gu? the to Tues of A and C is
@150 ()60 (120  (d) 100 T ‘1"“ el © Wt TR e v, wEa C

25. The percentage of students who passed in En- * T A | TR B A TR W AR, AT
glish is %ﬁmaﬁwmmwmw:'
st 9 vl g A BT W o - W6 ®2:3 (©3:2 (@6:1
(@) 15% (b) 20% (¢} 5% (d) 12% nfi‘@gtions{sz -36): Following is the pie-chart

26, The number of students passed in Englishjs:
less than the number of students passecl
Mathematics by

stk for ¥ W A% At o A v, v@’mﬁﬁ
o o W TEn ¥ feaht w8
(a) SO (b) 60 (c) 90 b\(d] 75
Directions{27-31): The following Big shows the
export of different foodgrains fro n §0 10. Study
¥
A4 Exam 04.11.2012}

27. Of the total export of foodgrains, the percentage

of crop B exported is
w5d B i frafa, |@ @ fata o frer i 82
@15% (H)20% () 18%  {d)10%

' Shetn

32.

33.
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showing the spendings of a family on various
s in a particular year study the pie-chart and
%nswer questions.

(B8C CGL Tier [ Exam 11.20.2012)

The ratio of the total amount spent for food and
medicine is

i[9 TaREl W R T ' # Ak Fan?
a1:2 b)3:1 ©12:5 (d)11:5

If the total amount spent on the family during
the year was ¥ 50,000, how much they spent for
buying clothes ?

7% 9fEr R A T ad ¥ 50 TR 9 @4 fHa ™
B, @ O wugl W HA fwen & fem

(a) ¥ 6,250 (b) T 6,500

(c)¥ 7,250 (d) 27,500




34,

35.

36.

If the total amount spent on the family during
the year was ¥ 35,000, the amount spent for
study of children and food together was

iz 9fER =1 1 W= 35 590 #, A 59 F o qan
aisA R Fa fean &4 fwn T

(a) ¥ 19,250 (b} ¥ 19,500

(©)T 19,750 (d} ¥ 19,850

Angle of the pie chart representing the expen-
diture on entertainment is

. AR T g SHE T g e fRa 22

(@ 15° () 10°  (¢) 36° () 12%°

If the difference in the amount spent for buying
clothes and house maintenance was ¥ 1,500,
how much they spent for house maintenance ?

If FIF T THA T @E R 7 W =" 9¥1,500
T AW F, 9 T WHE T WE R FA R At

=
(a) T 5,000 (b) ¥ 6,000
(c) % 7,000 (d) Z 8,000

Directions(37-41): The following pie-diagram shows
the expenditure incurred on the preparation of a book
by apublisher, under different heads, by a publisher,
under different heads. Study the pie-diagram and
answer the following questions.

37.

38.

39,

{88C Assistant Grade III Exam 11.11.2012)

41.

e & 4 $H-9 T 9 frert TE-9E # $% W 108°
H1 FO T 37

() Aand D {b)Aand C

(c)Aand B (djAand E

The number of heads on which the expendi-
ture on a book is more than the average is

31 W] =t wen feat #, i W faa T o ofvma ws
q srfies 22
{a} 3
fcy4

(b)2
(d) None of these

Directions(42-46) : The following pie-ehart shows the
expenditure incurred on the constriiction of a house
in a city. Study the chart anzd"anspvé’k the following

questions. sy, R
_(sscm%Xnmmam 28.10.2012)
42. The meésn of the expenditure is equal to

t@aﬁwwmmﬁmﬁ?

(a) "Brick (b) Cement(c) Steel (d}Labour

Misc. @@ﬂﬁ‘he ratio of expenditure on Steel, Cement and
o 5 '@jq . 4 4 { 7 ;¥ Bricks is
Q-"S& E~Gs gOOO ! X%W =, He a3 W R T ' W e san?
15% > (@)2:4:3 b)4:2:3
gooo el €)3:2:4 (d)4:3:2
g . 3 The highest expenditure in percentage is
printing =, Ao wd =1 wfavE s
Angle of the pie-chart represen% @xpendlture (a) 40% (k) 30% (c) 45% {d) 60%
incured on paying royalty j %ﬁ 45. What part of expenditure on labour is in respect
Toedl & g S T F5a P R Wy 92 of total expenditure ?
(a) 27° (b) 36° (c) 15°% (d) 54° ol B, Je ' W fram s 27
If the expenditure on pr;ﬁ'tmg and binding of one 3 5
bookisT 110, themtbg co‘é& of preduction of the (a) To part (b) 3 part
bookis (in¥) .,
- 1 7
g BUR A : aﬂﬁ‘;’ﬂT%‘d'@ﬁ?llO%’l,ﬂ’l (c) 7 part (d) 75 part
(a) 2 50 _ ) (@ 110 (d) 550 46. Of the total expenditure the percentage of ex-
- penditure on steel and bricks together is
If cost Sy mga book is ¥ 200, then print- . )
ing costis ¥ %o T 5, 7o aon 13 1 Wy ¥ we vievw fean 22
o T e R w2009, A wE  @90%  B20%  ©25%  (@)30%
e fpa 2 - Directions(47-51): The following pie-chart shows the
(a) 40 (b) 60 (¢) 20 (d) 50 preference of musical instruments of 60,000 people

Which two expenditures together will form an
angle of 108° at the centre of the pie-diagram ?

surveyed over whole India. Examine the chart and
answer the questions.

Wizard of Maths — Rakesh Yadav Sir

(8SCLDC & DEQ Exam 04.11.2012)




Fute

Sitar 11%

14%

Guitan

Violin
o 20%

20%

wisess

10% pian© ?2%2 d

ok

If 2100 people be less from the number of people
who prefer Flute, the percentage of people who
Prefer Flute would have been:

afz aigl 6= HE Wel B YT 2100 F9 @ @ FH@
| ITH Y% fHa ® T

(@9.5% (h6.3% (¢)7.5% {d) 8.5%

The total number of people who prefer either

Sarod or Guitar, is greater than the total num-
ber of people who prefer either Violin or Sitar by:

W e fER W= F6 9 F) T 9 6 aaed Aed
Toar vo= & 9 ®I || oW § fFan afus @
(a) 1200 (b)1600 (c) 1100  (d) 1400

The number of people who prefer the musical
instrument Sarod is :

Hﬂzmaﬁmﬁm&%mﬁaﬁﬁﬁ@mﬂaﬁ?
(2) 7400  (b)8400  (c) 6400  (d)8600 =

47,

48.

49,

.' L.{

v 56.

) _
16=09 ’
50. If 3 % of the people who prefer pl% wpulcl

go with the poeple who prefer flute, thépmcnt-
age of people who prefer flute would hav%been

A  faerrii’ ﬁmmmmlﬁg% T S

e # e B T, A A TR A i w a
vhem feet @ W@ .

(8) 13.5% (b} 14.5% ., ¥r15.5% () 12.5%
The number of ,péopfe ‘who prefer Guitar is

greater than the t&a] number of people who pre-
fer either Elute o Biano by :

PR e TR AT ) e, 3 el S R st

2 m !a ﬁwﬁ F WS FW 87

(a) 1200 ", (b) 1100

{c) 1300 v (d) 1400
Directions{52-56): Circle graph given below show the

expenditure in bringing out a book by-a publisher.
Study the graph and answer the question,

{83CLDC & DEO Exam 04.11.2012}

51.

Wizard of Maths ~

Cost_of Printing
35%
Charge: Soneef
12% 16%
Miscel{“
ﬁdggfﬁs 32;: .
e
%aﬂf%% Ro ;:ty
52. The central angle of the sector for the cost of
the paper is :
TR YT BRI S T B H01 H A T4
(a) 22.5° (b) 16° {c) 54.8°.  (d}57.6%

53. Royalty on the book is lzss thart:the Advertise-

ment charges by ; Smmaiy B

forae 1 Faeet 74, ﬁammﬁ%ﬁuﬁmm%’
2

(a) 3% (d) 16—%

(b) 25% “= (c} 20%

54. If5500 coples are pubhshed Miscellaneous ex-
penditures aimpunts to T 1848 and pubhsher ]

profitis 25% thén marked price of each copy is
T gl 8 et 5500 FTA e 1 w9 A fafew
T FHEaT 1848 B T, SEiE TERE B AN
25% B W 79 T T 1 Hfhad To7 fFan gm?
P, (8} 312.50 ()T 10.50
. %) ®10 (d)T8.40
Swf*{he cost of printing is ¥ 17,500, the Royalty is:
7% R B e T 17,500 9, @ W H Fimg Fan?
b)wfj (a) ¥ 8750 {b) T 6300
()T 7500 (T 3150
If the miscellaneous charges is ¥ 6,000,then the
Advertisement charges are :
7% fafaw =<2 6,000 8, @ war faqraa &= fram gmm?
(a) T 27,000 {b) ¥ 90,000
(€)% 12,000 (d)%¥1,333.33
Directions(57-60): A motorist and a scooterist made
a journey of 120 km at the same time and from the
same place. The graph shows the progress of the jour-
ney made by each person. Study the graph and an-
swer the questions.
(SSC Assistant Grade INl Exam 08.02.2012)

4

80

Distance(in km}

000 9:30 10:00 10:30 11:00 11:30
am am am am am am
Time —»

Rakesh Yadav Sir




37. At what time did the motorist meet the
scooterist ?
frm a7 W AR wE¥fEa o, e wes | faen?
(a) 10: 30 am (b) 10: 45 am
{c}10: 15 am (d) 10:20 am

58. What was the speed of the scooterist during the
journey ? (in kmph)
FE A T A THR T@F F 1 T@@) (kmph F )
(a} 45 (b) 48 (c}42 (d) 46

59. The scooterist completes the journey ( in hours) :

H I 4 A e ue o wEra S

1 1
(a} 3 (b) 2 (e} 25 @ 35

60. How far from the start, did the motorist met the
scooterist ?{in km)

T wiifFa wes T 9 e 9 R X 99 9

fasm (km )

(a} 75 {b) 70 {c} 90 (d) 80
Directions{61-65) : The following Bar chart shows
the sales of a company XYZ (in ¥ Crore), Study the
chart and answer the following gquestions.

{S8C CHSL LDC & DEO Exam 21.10.2012)

o
100004— &
o
O
2
8000}— rg- =
A o =
Eeooo— 3
¢ &
W —
8 Q
§4000— w0 & 4 z b
o T § &, [
2000~ & 1 %H ;
b
[y | -y
%,I_Il‘lr] |
01 2 3 45 ¢ 9% 10 11
€ Years
61. Total sales in 2nd an

years together is :
et fast gd
b) T 2888 crores
(d) T 2488 crores
is in the year :
g o g2

Tad a9 A "

{a) T 2688 crores

(c} T 2788 croreg )x
62. The 2" hig e . %2

(a) 10 2 ()8 (d)y7
63. The 2~ xaW sale is in the year :

ferira fra s o2

(a) 2 (b3 (c} 6 (d) 4

64. The mean of the highest and the lowest sale
{in T Crore) is :

sfgwan 91 Aam faet & W 9o (g H)

=1

Wizard of Maths - Rakesh Yadav Sir

(8) T4922.5 {b) T4827
()T 4365 {d) T 4922
65. The sale in the year 4 is less than the sale in
the year 8 by
< o Ft 7 fawt oned T ¥ F Rl @ feae v
w9 2l
(a) T 3608 crores (b) T 3504 crores
(¢) T 3127 crores (d) T 3427 crores

Directions({66-69): The bar graph given below shows
the total number of students in six sections of a class
VI of a certain school. Usmg? this graph,

answer the question. x
w Exam 28.10.2012)

dents
3

lII||III|I|IIIII|II|||IIII|II|I'I'|IIIIIlII|||I|

MO

]
o

tudents ?
TR A D faam § sl # dem gm 2
{a) Sec. A and Sec. E
(b) Sec. Aand Sec. F
(c} Sec. Cand Sec. D
(d) Sec. B and Sec. F

67. What is the ratio of the number of students in
section A to that in section C ?

o Aqen formn C o 9T 1 S8 % 9 1 oY TR0

(a)34:35 (b)32:35 (¢)31:35 (d)34:31
68, Whatis the total number of students in class VI?

4 VI 36 1 %7 S q0rl

@200  (b)209 () 199 (d) 179

69. The percentage of the students in section C out
of the total students in class VI is approximately.

faam C = B F W&, FH-6 $ |/ SO I A=A F

e % &2

(a) 17.58% (b) 16.08% (c) 16.58 (d) 15.57%
Directions(70-74): The following bar diagram analy-
sis the sale of a company from 2000 to 2005, Exam-
ine the diagram and answer the question.

{SSCLDC & DEO Exam 04.11.2013)

' i%g;% C D F
ah €— Marks ~»
ich two sections have the same number of
%




70.

71.

72.

73.

Directions(75-78): The graph s 1t

of wheat in different years of a pafy
the graph and answer questions.

4504
440
4304
420 -
410
400
390~
380
3704
360 -
350
340 -
330
3204
3101
3004

LI L L

Sales in thousands of Rupecs

2000 2001 2002 2003 2004 2005 ©
i €— Year =—3
The sales in 2004 are what percentage of those

in 2002 ?

= 2004 Fi sk, a6 2002 F fFt ®1 fras % 2
(a) 40% b 4% (©110% (d)1.1%

In which year did the sales show the least
decrease to that of the preceding year ?

froat o &t gorn A fom ad wad F0 =Ew fa 7
(a) 2004 (b}2001 (c) 2003 (d) 2005

By what amount are the sales in 2003 more
than those in 20017

o9 2003 F fast 7 2001 1 fort A frat == #)
(a) ¥ one hundred (b) T ten thousand

{c) ¥ one lakh (d) ¥ ten lakhs

The sales in 2001 are how many times those of
20027

aﬂzomﬁﬁaﬁaﬁzoozaﬁﬁaﬁﬁmﬁ&%rg "-w

(a} 8 times {b) 0.8 times
(c) 2.5 times (d) 3 times
In which year did the sales show thg pert
cent increase to that of the precedingey
freet ad #t go o fem o fawt 4 =rm g
(@) 2000 (5)2002  (c)2003 ﬁd} 2004
roduction
) ate. Study

€ &8 & 8 8 g
Years —

Wizard of Maths - Rakesh Yadav Sir

75. The year in which the production reached
maximum is
5 = o sema aifim @
(@) 1995  (b) 1997  (c) 1999 (d) 2000

76. The percentage increase in production of wheat
from 1997-1998 is

I % I ® a91997 § 1998 # foher % 1 waiwd gh
(@) 100% () 150% (0)90%  (d) 120%
77. 'The year which had the percentage of decrease

1
its previous year in production as 13-% is
& /@i
o,

oo 78 forot o 7 e 4

(@) 1996-97 (b)«aggs 96
() 1999-00

} (d) 2000-01
78. The total PEO d@n from the year 1995 to
i 1995 % 1908 Fa1 I forr #1 (foiew )
(@) 30&’;0 {NpS100 (3200 (d)3300
Directi @ : The following is a horizontal bar
diagram sho 1g the accidents in which two-wheel-
erssg gmvolv’ed with other objects. Study the dia-
iyl answer the question.

{8SC DEO & LDC Exam 21.10.20£2)
OBJECTS HIT

Two-wheelers [LTTTTTTTTTT

Cars
Buses

Tanker lorry [TTTTTTT]
Pedestrians [T

Bicycles OI1T1171717171])

Stationary  [TTT1]
Vehicles 0O Represents 20

79. The difference in percentage between the ac-
cidents involing two-wheelers and other objects
is respectively,

) e A e o e g1 B et gl @
o % &1 3T B
(a) 77% more (b) 77% less
{c) 54% more (d) 54% less
80. 60% ofthe accidents are involved due to

FA THAH F 60% 1= Tl ¥ g &

(a) cars, buses, tanker lorry and pedestrians
(b) cars, tanker lorty, bicycles and stationary
vehiles

{c) two-wheelers, cars, buses and stationary ve-
hicles .

(d) two-wheelers, cars, buses and tanker lorry.

% % = g




81. Ifthe data of the bar diagram is represented by
a pie-chart, and the angle of a sector of the pie-
chart is 36°, then this sector represents the
accidents involving

Iz fd T R WE W W W B gR T S ek

-9 W T 9 U W 36° @ a9 99 98 A 9@

w2 @ T 2

{a) pedestrians {b) bicycles

(c) buses (d} stationary vehicles.
82. The percentage of accidents in which pedestri-

ans and cyclists are involved is

fga qon wEfET Q@ R ARl et W % fEa #)

{a) 24% {b) 6% {c) 60% {d) 20.4%
83. the percentage by which the accidents involv-

ing buses is less than the accidents involving

tanker lorty is

99 TR A it el wR g ER et geemet ]

frat % #0921

(a) 6% (b} 4% (c} 40% (d)28%
Directions(84-88): The bar chart given below shows
the percentage distributiion of the production of vari-
ous models of a mobile manufacturing company in
2007 and 2008. The total production in 2007 was 35
lakh mobile phones and in 2008 the production was
44 jakh. Study the chart and answer the following

guestions,

[88C CGL Tier Il Exam 16.09.2012)
Percentage of six different types of mobiles

manufactured by a company over two year

2007 & 2008
84. Total numher,—oﬁmo'bﬂes of models A, B and E
manufactukd%@2007 was
= 200%4 §i% A,B 7H1 E F1 FA IARA fee
(a) 24,5 (b} 22,75,000
(c) 21,00,000 (d) 19,25,000
For which models was the percentage variation
in production from 2007 to 2008 the maximum?

= 4 | fF7 T @1 99 2007 9 2008 T SoIRA
wiie = e aifeenan R

85,
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(@) Band C {(b)Cand D
(¢c)Dand E (d)Aand B
86. What was the difference in the number of B type
mobiles produced in 2007 and 2008 ?
B SR % T @ SR Fi gem § 42007 41 2008
" foram i 2
{a) 3,55,000 (b} 2,70,000
(c) 2,25,000 (d) 1,75,000
87. If the percentage production of A type mobiles
in 2008 as same as thatin 2007, then the num-
ber of A type mobiles produced in 2008 would
have been
I A FER B A w1 AW 2098@1 2007 ¥ STRA
uﬁmwﬁaﬁaﬁmos”ﬁfﬂﬁ%?@mw
S fa o Bpy, W
(@) 14,00,000 (b}éé 20,000
(c) 11,70,000 . (d) 10,50,000
88. If 85% of the D tgpe“moblle produced in each
year were solg, by, ttie company, how many D type
mobiles remaigeﬁ&.unsold ?
Hﬁuﬁmaﬂ@azﬁwnmﬁmaﬁmm
S%ﬂﬁﬁma?msi?ﬁaaﬁnma%maahﬁ
= % el T
(a) 76,500 (b) 93,500
4 (e 1,]8,500 (d) 1,22,500
Direéti 89-93}): Study the following bar graph and

ans‘Wengthe questions. Gross Profit and Net Profit of a

,,,,,,,

(FCI Assistant Grade II1 Exam 25.02.2012)

ol
T Gross profit Net profit 50
L& 50
=t o
5 Y 45
& 5 40 =
= & 40 —
£% o BH E
92 0t BH 5
£3 S T —— o
a— — =

:g. 204+ K — 15
= =1
10
- u w [

The year in which the gross profit is double the
net profit

Toq o d wwa @, S AW BT A2

(@) 1994 (b)) 1995 () 1996  (d) 1997

90. The prercentage of net profit of 1995 as
compared to the gross profit in that year is
1995 &1 Y5 @4 39 T4 % FH @ F fFa % a2
(8)25.5% (b)35.5% {c)37.5% (d)42.5%

91. The differenice of average gross profit and aver-

age net profit calculated for four years is




0 ael § siud Ghe w1 9o Sied g @ % o

AT R B
(a) T 18.75 lakhs (b) ¥ 19.75 lakhs
(c) ¥ 20.5 lakhs (d) ¥ 22.5 lakhs

92. The ratio of gross profit to net profit in a year

was greatest in the year
&0 a9 § ¥ W F Ys W9 | UE sifuwan o
(8} 1994  (H)1995  (c) 1996 {d} 1997
93. For the entire four years as shown, the ratio of
total gross profit to total net profit is
R A A FH THA AN F HA Y& A9 Y IR 7l
(a)13:4 (b}11:6 (¢)11:5 (d) 9:4
Directions(94-97): The following diagram shows the
percentage of population of Hindus, Sikhs and Mus-
lims with respect to total population in a town during
2005 to 2008, Study the diagram and answer the ques-
tions:
(SSC GD Exam 22,04.2012)
754

D Muslims

94,

e a6, 2007 ¥ HT TEEN 80 7 of, a‘laa“ﬁzom
Y fegat %1 e frat o (mﬁ%ﬂi’

(&) 25 (b) 16 {c) 18 o fd} 20
95. Percentage decrease in Hin p&pulation from
2005 to 2008 is

T4 20059 zoosazs%ga:ﬂﬂmaﬁ q fras % FT
Ful g

{a} 50% (b) 40% (c) 25% (d) 15%
Difference of perc&ntage of population of Hin-
dusin 20Q§ dQOOS is

T zoosﬂiﬂowi%ﬁaﬂ 1 e | e s 2
(wfaema %}

() 18 {b) 15 (c) 24 ) 16

If the total number of hindus in 2008 was 12
lakhs, the number of muslim in 2008 was

Ift af 2008 # fegsi = a1 SAHEn 12 7wg of, @
TaE 2008 ¥ qie Ft 7§ @ frat off?

(@) 18 (b) 12 (c) 24 (d} 16

96.

97,

Wizard of Maths - Rakesh Yadav Sir

Directions(98-102}): Study the following multiple bar
graph carefully and answer the questions

(SSC LDC Exam 28.10.2012)
Survey of the number of working and non-
working women over the years.
DWorking Wormen

1T -NOn—working women
90 4

80 ==
70

I N—

50 4

40
30 -+

Number {in Millions)=—————=

10 4

200 3 2009 2010

20608
s —>

98. The numbgr'@f on-working women in the year
2010 was apgp¥oximately(correct up to an inte-
ger]‘{w‘!atflfggl‘"oent of total number of working as

well as‘gon-working women in that year ?
%Qloﬁ - Wival F wEm, F@ wedw aen R
gﬁﬁaﬁmaﬁwmwwwmﬁ% eft?
(@ 23% {b) 25% (c}) 29% (d)31%

99 ﬁWhat is the ratio of number of working women
to the non-working women in the year 2009?
T4 2000 § FE I F dem aon -wrtw A wi
T N S Tar|
(a) 7:4 b)y4:7 (c)2:3 d)3:2

. What is the ratio of the number of women work-

ing in the year 2006 to the number of women
working in the year 2010 ?

¥ 2006 9 FH@ il # e, a7, 20109 K
FFRE A F T F A= o fRa o
(@5:17 (b)17:5 (c}17:10 (d}10:17
In which year was the difference bets een the
number of working and non-working women the
highest ?

o § 9 form od f Frda aun w-wrw s W e
% | o= sAfaem a@n?

(@) 2007 (b)2008 (¢} 2009 {d) 2010

In which year or yvears, the difference between

the number of working and non-working women
the lowest ?

fFa o ol o wed| qw R-wEa sikE = den @
S Rl TR AaH ar?
(a} 2006 and 2007
(c) Only 2006

101.

102.

(b) 2007 and 2008
(d) Only 2007




Directiong(103-107): Read the bar graph given be-
low and answer the questions.

{§8C LDC Exam 28.10.2012|

20—}

18-t

|WHEAT

16—

Million tonnes
- —
o
[ |
ICE
RICE
RICE
WHEAT
RICE
EAT
WHEAT

&——— Production in

Y
]
WHEAT
WH
RICE

h

U.P W.B. M.P m Haryana
——States —3»

Which of the above states is least producer of
wheat ?

= & | 30 W T R w2 SR

{a) Mharashtra (b) W.B

(c) M.P {d) Haryana

Which of the above states is the largest producer
of rice ?

e F A IERE T Ta
@UP (BWB  (MP

103,

104.

(d} Haryana
105.
total production of rice by all the above States ? °

zﬁammﬁmwammmmvﬁwﬂﬁﬁmgw

SEEA 1 fopae W ) FE BT
G Ay
1 1 1 B
CFCE RCE SN

106. In which of the above stateS‘iheWal produc-

tion of rice and wheat is the ledgt 7
mmﬁwamﬁzww%ﬂﬂwél
(a) W.B @M P
{c) Maharashtra % , (d) Haryana
Which of the abqwa%t&tes is the largest pro-
ducer of wheat® % ¥
ﬁmwﬁﬂ‘@ﬁmﬁwmmaﬁqm%t
@M.B, % (b) Haryana
(c) Mahafightra (@ UP
Directions(108+111): Study the bar-graph and answer
the following question.
(8SC Assistant Grade I1l Exam 11.11.2012)
Bar-graph showing the wages
of workers in a facrtory

107.

% -f‘_-la)3 7

What fraction of rice is pmducedbyl—laryanaoﬁﬂlei xl'ﬂ The total amount of money (approximately)

Wizard of Maths - Rakesh Yadav Sir

Monthly wages in Rupees

o
]

Mo of Wit

-~ N W e
}
¥

o

§89ngd ok

EEESEEy
§ &8 §$§6E

-

ontly wages in Rupees
108. The total nu}ﬂ_bé_r o{;workers in the factory is
() 42 : *ﬁs {c) 50 {d) 46
109. Thma:gtldeo e number of workers placed in

the 10wQst Wage group to that of the workers in
~ the high€st wage group is

; ?{ﬁnm@mﬁmaﬁaﬁm sifirran g
> HEE ol HHA B FEN W AN T

(b)8:9 (0)3:4 {d)2:3

needed to pay the monthly wages of all the work-

ers is

uet FH=fE = 2 wigs ofe (emam) e 21
(@) T69,100 {b) 271,600

(c) T70,500 (d) T69,500

111. In which wage group, is the amount of meney
needed to pay the monthly wages the highest ?

f5a Tl TgE ¥ @ 9N Al Togh afuwam 2

(a} 1400-1500 (b) 1500-1600

{c) 1700-1800 (d) None of these
Directions{112-116): The piechart given below repre-
sents the number of students using different transport
to a school in which total number of students is 2160,

Answer the questions base on the following diagram.
[SSC FCI Assiatant Grade 111 Exam 07.04.2013)




112,

113.

114.

115,

116,

The number of students who come to school by
car is

FR W A 9 SE H d& A

(a) 70 {b) 290 (c) 420 {d) 480

The ratio of the number of students who come
to school by car to the number of students who
come to school by bus is

FR G A a1 9 99 FU A A IR $1 G °

I S|
(a)21:24 (b)21:27 ()36:27 (d)36:21
The total number of students coming to school
¢ither by walking or by bus is

YTt 1Y 99 T T A I I F R/ SN T
(a) 480 (b) 540 (¢} 1020 (d) 170

The number of students who don’t come to
school by train is

EE G THA 7 AF o S H Wed 9an|

{a) 720 (b) 1020  (c} 2040 (d) 1440
The number of students coming to school by bus
exceeds the number of students coming to
school by walking

9 g A AN A IR B 9E, Y5 o Al @
foFa o wifess #)

(a) 10% (b) 12.5%

©11% (@ 11.5%

Directions{117-119}: In the following questions, the
pie-chart shows the number of students admitted in
different faculties of a college. Study the chart and
answer the questions.

117.

118,

119.

{88C CGL Tier l Exam 21.04.3%13]!-

are mdre in commerce than
in law if 1000 stidew at¥are in science ?

Tk fo oAl 54, 91000 21 A Ferd o A oA
=1 He, W'@iwaﬁﬁ'%l
() 200, él 200 ()500  (d)20

If 1000 s are admitted in science, what
is the ratio™f students in science and arts ?

How many studeri

uﬁﬁmﬁ%&maﬁaﬁaﬁawwooaaﬁﬁmw

T W BE TSN W S TR

{a)6:5 (b)7:5 ()7:6 (d)5:6

If 1000 students are admitted in science, what
is the total number of students?

ofs faam ¥ yaw ¥R 9@ Iwf @t g@w 1000 7, 9 sl
w HA HEA FqR=!
(a) 180  (b) 1800

(c) 3600  (d) 360

Directions(120-122) : In the following questions,
study the two pie-charts and answer the questions.

{S8C CGL Tier] Exam 21.04.2013)
April month’s salary : ¥ 24000

A - Educatio
C- Grocery

%&_” B - Savings

‘t%@:nd Phone Bills

E - =
May h’s sa.lary : T 25000
£ ’ E
F
%‘%& §"§'f, D %43
S % 9%
5 ey ) c B
gé;w 14% 25%
A
50%
120. What is the percent increase in Eduction in May

121.

122,

Wizard of Maths - Rakesh Yadav Sir

month than April month ?

il WIE &t g 5, 7% W § e o R % gig g
(a) 9.56% (b) 12.35% {c) 20% {d) 10.82%
The ratio of amount spent for savings in April
menth’s salary and miscellanecus in May
month’s salary is

e o1 AR § | H T TE9 0 O 0w H A
q fafaw wd # 9 IquE@ T9m@)

(a) 216:25 (b)217:26

{c)205:13 (d) 235: 50

From the salary of May, the amount spent on
Grocery and Electricity are:

WS A8 o aad 9 UEd qen faset W/ feaw g= fam
{a) ¥6250,% 3360 {b) T 960, T 5040
{c) ¥3500,%2250 {d) £2160,7480

849




Directions(123-125): The pie - chart shows the Directions(127-128): Following figure is Pie-chart
expenditure of a country on various sports duringa representing itemwise cost of manufacturing certain
particular year, Study the graph and answer the product. Study the chart and answer the questions.

questions.

123.

124,

125.

126.

{S8C CGL Tier I Exam 19.05.2013)
{88C CGL Tier I Exam 21.04.2013}

Cost of

Cricket Materials
144°

If the total amount spent on cricket and hockey ~127. Total manufactunng cost is, ?96 000. Then cost

together is Z 80,000, the total amount spent on of labouris

sports is @WW?%WD%’I A woRd () W
% fFhe aen STk W HA frerat T 80 To @ fFd T frrm dl n

®, ;ﬁ B W FA TR ETbm 33“000 (a) 230,720 . (b) T 38,400

(a) T 1,00,000 ,00, % 15,000

(c} T 2,50,000 (d) ¥ 3,00,000 o "[1?1)1? ! 1ﬁ52& i " (@R 15, 4 di
How much more percent is spent on Hockey than 8. Theydifferenee of cost of materials and direct
that on Golf ? expenses i

TE W TEE FgAN ° Fha % i @ R T . T Ao T T A R o 2

(@) 27% (b) 35% (c}37.5% (d)75% %,(afr? 26,000 (b) T 10,000

How much per cent less is spent on football than @ £ 26,500 (d) 26,380

that on cricket ? mﬁ%ﬁons (129-132) : The following pie-chart shows

Fee W B d fwlt % w af wd Fi -5; %the marks scored by a student in different subjects

2 1 1 , %fﬁysms(Ph) Chemistry{Ch), Mathematics{M), Social

(a) 22 g% B)27% (c) 33 3% @ 37 % % "Science(SS) and English(E} in an examination,Assurming

Study the Pie- chart and answer the_:g&estgpﬁ that total marks obtained for the examination is 810.
(88C CGL Tier 1 Exant:24:04.2013)  Answer the questions given below.

[S8C CGL Tier I Exam 19.05.2013)

60°

Ph
85°

129. The difference of marks between Physics and
_Chemistry is same as that between

AifaT qen W e ® ofw] o R, e fawal o aew

¥ # T 2
i ?’1000 T A {a) cheriistry and Social Science
T TE-TE % AR R mn #1 sa e = e
?ﬁﬂ@é ;"5; =7 K e {b) Physics and English
(a) 250 crores (b} 150 crores (c) Math.ematics a.nd Eng?ish
{c) 300 crores (d} 200 crores (d} English and Social Science

. Wizard of Maths - Rakesh Yadav Sir [850]



130. The marks obtained in Mathematics and Chem-
istry exceed the marks obtained in Physics and
Social Science by

Tfora den THEA WA ¥ W R T %e i, st aen
afen T B T v A fea et 3

{a) 50 (b) 30 (c) 40 (d}45
131. The subject in which the student obtained 135
marks is
g fawm § 3@ 3 135 5% T fFD
(a) English (b) Physics
(c) Chemistry {d) Mathematics
132. The marks obtained in English, Physics and

Social Science exceed the marks obtained in
Mathematics and chemistry by.

Sish, Sifast 9o wnfee foagm F e wE E5e
i, MR e WA faam ¥ WA g9 o 9 fean
aftrs #

1 1
{a)llg% b)10% (9 105% () 11%

Directions(133): The annual agricultural production
(in tonnes) of an Indian State is given in the pie-
chart. The total production is 9000 tonnes. Read the
pie chart and answer the question.

(ssc CGL Tier I Ezam 29.09.2013)

(m tonnes) SF
133. What is the annual production of whéﬁs'ﬁ

T T aftfF IR B

(a) 2750 tonnes (b} SQQO*%onnes

(c) 3540 tonnes (@ 35%tor§nes
Directions{134-135): Varioug ﬁxp“’endltures
incurred by a publishing company‘for publishing a
book in 2011 are gwergbelcrwﬁ Study the chart and
answer the questions. 1

Wizard of Maths - Rakesh Yadav Sir

134. Price of a book is 20% above cost price. If there
marked price is T 180, then the cost of paper for
a single copy ) is.

T@F F 3ifFa Fua A W qed 8 20% AfHE 31 aR
Hfwa Fma T 180 &, M TF W Fdt & fAu Fe W
ArE I Farl

(a) 44.25 (b)36 €)22.50 (d)42
Royalty of a book is less than the printing cost by
TF F e, o e W fRa % F R

135.

(@) 25% (b} 5% (c) 33%'3{0 (d) 20%

Directions{136-138): Pie-chartsshew the expenses
on various heads show the expehsés of various heads
in construction of a house. Stadﬁ,the pie-chartZ

(SSC CGL Tier Re;Ex.am 21.04.(2013)2014)

1991
= %Mlscellaneous items

Cement

136. What percentage of the total amount is being
spent on cement in 1991 ?

7d 1991 © didz W H@ fead yfem == e @
(a) 18% b) 30% (c) 48% (d)}60%

The percentage increase in the amount spent
on labour from 1991 to 2001, given that the to-
tal amount spent on the construction of the
house is T360000 in 1991 and 864000 in 2001 is;

Azt W & o § w9 1991 ¥ T 360000 dw a4
2001 ¥ F= T 864000 T fF= W@ @, & Fa T
1991@2001ﬁna§ﬂamﬁﬁmﬁ%aﬁaa‘mﬂgé|

137.

1 2 2
(a)3 % (b) 435% () 415% {d)166~3—%

851




138,

If the total cost of constructing the house is ¥
3,60,000 in 1991 and ¥ 8,64,000 in 2001, what
is the amount spent on Steelin 1991 and 2001 ?
7fg v fmfor Y |@1 @@ a4 1991 % T 36,0000 I
T 2001 | @ € 8,64,000 T @ 9@ F9 1991 aw
2001 ® 3o W fFat €1 =4 fFa WP

(a} ¥2,16,000,% 4,32,000

{b) T 60,000, T 84,000

(¢} ¥80,000,%T2,10,000

(d) 50,000, % 1,44,000

Directions(139-143): The pie chart given below rep-
resents the modes of transport for 1400 officers of the
Staff Selection Commission, Kolkata. Study the chart
and answer the following questions.

139,
140,

141.

142,
143.

144.

{SSC CGL Tier I Re- Exam 21.04.2015)

The ratio of two-wheelers and cars being used
as modes of transport is

Wﬁmﬁmammﬁma%ﬁa

AT qAH |
@4:7 (B)7:5 (95:7 (B3:5 %

Write down the difference :(officers: awﬁhmg
train-officers availaing car) '

T q FR W I T a aaﬁmﬁzﬁ Eﬁm L
{a) 210 (b) 462 {c) 552'-?? \..,-ffd} 452

The number of office who gd&tolefﬁee by Metro
Rail is

2 I q 9N Tt afwfq‘t;gﬁ wem T

(a) 142 {b) 132%& @(G,L 112 (d) 122

The number of offgceéits Who go to office by car is

FE H Tem Tl

(¢} 214

cers who go to office by bus
AR T AfiemfaEl w5t gem AR

{'b} 280 (c) 360 {d} 460

(d) 294

(a) 260
The followmg graph represents the maximum
and minimum temperature recorded every day
in a certain week, The day on which the differ-
ence between the maximum and minimum
temperature was maximum is

i <wirEn T I, R ue wae o wiafi (e T o
Ham T AT A A IR 7 9F T A W
s aa frean e & §9 R afuwam R
{S8C MTS Ezam 17.03.2013)
¢ Maximum temperature
oMinimum temperature

45
}\400 )'
L /
21359
<
E 25 ... _ - A, )—-q>
T Y
Sup M, Tu WTh F Sa
% % . Days
(a) Wednesday 4 (b) Saturday
{c) Sunday : (d} Monday

Directioﬁi45uj.46] ¢ The graph given below shows
the daily incotge of 50 workers in a factory. Study the
gragh a.nd answer the the questions.

145,

146.

— Wizard of Maths - Rakesh Yadav Sir

(SEC MTS Exam 17.03.2013)

14i0 15':0 1('20 17:0 lém 19:0 2(';0 X>
Daily income [in T —>

What percentage of the factory workers earn
between T 150and T 1807

foFe % FHarl ¥ 150 91 T 180 % = ®AR #)
(a) 6% (0)16%  (c) 12% (d) 20%
The median wages in the factory is

HEr W qedt w1 siga e e 2

(a) 140 (b) 138

(c} T 150 (d) 160

ol 120 130




Directions{147-148): Study the following graph and
answer the questions.

(S8C CGL Tier | Exam 21.04.2013)

150.

(a) 180 (b) 200
(c) 250 {d) 150
Given is a line graph showing the number of ac-

Company Profile cidents in a city during the first 6 months of 1999,
.60 — {2000-2005) i ™ A W H T, 1999 % E 6 TR @ &
TER=] 1 avi v %)
_5 1.75 — {8SC CGL Tier Il Exam 29.09.2013}
E 150 —
s 125 —
g 10— !
g 5
=075 — T
5 :
050 — .g
0.25 — 2
2000 2001 2002 _ 2003 2004 2005
Year ——3p
147. Find the percentage decrease in income from
2001 to 2002.
2001 ¥ 2002 7% 3% ¥ fFa % St s :
(a) 50% (b) 33% Theekrde
() 25% (d) Data inadequate E Q
148. If the income show positive growth every year ; 5
throughouut the period(2000-2005), then in how g% 15—cy0 (b) 15~% fc) 15— % {d) 15 %
h * g
gﬁ";{hﬁe“ the expnditure shows a positive ons(151 152): Study the followmg graph and
R (2000-2005) % 91 Y&k o, T0A% 5 ,,{?‘S“’er the questions.
e et ¥ @ s o ot W s e i Al Y b0
(a) 5 b)3 (c} 4 a2 . ”@w ' ¢ Company X
149. The adjoining diagram is frequency pol; gofi Yors 20 -@ Company ¥
the scores of students in a test what j€ #pe tol;ﬁ
number of students appeared in the fgst 1.75
) el T T e e § T T oW =R £ s
Hﬁﬁmwilmv&mﬁmﬁmﬁﬁmﬂmﬁm@ £
(ssc £l 21.04.2013) g 1.25
Y c%_% £,
G E g 1.0
40 = 3
50.75
2
T g 05 t—
E 025 -
H] < . . .
a ¥ 2005 2006 2007 2008 2009 2010
: Year ——3p
3
r 151. If the imports of company X in 2007 were in-
= creased by 40% what would be the ratio of ex-
ports to the increased imports ?
57 g FHR X T 2007 ¥ S 40% 9 I 2, @
T3 s & 58 58 8 5 fref 71 %2 T T § g wo
Y 8 gE &R TR @1.25 (175 (025 (d0.75

-Wizard of Maths - Rakesh Yadav Sir




152.

In 2005, the exports of company X were double
that of company Y in that year. If the imports of
company X during the year were ¥ 180 crores,
what was the amount(in crore ¥} of imports of
company Y during the year ?

of 2005 ¥ HEE X = Pl st YO g Ak

ad F FA X F AW T 180 FUT o, A 9O 39 A
FOE Y F1 AW fRaA an (T wAE)

(@212 (0210  {(¢)315 (d) 282

Directions{153-154): The bar diagram below shows
the production of potatoes (in quintals) from the year
2000 to 2006. Study the diagram and answer the fol-
lowing questions.

1800
1600
- 1400
g 1200
&
_§ 1000
800
= 600
400
200
0 20002001 2002 2003 20042005 2006
Year
153. Considering the average production during this
period, the number of years in which the-.
production is above average is :
T ol = SerH, mﬁaq’i%ai’maaﬂmﬁﬂf%%
(@)l (b) 2 ()3 (d):
154. Dunng this period, the highest rate oﬁ@eclme
in production is;
0wy o S § fee % gattyw ?)
{(a) 24.4% (b)28.22% (o) 33.64% (d) 35.32%
155. The following bar graph show the marks obtained

{S8C MTS Exam 10.03.2013)

Production of Potatoes(in quintals)
from 2000-2006

by a student in an examination. What is the
average marks obtained by the student ?

e T AR-TTE U BT g 90aT ° W R W e
i zvifar 81 B % ima ¥ Far

{88C CGL Tierl Exam 21.04.2013}

Eng Hindi Math Sst 3cience
Subject

Production 'arﬁ&d grain

156,

157.

[ - T - T

[=]

(a} 55 (b} 56 (c} 57 (d} 58

Study the bar graph carefully and answer the
following question.Which type of family is the
most common ?

TR TG F1 HAYEE AT Fifed 741 (75 997 F I
3 Pl TS TuRm 2

(8SC CGL Tierl Exam 21.04.2013)

g 40
Ei
& 30
]
T 20
fla
E
z 107 :
0....: - ;
2 3 4 5
F'sa_mﬂy‘inember
(a) 2 members . {b) 3 members
(c}) 4 members *, ' {d) 5 members

Study the fdﬂoﬁvlﬁg bar graph showing the
productlon of foodgrains (in million tons}.
What is the, rdtio between the maximum
productmn and the minimum production
during the given period ?

3 T AR M § W § Iee H g9 T 3w

wﬁuﬁﬁwamwaﬂmmwmﬁl

Y {SSC COL Tier 1 Exam 21.04.2013)

=

o

2008 2009

2006

2007

2003
Year
b)2:3 d)5:2

(a)1:2 (c)3:4

Directions{158-159): The bar graph shows the marks
obtained by a student in an examination out of 100
marks in each subject. Study the graph and answer
the questions.

Wizard of Maths — Rakesh Yadav Sir

(SSC DEO Exam 20,10.2013)

100
90 —
80
70 -
g 60
Y 50
= 40
30 —
20 —

10 —
o

Maths
Hindi

Geography

History
English

Subjects




158. The ratio of the marks of Maths and History is
o T 3RER F o 1 oTuE A

(a)6:5 {(b)8:5 ©3:4 id)4:3
159. The average marks of Hindi and English is

fe=t e oSt o wra stima o =@

{a) 65 {b) S0 {c) 55 (d) 60

Directions{160-164): The subdivided bar diagram
given below depicts H.S. student of a school over three
years. Study the diagram and answer the questions.

[S8C CGL Tier 1 Exam 19.05.2013)
Il 21 Division
[I]I]I]I]]m 3rd Division

Fail

| ] 1st Division

Number of students
—_ — [~
o w =
& & b=t

4]
=)

0 2008 2009 2010
Year——»
160. The percentage passed in 1st division in 2008
was
T4 2008 ¥ Yo vt § Sl €1 At S 1 e Jar |
3 13
(a) 27% {b} 32% {0 15 3 % (d) llﬁ%
161. The pass percentage in 2008 was
¥ 2008 ¥ sl % =@r
5 6. -
(a} 67% (b} 73% {0) 795 Y% (d) 82 -1—?%

162. In which year the school had the best:__rqs_ult for

H.S. inrespect of percentage of pass candidates?

maﬁﬂmsﬁﬁmﬁs%ﬁws EEES TR

a3 ftom e #

(a) 2008  (b)2009 (¢} 2010:.

(d) The percentage of pass canchdatés are same
for the three years. -

The number of students passed with 3rd divi-

sion in the year 2008 was

74 2008 ¥ gdtg soft o 3ol el W % @R

(a) 50 (b)y60 {c) 70 {d) 80

The perceritage of the students passed with 2nd
division in: th,e year 2010 was

'clﬁ2010'ffﬁ:ﬂ°|ﬂ Foit o Tt ¥ At ol w06 Foea B
(@) 30% .. (b) 40% {c) 50% (d) 60%
Directions(366-369): The sub divided bar diagram
given below depicts the result of class XII students of
a school for three years. Study the diagram and an-
swer the questions given below :

{S8C CGL Tier 1 Re- Exam (2013)20.07.2014)

163.

164,

Wizard of Maths — Rakesh Yadav Sir

160—
150 —
140—-
130
120—
110—
100
Q0—r
80—
70—t
60—
50—
40—
30—
20—
10—

Second Class

Third Class
First Class

Number of students

2000 2001 2_002

Years .
The percentage of students passed w1th Second

class in the yearBOOﬁ is
a&zoooﬁ’@%ﬂﬂ FUit 3 TEi] ¥R a1 o W% AR

1
@ 331 % () 32—% (c) 30—% (d)SIZ%

The perc_entage of students passed with first
class in the year 2001 is
¥ 2001 vom #oft § I, B &1 gfavm TR
([@50%  (b)45% {c) 60% {d) 65%
167. The number of students passed with Third class
. in the year 2002 is
w2002 7 g@ goit § fee o sl g@h
(a) 130 (b} 10 {c) 140 {d) 20
The number of students passed with Second
class in the year 2002 is
T4 20027 feda doft § <ol S A gEn ™
(a} 80 (b} 130 {c} SO (d) 100
Directions(169-171): The production figures of a per-
fume manufacturer are given in the form of percent-
age in sub-divided bar diagram. Study the diagram
and answer the questions.
(S8SC CGL Tier I Re-Exam({2013) 20.07.2014)

165.

166.

Percentage




169.

170.

171.

What is the ratio of percentage production of
rose perfume during 1995 to that during the
year 1997 ?

4, 19959 & WHH % 7 1997 ¥ T WHNH %
% 9 s feam 2

{a)4: 3 B)3:2 ©2:3 d)S:4
What is the percentage of production of sandal
pefume during the year 1995 over that during
1997 ?

T 1995 ¥ 9= WEW #1 YavE, ad 1997 ¥ ===
WHRA % & 4 S e &

{a) 100 (b) 1 (c)O (d} 50

What is the production of jasmine perfume in
the year 1997 ? Given that during the year 1997
total perfumed production was 5000 units,

Afx 5, 1997 9 T Ty F FA IR 5000 T
& =, 1997 W e wew 9 e wfiwa

(a) 1200  (b)2500  (c) 2000 (d) 1500

Directions(172-176): A health drink company pre-
pares the drink of three different flavours P,Q,R, The
production of three flavours over a period of six years
has been expressed on bar graph provided below. Study
the graph and answer the questions.

- Lakh hottles

A i

(Production of 3 different flavours of health

drinks of a company in 6 years(in Lakh bottles)
(SSC CGL Tier I Exam 21.04.2013)
(SSC CAPF's 81 Exam 33.06,2013)

[lo R

60 60

60 60

172.

H?—— Years ——>»
In which 6fthe following years the percentage
of rise orfall in production from the previous
year is maximum for the flavour of Q ?

R Q# ot fa 7 4 fpw ad o fiost af =t gen &
AfFaT % HT M TG Eh

{(a) 2007 (H)2009 ()2010  (d) 2006

173,

174.

175,

176,

The percentage of the total production of flavour
R in 2007 and 2008 with respect to the produc-
tion of flavour P in 2005 and 2006 is

‘@R R' 1 34 2007 720 2008 ° @ 39ET ‘@R P’
1 79 2005 T 2006 T TURA 1 5T % B

(a) 102.25% (b) 115.35%

{c} 133.33% (d097.67%

The average annual production of which flavour
was maximum in the given period ?
3 ™ wr=a ¥ 5 Cwr w siha afiE Sed

AfgFHan o
(a) Pand Q both (b) Q Only
(c) Pand R both (d) P Ohly
What was the approximsdte decline in the pro-
duction of flavour R in m}&@scompared to the
productlon of 2008 in percentage ?

‘= R’ %1 w9 2010ﬁwaﬁ23’08aﬁwﬁ1ﬁm#
I § g :
(2)43.33% 4 . 5 (b)33.33%

(©)30.33% &% % .7 (d)53.33%

What is the%d ___erence between the average

productic pRavour Q in 2008,2009 and 2010

t avour P in 2005, 2006 and 2007

[m laﬁh bﬁtles} ?

‘@R Q' #2008, 2009 AN 2010 T FA @

‘ﬂmaen @R P’ & a4 2005, 2006 9 2007 ¥ FA

s
-
T,

-~ B T W AT R 31 (e §)

W‘ia) 50

(b) 0.5 (¢) 5.5 )5

h;éctions{ 177-178): In the following questions, a
phical representation of income and expenditure

- Wizard of Maths - Rakesh Yadav Sir

"“bf 5 persons during the month of January has been
given. Read the graph and answer the questions.

|8SC Constable(GD) Exam 12.05.2013}

ncome D Expenditure

9 8.75
[]
N
T 8 R
=
7.25 N
e’ S S
< N N16.25
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o K335 N S 3.5
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-] [ (]
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'THRIN S
NN S _
1st 2nd 3rd 4th 5th

Number of Persong —»




177. What is the average income of five persons per

month ?

o= el Wt oitea WS am =ar)
(@) I 5775 (b) T 6000
(c)T6150 (d) T 6250

178, What is the income range of the persons ?

st &t sma I fhat 2

(a) 4.25-8.75 (b) 5.5-8.75

(c) 4.25-7.25 (d) 5-8.75
Directions{179-181): The following bar diagram
shows the percentage of Hindus, Sikhs and Mus-
lims in a state during the years from 2004 to
2007. Examine the bar diagram and answer the
following question.

{8SC CGL Tier 1 Exam 19.05.2013)

;g 1 Hindus ] Sikhs  [] Muslims
'
g
[
/3]
5
%
.
%
% ,,,,,,,,,,,,
1S - S - - S
Year —» Ry
179. The ratio between the Hindu and Sikh poplﬂa-‘
tion in 2004 was sty .
ad 2004 # 5= a1 foa@ AT & i %m’n
@3:5 MmM1:2 (©92:3
180. Ifthe total population of the state in 2004 was 5
lakhs. then the Hindus, an_g«i\/lng}ms popula-
tion in that year was G
A & 2004 H ¥R F FHA T %meﬁ ™ I
T4 feg dem aﬁaﬂ e g fErT o
{a) 200000 W27 5000
{c) 250000 (' 225000
181. If the total popu oFthe state in 2005 was 5
million, the mdu population was
{1 million § ﬁ,p
ik o 2004% et 1 SrwE 5 fafe o @ fegel
#l SEEgrERaR o (1 fafemm = 10,00,000)
(a) 20000Q0 (b) 1250000
{c} 1500000 (d) 1750000

Directions{182-184): Shown below is the multiple bar
diagram depicting the changes in the roll strength of
a college in four faculties from 2001-02 to 2003-04.

{B8C Graduate level Tier I Exam 19.05.2013)

# -
‘m—*’
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600 +

550 r
& 500
=
L
°
2
0 400 +
Gt
o
1
’E 250 1
= 4
2 200

150 +

2001-02 2002—03 . 2003-04
@z Arts -‘Commerce
(] Science . .Law
Study the above bar dlagra.m and answer the
questions.

182. The percentage of $tudents in Science faculty

in 2001-2002 i§,_
fasm w@rrq ’Q«Eﬁg 2001-2002 T B F % T
(a) 3&&% - dB)26.9% () 27.8%  (d)29.6%

183. The percentage of students in Law faculty in
& 2@03 -04 is

gsf‘%goos-zooaf o fafy & s w1 % T@rA
#14.8% (b)185% () 15.6% (d) 16.7%

ercentage of increase in Science students in
2003-04 over 2001-02 is

T4 2003-04 ¥ 74 2001-02 * YFEA fouH THa o
gl % dem ¥ fFa % #1133 @

184
‘> .

2
@75% B)50%  (©150% (@) 665 %

Directions(185-186): Study the following graph and
answer the given questions
{88C CHSL DEO & LDC Exam 27.10.2013)
[[] Amountiin lakhs) invested in raw materials

Il Value(Tin lakhs) of sales of finished goods
)
3

[f=)
600 . n
2 & 3
Tsoo-- - o
= o
(T3]
5400—- & o
[yl
2 3001
€
2004
1004 m
1995 1096 1997 1998 1999 2000
Year =
857




185. In which year, there has been a maximum per-
centage increase in the amount invested in raw
materials as compared to the previous year ?

1 o 9 frg o o fage ad %1 qo 9 F=5 7 R 6
T i o i 3tE

(@ 1996 (b) 1997  (c) 1998  (d) 1999
What was the difference between the average
amount invested in raw materials during the
given period and the average value of sales of
finished goods during this period ?

i T quEe ¥, F A W fEm sl few
a1 e qeq Y oiwa ot Fma o o sadi
(a}) ¥ 62.5 lakhs (b) T 68.5 lakhs

(¢} ¥ 71.5 lakhs (d) T 77.5lakhs

186.

Directions(187-188): Student’s strength of a college
in Arts, Science and Commerce from 2004-05 to
2007-08 sessions are shown in the following bar
graph. Study the graph and answer the questions.

|$3C CHSL DEO & LDC Exam 10.11.2013}
=]
o
-

Number of Students

T T T sso

o
L
P

05 2005-06 2006-07 200
Years —>» :

) Arts mCmmerce

[ Science :

The ratio of average number o?@Mdents in Arts to
the average number of students in commerce is
mwﬁmﬁaﬁaﬂmwmaﬁmwﬁw
F1 sl dem F ST A

(a)12:5 (b) 10%7%1 f) 7:4 (d)48:35
The % increagey mwSmence students in 2007-
08 over 2006-07 was

af 20(@—0‘?"”9%6 2007-08 § fam @ B F 5w
i % i |

(a) 10. 1%“}-- b)11.1% () 16.7% (d) 18.2%
Directions|{189-190): The following Bar Diagram de-
picts figures for some agricultural imports from Janu-

ary-May, 2008. Answer (as closely as possible) the
guestions using the date provided here

[S5C MTS Exam 24.03.2013)

187.

188.

Wizard of Maths - Rakesh Yadav Sir

Agricultural Imports-January to May

40 —
38
36
b=
g 34
[=]
g 32
@ 30
Q
£ 28
26 h =
24 Jan Feb  March 3
! m Cast per Ton
‘ Rice?75 |over 5 months period
Wheat 7156 ¥
Potato 212@

189. What is the average:gost of potato import in
February and Maréh. ?
Wawwﬁ_tﬂz#mﬁaﬂ@ﬂaﬁaﬁmmml
(a) 3,960 | = (b} 5,960
{c) € 1,280 {d) ¥ 4,440

What was. tHe total cost (in ¥ ) of wheat import
mMarch?qﬁ%ﬁmﬁiﬂﬁwaﬁﬂﬁaaﬁl
(a) T3,212 (b) 5,616
633 7,042 (d) ¥2,224
Direc%,iohs[lQl -194): The graph shows the result of

190.

(85C CGL Tier I Re-Exam (2013) 27.04.2014)

Studer

2000 2001 2002 2003
Years
u il class pass M class pass WI class pass
858




191.

192.

193.

194,

The number of students appeared for the 10th
class exam in the year 2002 is

T 2002 # Faw X e W sifeeran v i 89
IR B G T

{a) 180 {b) 195 (c) 200 (d 120

The percentage increase of first class in the
year 2003 over the year 2002 is approximately

2002 F @ §, 79, 2003 ¥ yuw 4vi § T@ BN

et o & g ¥ yfava gig sard|
(&) 12% (b) 0% {c) 10% (d) 9%
The year in which the maximum number of stu-

dents appeared for the 10th class exam is
=1 % frm T 9 wan X T 4 Afyswae 96 wika gal
(@) 2001 (H)2002 () 2003 (d) 2000

The ratio of students who scored second class to
the total students appeared in the year 2000 is

g 2000 ¥, i goit 9 39l g3 ol %t gen =, 17
e S # §E ¥ H9E T

(@3:16 (0)4:17 {()5:16 (d)11:16

Directions(195-196): The Histogram shown the
marks of 50 students in an exmaination. Examine
the diagram and answer the questions. [Marks are
given in integers only].

195.

196.

Y

A
124

—
—
L
I

10

Number of students
o
1
I

AL N
2030405&&7 090100
Mar ed ——>
4 tl.i?}ms obtained more than 39 but
3P4 S, W 60 ¥ U 3F WA R
. (b) 6 (c) 10 (d) 12

What perent of students did obtain marks
above 60 ?

fF % 3 A 60 8 afys o o fRA)
@60% (D)80%  ()70%  (d)75%

How man
below

frm

Directions({197-200): Study the following Histogram
and answer the following questions.

197.

198.

199,

A
)

200,

5 (ERA0-50

{SSC CGL Tier ] Exam 21.04.2013)

10—

7z

T N AT O W ¢

No, of Students

// ]

N

LU

RN

O
[yu
o
wh
o

Marks‘——)
The total number of 'students involved in the

data is : @ BEI & SEm TN

ta} 33 ()32 %, (c)43 (d} 42

The maximusy Rumber of students got the
marks in the ingerval of

(@) ¥0-20% [B)20-30 () 30-40  (d) 40-50
The le%b__; riimber of students got the marks in
the intefval: T8 &t # =Faw B 4 7% wra 7
: (b} 20-30 () 10-20 (d)0-10

& ratio of the students obtaining marks in

IF y Tie i 1
. waflte first and the last interval is

- JUR qe Afaw o/, 7w 9@ FwH TqA DA HT

AU FaR |

@5:4 (bj6:5 (c}4:5 d3:4

* Directions{201-204): Siudy the graph carefully and

answer the questions,

Wizard of Maths - Rakesh Yadav Sir

{83C CGL Tier ] Exam 19,05,2013}
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201.

202,

203,

204.

The graph shows production of an item (in
tonnes) during certain years

The production in 2006-07 in comparison to the
production in 2002-03 increase by

T 2002-03 I g W 3 2006 07 A I9=A § FE
% ! JE T

{a) 150% () 110% (c) 120%  (d} 125%
The production decreased from 2004-05 to
2005-06 by

a8 2004-05 % 2005-06 T IR | fhad % #i
FH g

1 1 1 1
(@ 115% @) 8g5% (c} 95 % (@) 105 %

The year in which production increased the
lowest as compared to the previous year is

e o o o frw ad & sea § =Eem gfg 2
(a) 2007-08 (b) 2003-04

(c) 2004-05 (d) 2006-07

The production from 2003- 04 to 2007-08
increased by

o1 2003-04 ¥ 3¢ 2007-08 T I H % g T8
(@ 125% (B)50% (©75%  (d) 100%

Directions(205): Study the histogram of weight dis-
tribution of different men and answer question based

on it.

205,

[A\]
o]

[ =0 N

j=
& O
2,

-
o

{Number of men)
o

o
[=]

5

035 96 %w 115 125 135 145
eight in kg)

Average n &gﬂof men per interval who par-

tlmpa%%ﬁ suvey is
wE o wiitg W At =t 3 sitga gen T
(2)200 Y (0)180 (214  (d)194

Directions{206-208): Following histogram depicts the
range of heights of students in a class of 60 students.
Study the same and answer the questions.

[88C CGL Téer Il Re-Exam 29.09.2013)

[~
AN
1

2

- b2 b b2
rew s

d
T
LI I I B Nl |

t3

uaen

7 144
g 124

2 [ —
100 1i0 120130140 150,160 l'ﬁglﬁO 190
Height in centi%

",

206. The number of students having height more
than 150 cms is =

150 cm @ 31f hﬁmﬁ@ﬁ’faﬁmaﬂw
(a) 25 (l;z} " ()38 (d) 25

207. The numbeg S6tudents with their he1ghts be-
tween 130 @150 cms is

130cm1% 150 ¥t # dra S o o 31 Few
. S
@} ‘8 (b} 6 {c) 14 (d)22

2(&, Group which contains maximum number of stu-

-

7Y ..dents is

v e A A F o % wew afve §)

(a) 130-140 (b) 150-160

(c) 140-150 (d) 160-170
Directions{209): The table given below shows
production of five types of cars by a company from the
year 1998 to 2003. Study the table and answer the
question. (8SC CGL Tier 1 Exam 21,04.2013)

[~ Years| 1998] 1999] 2000] 2001] 2002] 2003 [Tota]

Tt 5~
P 10 |18 16 5 i1 18 88
O T 0 BT B BT B R
R 1
3 S % 12 114 120 T3] 98_
T 26 |18 |24 [20 [23 [21 [132]
Total 71 {76 79 74 80 96 |476

209. In which year the production of cars of ail types
taken together was approximately equal to the
average of the total production during the
period;

o ol 4 wedt FRI 1 F S 3w o F shag e
F TN W R

(@) 1999  (B)2000 ()2002  (d) 1998

Wizard of Maths - Rakesh Yadav Sir



Directions{210-211): The following table gives the re-
sult of a survey based on newspaper reading habits.
Study the table and answer the questions.

(S8C GD Exam 13.08.2013)

ncome Does Read Read both
Group not read only f i
(Sa.la.ry/ news- llS hed English
ggome papers Pn regionall
month) on gu ages

35,000 162 271 123 52

5,000210,000 13 285 206 82

Above T 100001 21 [ 209 325 | 187

210. The number of people who read only english

newspaper.
HAe TS FEEAR TR Al H dEm qad
(a) 975 (b} 654 (c) 1086  (d)221
211. The total number of people surveyed are
HA forad W % e R -
(a)2040 (b} 1086  (c) 12961 (d) 1936

Directions(212-215): The following table shows the
production of food grains(in million tons) in a state
for the period 1999-2000 to 2003-04, read the table
and answer the questions.

{SSC CAPF's SI & CISF ASI Exam 29.09.2013)

Production
(in million tons)
Rice| Barley| other

cereals
270 250
420] 440
350 320

Wheat

680
800
680

Year

1999-2000
2000-2001
2001-2002
2002-2003] 720 | 400| 380
00320041 890 | Senl 410 | &G
In 2002-2003, the percentage 1ncrea“&e""the
production of barley as compared to thvtprew-
oUs year was !
4 2002-2003 ¥, mﬁaﬁqﬁmﬁwﬁﬁmﬁﬂ
fora % st galt:- % P
(@) 14.20% (b} 17.85% (¢) 18.75% (d) 7.90%
During the period 1999-20Q0 to 2003-2004, x per
cent of the total produection is production of
wheat. The valuepf% is-about :
1999-2000 ¥ 9% 2603-2004 B RA T 1 T,
A I hﬁ‘k % 2
(a) 12.6 (b{S‘? 4 {c)37.6 (d) 20.2
In the yea:r 2003-2004, the increase in produc-
tion was maximum over the previous year for :

g 2003-2004 ¥ fFa 3= ¥ IAEA, frsa a4, #t

300

212,

213.

214.

o § Taifus w@1 2
(a} Rice (b) Barley
(¢} Other cereals (d) Wheat

450 . . ':; :

Wizard of Maths - Rakesh Yadav Sir

215. The difference of aveage production of rice and
the average production of barley over the years is {in
million tonnes}:

A # A I T S B I I B A=W
# fpa o 2
(a) 50 (bj 60 {c) 80 {d) 40
Directions{216-217): Study the following table and an-
swer the questions,
(SSC CHSL DEO & LDC Exam 27.10.2013)

Years| Percentage of Candidates Qualified
Under discipli
ArtdSciencdCommerce] Zri
2006]24 |40 19
2007115 |42 18

2008120 145 20

200015 [45 |16

201019 |35 |is 19 900

2011018 [a2 |4 w14 850

216. The decreasgin g number of candidates quali-
fied underAf& scipline from 2010 to 2011 was
ot 2010 9 241 ¥, % %o wE ¥ T €N A o
s ek e S
(a) Ta,, *:.;ﬁ) 18 (42  (d)69

217. The d1&rence in the average number of

qqndldates qualified in Science discipline per
eyr from 2006 to 2008 and the average
amber of candidats qualified in the same
ﬂlsmphne from 2009 to 2011 was

79 20069 2008 % HF TYF ¥ TSF T T T A
I ® 3fee dem, e T o 76 2009-11 9 T 2R
IR BE I g ® o SR 99|

(a) 47 {b) 57 {c) 74 (d) 141
Directions(218-219): Study the table and answer the

questions. (SSC CHSL DEO & LDC Exam 10.13.2013)

Height (in em) Number of Girls

Less than 140 4

Less than 145 11

Less than 150 29

Less than 155 40

Less than 160 46

Less than 165 51

218. The number of girls whose height is above 150

cm is
150 Tt § arfues o arelt wgfRal 1 Tem s
() 22 (b) 29 (c) 86 (d) 97

219, Average height(in cm) of the girls whose heights

are 155 cm and above is about

155 &t W i o ol asfeal # sime e
TR

(a) 158.7 (b)159.8

(c) 160.4 (d) 162.6




Directions(220-221): The table shows the percent- 224, How much does he save per month ?
age of toal population of a city in different age groups IqFT WifEEF T99 T

. 8tudy the table and answer the questions.

(a) T 7,200 (b) T 14,440 (c)T 3840 (d) ¥ 2,400

$8C CGL Tier [ Exam 11.05.2013
( " ) 225, How much does he spend more on rent than on

_3%5.’;’;9 f’e;ge&t transport and education taken together ?
% 25 {32%2 % R T g o e Y gern ® fee atfus wd
6-35 .

36-45 1852 w0 2

36-59 1398 (a) T 2,400 (b) T 9,600 {c)Z 4,800 (d) T 12,000

66 and above 1.25 | 226. The following pie-chart shows the monthly ex-

220. If there are 22 million people below 36 years, - penditure of a family on food, clothing, rent,

then the number of people (in millions) in the miscellaneous expenses and savings. What is
age group (56-65} is the central angle for savings 7
7% 36 99 =i g ¥ wH «rl it wem 22 fafemm |, @ i T wE-ar | ww*mwﬂmmm
(56-65) 1, § A FY T Far| Ten fafay == @:wnm%w%ammww

221.

Directions(222-225): The adjoining pie-chart shows
the proportional expenditure on various items of

(&) 5 (b) 5.5 {©3 {d) 3.5 0 fofam 21 ®6C CGE Tier 1 Exam 26.10.2014)
If the difference between the number of people e

in the age groups{46-55) and {16-23) is 0.973
million, then the total population{in millions)
of the city is

g 31 T (46-55) AN 3G T (16-25) F AN i W&
o =R 0.975 O &, d@ T I F| drEE )
(a) 27 {b) 30 (c) 22 (d) 25

Amar’s family. If monthly income of Amar is ¥ (a) 54° (b} 56° () 50° (d) 52°

48,000,answer the questions. 22'& +The pie-chart gives the expenditure (in percent-
[SSC OGL Tier 1 Exam 27.04.2014) © ,age) on various items and savings of a family
. ¢ during a month, Monthly savings of the family
Sad is ¥ 3,000. On which item is the expenditures
- maximum and how much is it ?
Misc Rent fom T TE-=r U IRER g fafwT w W e
30% 25% @, a9 TRAR 1 TF I # T9a H @00 T e A
¥ wifr T=d 3,000 & @ fRa 73 W fF R Ed Afam
Savings Traps;:}ort ¥ R fRam B (SSC COL Tier I Exam 26.10.2014)
_ 5%
8% / ¥ \Food
R 17%
<7 15%

222,

~ spent on food ?

223.

Had his income be 4 40 DUO how much would be

AR T 3@ T 40 T ER, N FAH Wiow W) fem T
T e g

(@) T 14;960 )T 1,360 () 28,180 (d) % 6,800
If 10% of miscellaneous expenditure is earned
marked for clothing how much amout is spent (a} Others, ¥ 2,000 (b) Food, ¥ 3,000

on clothes ? {c} Others, T 5,000 (d) Food, ¥ 5,000

o fafay @i ¥ ¥ 10% F961 R @4 & KT A, §  Directions(228-231): Study the pie-chart and table
F9g W fovad T @9 ) given below and answer the questions.

(@) T 14,400 (b} T 1,440 ()T 2,880 (d) T 15,840 . (SBCCAPF's 1 & CISF DP Exam 22.06.2014)
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Details of percentage of employees working in vari-
ous departments in an organization and number of
males among them.

Total number of employees =800,

Department
Production
HR
IT

Marketing
Accounts

o. of Males

245
12
74

165
93

228. The respective ratio between the number of fe-

males working in HR department to the total
number of employees working in the HR depart-
ment is _

HR fawm § s & afeanst s HR favm § SR a8
Fie #1 g 2 S an

@7:10 (b)8:17 (¢)8:19 (d)5:17
The percentage of the number of male employ-
ees working in Marketing department to the

total number of employees in Marketing depaxt-
ment is

qEbfen foramm & @m0 A SR W u, ‘iﬁzy
favm N wriw Fo wHE 5 e w R e

() 84% b)86%  (c)88% (d“‘a,l%
The percentage of females workingin IT aepa.rt-

ment to the total number ofm]ﬂa@:es working
in the orgainzation is - “‘

1T faam ® wrdw afeenst aﬁ
weA & R % & o 7
(a) 10.25% (b)1 ¢} 15.25% (d) 15.75%

The ratio of numpe es in marketing de-
partment to th%%1 1 of females working in

that dep
AT fa$ a’im
TR %@s

{a) 52: 7 L)52:9 (c}55:7 (d)55:9
Directions(232'-235] The marks obtained by 273 ex-
aminees are shown by the frequency polygon. Given
that mean marks is 59.5. Study the frequencey poly-
gon and answer the given questions.

{8SC CHSL DEO & LDC Exam 16.11.2014)

229,

230.
el et 7

231,

TEsl g Sidl F e ¥ aTgue

Wizard of Maths — Rakesh Yadav Sir

Frequency of Marks obtained

80 1
72
- AR
50
: A
[ F]
i X \
530 e
% e
N
20
14/ \
10 /’ 3 A
0'2/4 F "%ﬂ__%
S 8§88 38 g"™RY R 8
o — — -—Ii — — .‘%: ] ] [}

Marq rh.nge

232. The number of | ees getting more than
average marks is 3’
ﬁmﬁuﬂaﬁtﬁﬁ%&ﬁmm@mmmﬁm
(@) 72, & QIYO5 (0152 (d) 164
Perccqtage bfﬁie students who get above 80%
sty

i WA FT A o vl fEan 2

(b) 10.53 (c)11.28 (d)11.72
¥centage of the students who got marks above
% and below 80% is
% A e, TFs] 80% W FH FF W F ar B

233.

{12y dem % A

o (a) 43.95 (b)48.39 (c}51.06 (d)56.84
w35, 1f40 is the pass marks, percentage of students
failed is
3z Il 3iF 40 2, @ FAO FEa % BT B @
(a) 14.56 ) 1584 (¢ 16.11 (d)17.25
Directions(236-238): The distribution of fruit con-
sumption in a sample of 72 girls is given in the graph
below. Study the graph and answer the questions.
(88C CGL Tier I Exam 26.10.2014)

16
15
N N
TN
2N N
PN ENS
T 84 §§§§ <
£ - NN
NISEINISES
LNSNENNSY
3 N \‘Q N § \ =ERE=EREE
0 NS ? % 4 5 :?:
0 éervings of fruits per day




236. How many of these girls ate fewer of than two
fruits servings per day ?

e gl 7 T T A WY R 2wl 9 F9 B
@ 2

(a) 15 (b} 40 (c)25 (d) None of these
What percent of these girls ate six or more fruits
servings per day ?

wF fa d 8: m rius wa =R o el = gkem
T

(@ 12.5% (b)13% (c) 10% d11%
How many of these girls ate fruits more than
two servings but less than six servings per day?
forerit wrefaral Sfafe 2§ ifirs ffeg 69 9 % TR 21
(a) 26 {b) 18 (c) 23 (d} 38
Directions(239-243): The bar-graph given beiow
shows the percentage distribution of total expendi-
tures of a company under various expenses heads
during 2013. Study the graph and answer the given
questions.

237.

238,

(88SC CHSL DEQ Exam 16.11.2014)

241. If the expenditure on advertisement is ¥ 2.10
crores, then the difference between the
expenditues on transport and taxes is

7fz fame W @9 € 2.10 FUE ¥ 0 IO I a9
F W Ed i R B

(a) ¥ 25 lakhs (b} T 35 lakhs

(c} T 65 lakhs (d) T 95 lakhs

If the total amount of expenditure of the com-
pany is N times the expenditure on reaserach
and development, then the value of N is

o FerE T e T T, fad e sgewe w R W
aa‘amNTna’l?ﬁamﬁNaﬂmwéu

(a) 5 (b) 18 (£)20° {d) 27

If the interest on loans amounts to T 2.45 crores,
then the total amount of expemyliture on advertise-
ment, taxes and research aq,d”developments is
o Fol W =S 3 AT 245 Hg A, D v e, F
e * SE wﬁmwmwm@éﬁhﬁm%l
(a)¥2.4 crores P (b) T 4.2 crores

{c) T 5.4 crores, (d) T 7 crores
l:)irectii:nm;(244--2!-‘7)‘!F The subdivided bar diagram

242,

243.

2 SJ- given below depl&taﬁ‘he result of B.com students of a
college for 3 yeaps. Study the graph and answer the-
1 20 20 given questions.
20 17.5
15 : {88C CHSL DEO Exam 16.11.2014)
151+
@ 12.5 _— . I
2 10+ 10 [ First Division Second Division
=2 ‘o
=4 % e
® o S E N - Third Division
0 - rd 240
g B R
5 8§ § 5§ Boe 220
3! % E & =28 9 %% 200
E 5§ 4 £e- @ %g 190
g g E ;.'_..'. 'ge ! E 2 180
= < L 160 |
Expenses a ;ig
Y .
239. The expenditure oh the mterest on loans is what < 120
percent more t.l'u;l.'rr-.{h%c .éxpenditure on trans- 100 dones
port ? 90 ===
= F ST fé@ MT @, T e @ % =B
Sl I N 60 {oor i =
() 5% ., W) 10%  (©20%  (d)40% i = - =
240. The ratidofthe total expenditure on infrastruc- 40 é %
ture and #fansport to the total expenditure on 30 e
taxes and interest on loans is 20 ==
qAYE & au A W R T R |w @ oA
0 % N R F T g wd A o aad) 2006 2007 2008
(b) 8:7 €9:7 (d)13:11 Years

{a) 5:4
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244,

245,

246.

247,

How many percent of students passed in first
division jn 2007 ?

T 2007 ¥ wyH it ¥ I 29 A= Sl 1 % d9d|

15 2
@) 1575% B 1112% (0 162% () 125%
What was the pass percentage in 2008 ?
=4 2008 § 3ol 3o F1 % waAr
1 6
@333% [b)82-% (©75%  (@)78%

What was the number of third divisions in 2006?
i 2006 ¥ g 9ot o Il € aml vl w1 wem
EGiat

(a) 60 (b)140 (¢} 59 (d) 120

In which year, did the college have the best re-
sult for B. com ?

frg od & anfrea fawg =1 weEses fom @
(a) 2007 and 2008 (b) 2008
{c) 2007 (d) 2006

Directions|248-253): Study the graph and answer the
questions.

(8SC CGL Tier I Exam 19.10.2014)
Pep-up g Dew-drop

. Cool-up

N
o

w
o

[=

laklg)botg’es
(43}

Sales in

—
o<

248.

249,

250,

[l =)
o o

1988 1989 1990 1991 %
In which year the sale (}’#E:c%%?ﬂp is minimum ?
fsaad d Hel-3q A4 A o

(a) 1990 % - 1992
(c) 1993 R ‘L%ﬁ (d) None of the above
In case of, whic% soft drink was the average

annual s & fhum during the period 1988-
199325, %,

TRy i%s—lg%a%ﬁmm T fEF' =t olwm
it fal yratieren @

() pep-up only (b) pep-up and Dew-drop
{c) cool-up only (d) cool-up and Pep-up
what was the approximate percent drop in the
sale of pep-up in 1990 over its sale in 1989 ?

251.

252.

253,

T 1989 % qe § ¥, 1900 ¥ u-am = faw §
o wfaem # %t &6

(a5 (b) 14 c)12 {d) 20
What was the approximate percent increase in
sales of Cool-up in 1990 over its sales in 1989 ?

T4 1989 %I Fo § ¥ 1990 ¥ A w19 &I fawit 7 et

% I IR T

(a) 100 (b} 50 {c) 216 {(d) 150

In which year sale of Dew-drop is maximum ?
e 7 o Teg-giy =1 fa waifes 2

(a) 1988 (b) 1992 () 1989  (d) 1993

In case of which soft drink y%s the average
annual sale minimum dm:mgt e period 1988-
19937

§1988-1993 # wwﬁa% o i fa

H T =

{a) Pep-up only BE i (b} Cool-up only

(c) Dew-drop only % (d) Dew-dropand Cool -up
the following graph which

shows income and

questions.

Directions(254-2! §
Wdlture of a company over the
years and ans

256.

Wizard of Maths — Rakesh Yadav Sir

{SSC CGL Tier | Exam 19.10.2014) .
Income [_] Expenditure

i
¥ 1
‘3

A, 20 =
— 5 % I —
A% =
= —
& =
Al =
s 2 —
8, =
é 10 E
0 ] ——
2005 2006 2007 2008 2009
Years ——-»
254. The difference in profit (in ¥ Crores) of the com-
pany during 2007 and 2008 is
4 2007 T 2008 ¥ F T FAE T @ H fean
I B € w3 W)
@5 {b) 10 {c) 15 (d)20
255. In how many years was the expenditure of the

company more than the average expenditure of
the given years ?
o ot § st = o, oifem = ¥ s d

(@) 4 b3 o) 2 (d1
The percentage increase in income of the com-
pany from 2007 to 2008 is

T4 2007 ¥ 2008 9% A B AF ¥ HaA % &
& B

{a) 30 o

(d) 42?

®25 33%




257. Ratio of total income to total expenditure of the
company over the years is
fed T TS W e o7 9 HA = H ST Far)
(@21:25 (b)25:21 (c}26:21 (d)25 22
Dirctions(258-262): A watch company produces four
different product. The sale of those products in lakhs
during 2005 and 2010 are shown in the following bar
diagram. Study the graph and answer the questions.
(S8C CGL Tier Il Exam 21.09.2014)

(a) Table clock {b) Wrist watch
{c) Stop watch {d} Wall clock

Directions{263-266): Study the bar diagram and an-
swer the following questions.

(88C CAPF & SI CISF ASI & DP Exam 22.06.2014)
Demand and production of colour
TV of five companies A,B,C,D and E.

(Number on the top of a bar is the number of colour
TVs)

E 3
% 40 4 3005 201 . ; B Demand D_Prdductlon
t~ g @ &
.E 0T ("Jg °F . --{5; E
g & ZIN.
3 204 Nz ‘?”} E
5 =
: |
& 104 2=
=
Z
=
> Z
Wrist Table Stop Wall " ?
Watch Clock Watch Clock ==l
258. The sales in percentage of wrist watch in 2010 cBomlg:aniEs
more than the sales of table clock in 2010 was
nearly by ; 263, tio of th ber of h
Eﬂae*‘ra o of the number of companies avmg
Tt 20109 wt = famt = 2010 7 Tt = A} - %mm?‘ore demand than production to the companies
fat @ farerd e aiferss 1 -~having more production than demand is
(a.]267% () 27.7% [C)287°/0 [d]217%f; &‘rj Waﬂwﬁﬁ%mawmaﬁwﬁm
259. The ratic of sales of stop watch in 2010 toﬁ@%@kﬁ e el FwfE # e | oryh wan:
sale of table clock in 2005 is
- 5 w9 fam é% % a)2:3 (by4:1 c)l:1 {d3:2
20104 &0 T 2005 264. The difference between average demand and
fahl & v war| average production of the five compaines taken
(a)6:19 b)7:6 ()19:6 ¢ (d) 7 19 together is
260. The sales of table clock in S'Mas less than uiEl Fuiaal =1 Sivga Nt o oihg AR # w" 3
the sales of wall clock in ﬁ nefaly by T
T 2005 # 299 U<t 9 fare, aﬁiﬂbS‘faﬁRﬂ?ﬁﬂ'ﬁ (a) 1400 (b} 400 (c) 280 (d) 138
Tt & T forert % F 265. The percentage of the demand of company D as
{a) 70.05% (b)6 \@68 05% (d) 62.05% compared to the demand of company E is
261. During the perio 010 the minimum rate HrET ‘D' # G, FOECE F i R AR % 2
of increase in § is'in the pI'OdUCt of (a) 12 (b) 24 (C] 20 (d) 30
Aty 20 ¥ 59 SR 1 7R § [T 266. The ratio of average demand to average produc-
g TN 9 tion of companies B and D is
(a) Wrish Suggcl {b) Table clock FUEt B AW D %1 sitgg A qen sk s @ | i
(c) Stop watch (d} Wall clock M A |
262, The sales have increased by nearly 135% from (a)1:5 (b})2:5 (c)3:5 (d)4:5

2005 to 2010 in the product of

5 3o &1 et © o€ 2005 ¥ 2010 9% TN 135%
T Tgiad gl

— Wizard of Maths — Rakesh Yadav Sir

Directions(267-270): Study the graph carefully and
answer the following questions.

{SSCDEO &LDC Exam 02.11.2014)

866




Cotton production

[] 1994-95
B 199394
0 1992-93

State ———

267. The production of State D in 1993-94 is how
many times its production in 1994.95?
T D& a6 1993-94 H IARA, IH 1994-95 B
I F1 T T R
{a} 1.33 (b) 0.75 (c) 0.56 (d)1.77
Which of the following statement is false ?
/= § 4 9 W FeR T 2
(a) State A and E showed the same produc-

tion in 1993-94,
(o) There was no improvement in the
prodution of cotton in state B during
1994-95
State A has produced maximum cotton
during the given period
Production of state C and D together is
equal to that of state B during 1993-94,
How many state showing above average produc-
tion in 1992-93 showed below average produc-
tion in 1993-94 ?
fire 77 T 1992-93 T g oiwa SaRA ¥ sfum W,
T4 1993-94 1 g3 G IR Y FH IO 0 @ 2
(a) 4 (b) 2 ()3

268,

{c)
@
269,

270.
in the year 1994-95 taken together ? S
EL] 199495ﬂwﬁ’rwﬁmaﬂmaﬂm?ﬁm%l
{a) 12.3 (b) 14.6 (c) 15.6 (&, 1@.@
Directions(271-275): The subject wise number of
apphca.nts for the year 2008 and 2009 in a ccﬁlege is
given in the following chart. Studyvthe g,raph and an-
swer the questions. -.

(BS&BM 02.11.2014}
Subjectwise appllct{ts
30001

25001
2000+

W 2008
[] 2009

1500+
1000+
500-

No. of Applicants

&s
‘69‘& .\G\Pr@ n{\&o@
*
Subjects

@t -

What is the average production of the five states:. \,12

Wizard of Maths ~ Rakesh Yadav Sir

271. The subject for which demand is maximum :

fora faua =t At sfuman &

{a) Chemistry {b) Mathematics

(c) Computer (d} Biotechnology

The subject for which demand is minimum :
foy forra Y wiT T 2

(a) Statistics (b} zoology

(c) Botany (d) Microbiology

The number of Chemistry seeking applicants
increased by

WA WA 99 T sreffal i wEm TR % St
(a) 17.26% (b) 18.89%

{c) 19.25% {d) 21.08%

The number of Physics. seekmg applicants in-
crease by

ﬁﬁmwgﬁaﬁamﬁmﬁmmﬁ%aﬁ%l
(a} 17.26% (b) 18.89%
(c} 19.25% _ (d) 21.08%
The number of Mathematics seeking applicants
increased by .
v 9 AT b # Hem fae % a8
{a) 17.26% (b} 18.89%
() 19.25% (d) 21.08%

ions(276-279): Sales of Books (in thousand
num’bers) from Six Branches-B1,B2, B3, B4,B5 and
B6 af #puiblishing Company in 2000 and 2001. Study
the’ gi}aph and answer the questions.

(SSC CHSL Exam 09.11.2014)

[] 2001

272,

273.

274,

275.

B 2000

11

© S
]

%
e

]
@

)]
o
3

)
@

w b
9

b
T

Sales (in thousand numbers)

—
o
1

0 Bl B2 B3 B4 BS B6

Branches
276. Total sales of branches B1,B3 and BS5 together
for both the years (in thousand } is

= Tl § wmened B, B,a By & W fremt fasnt
et ¥
(a) 250 {b) 310

(©435  (d)560




277,

278.

279.

Find the ratio of the total sales of branch B2 for
both years te the total sales of branch B4 for
both years.

W& B, @4 B, ® A a6 ¥ g fapral # d9 oquE
T

@2:3 (b}3:5 c)4:5 (d)7:9
The average sale of branches B1,B3 and B6 in

2000 is what percent of the average sale of
branches B1,B2, and B3 in 2001 ?

W@l B,,B; a9 B,® @ 2000 ¥ iwa fawi, wwansi
B,, B, 30 B, 3 & 2001 ¥ g 3iwa ot :1 fsads 21
{a) 87.5 (b) 75 0 77.5 {d) 82.5

Find the percentage increase in the sales of

books of branch B3 in the year 2001 than the
branch B2.

99 2001 § wren B,# fFaEl 1 fawi, wan B, M
faml | forad % srfus &t
(a) 69.2 (b) 50.8

(€)40.9  (d) 65.7

Directions(280-284): Study bar diagram and answer
the guestions.

(S8C CHSL Exam 16.11.2014)

total number of boys and girls in five different de-
partments of a college

No. of boys and girls

320
3004
2801
260 1
240+
2201
2001
1801
160 —
1401
120
100

804

601

404+—

280.

281.

282,

283.

-
(8 593

&

The percentage of the girls from Biology Depart-
ment compared to the total number of girls from
all the other Departments together is

S foem faum o wisfeal =1 e, =9 g4 faan =i
et oreferal &1 T # frad % 21

1 1 1
{a) 375% B}37% (o) 365% (d) 355%

The difference between the total number of boys
and the total number of girls from all the de-
partments together is

Tt fawmll | & ol A go omsl & @ e e R
(a) 540 (b) 520 (c) =4___60 (d) 440

The average number of Hoys from all the depart-
ments together is T

adt farl i fre AR Svsion ven T

{a) 123 (b) 132~ © (134  (d) 142

The percentage of the boys from Biology Depart-
ment compargd fo the total number of boys from
all the Departrgnts together is

i fora Fdmr W eres # e, @i fvml § agH W
n@rﬁr_;_%"‘% 21

(b) 50 (©) 33% (d) 30

284 ’me respective ratio of number of girls from

% ?m?hilosophy Department to the number of girls

-“'from Psychology Department is

TerTonEs faam § wefeal %1 e w1, Tt fawm o
wefeal #1 GE 9 S9N JaY |

a7:11 B)11:7 (¢7:10 (d)6:11

Directions{285-288): Study the double bar graph

given below and answer the questions.

Wizard of Maths - Rakesh Yadav Sir

(SSC CHSL Exam 02.11.2014)

Z No.of students participatingin
theschoolexhibitionintheyear2013

B No.of studentsparticipatingin
4 theculturaleventsofschoolintheyear
7ol 2013 ofaparticularschool
60— =
T g
g ~
B 45 Z g
5 Z Z
2 Z Z
s 30 E Z
s | & Z
- 1 |
Z Z
157 % %
Z Z

=

VIl VIII
Name of Classes —s

IX

868




285,

286.

287,

288,

The class having maximum number of partici-
pants in exhibition is

weet ° frm Fan & ol 9 9em gt 2

(a) class IX (b} class VIII

(c) class VII (d) class VI

The average of the number of students partici-
pating in cultural events is

Yhegfaw nfafafudi o e g o) sraffai 1t siwm
T S|

{a) 48.75 (b) 52.5 {c) 45 (d) S0

The ratio of the participants in exhibition of
Class IX with the total participants of class IX
is

TeEH H o S A FEO F DH Aq T 9 FH FHS O
% W= SR )

(@5:7 b)5:14 (c)1:4 (d)3:5
The percentage of students of class VIII partici-

pating in cuitural event out of total participants
of cultural event is

et TfatE ¥ W R A HE a8 @ o &t
T Wi TatatyEi 9 S OF e g9 ged H s
= gew #1 fFa % 21
(a) 30% {b} 25%

(©)35%  (d)40%

Directions(289-293): The diagram shows the age-dis-
tribution of the patients admiited to a hospital on a
particular day. Study the diagram and answer the

questions. (SSC CHSL Exam 09.11.2014)
F
104+
9._
wi\
| 84 -
8|7+ A
Sl et
5|51
sl 4T
Z 13t
2-..—
1-_ K ..
‘q 30 35 404550556065707580

289,

290,

(a} 4

s ————

Age(in years)
Number of patients.of age between 55 years and
60 years, who gmt admitted to the hospital on
that day is®, -,
3a = wﬁwﬁaﬁaﬁ 55 ¥ § 604 & W F
0 ® T F v frad o
(@) 6 T b4 (c} 24 (d)8
Total number of patients of age more than 55
years, who got admitted to the hospital is

30 &7 55a¢ | sifir 39 F fraa w1 oo | W gal
(b) 7 (c) 9 {d) 10

291.

292,

293,

Number of patients of age more than 40 years

and less than 55 years, who got admitted to the

hospital on that day is

34 f&A 40 ad | aifers e 5598 | FR amg # wdll B

q WS &1 wea fha ot

{a) 20 (b) 30 (c) 15 {d) 12

Percentage of patients of age less than 45 years,

who got admitted to the hospital on that day is

approximately equal to

45 9d § F9 39 & WS &1 g, 39 A wdt g a9

el T W g w R % 2

(a) 14% (b} 20% {c) 37%. (d) 62%

About 11% of the patients whoggot addmitted to

the hospital on that particular 8ay were of age

T 11% nﬂaﬁ%ﬁwﬁﬁqﬁawﬁ@mm T

37 s = 2 :

(a) either between:35 yéars and 40 years or
between 35 years and 60 years

(b} between 60 years and 65 years
(c} between 35 ymars and 40 years
{d} between 35 sears and 40 years and be-

Directions(294_-_,296] The following table gives
zonewise survey, réport of the people of a country who
take coffee. Study the table and answer the questions.

Take coffee Zone
3 North | East West | South
1|More than 3 times a day j410 310 FO0 1450
+- |l to 3 times a day J220 | 830 | 1250 1 1100
Twice a week 1640 | 710 950 420
Only once a week 620 540 530 350
Never 950 430 620 50

294,

295.

296,

(85C CGL Tier] Exam 19.10.2014)

The percentage of people of south zone who take
coffee at least once a day is close to

g i e 59 A T we s @ 9 wm W w5
TF IR HI6! 3799 U

{(a) 33.51 hH42.72 () 75.81 (d)80.82
The percentage of people from non-west zone
who take coffee’only once a week’ is approxi-
mately

AF-ufeaddl 99 $ 39 A S wEm F wavE T S
Taw ¥ #ad UF 9) Fiet 1 {)

(@11 (b} 12 (c} 13 d) 14

The ratio of the total number of people surveyed
who take coffee more than 3 times a day to the
total number of people who do not take coffee at
all is

uF fi7 § 3 9R ¥ atfue =g 99 ol #) T H 37 a9
F WEm ¥ S S S uF ot IR = S 9
(@1:1.4 (bjl4:1 (¢j1.5:1 (d)1:1.1

Directions : In Question nos. 297 to 297 Given here
a multiple bar diagram of the scores of four play-
ers in two innings. Study the diagram and answer
the question.
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frden- 297-297 T T Jz-3T0rE e o & Forend = frarenfigat
% 2 iE § w9 o W <9 T 3 e S T Tl @
IW 2
(CGL - 16-08-2015 Morning)
[DJ1st Innings l2nd Innings

ot
]

O

i

RUNS ACCURED
[ R N - |

(=
o
o

Mahendra  Virat Chetshwar Shikhar
Singh Dhoni Kohli Pujara Dhawan

297. The average run in two innings of the player
who has scored minimum at the second in-
nings is;
fedia i 7 =Fem W TR A faane # 2 wiE w
sirem =0 ¥

301. The ratio of expenditure on food to savings is;
9 W EY a9 9 H S A R

{a) 10:9 M3:1 (€2:1, dj3:2

If the expenditure on educatlm is T 1600 more
than that of housing then th*e eg(pendlture on
food is;

Iz fiven W @ e FH @r ? 1 6
wd I H #,
(8)T6000 (b ? .[33%, (c)T7000 (d)T 12000
If the monthly 1m0me is ¥ 36000 then the yearly
savings is;

af wifes m?%ooo%a’taﬁmaaaamaﬁl

(a) ?2000 (ﬁf ¥ 70000 (c) ¥ 72000 (d) ¥ 60000
Directiofis: In: questlons nos. 304 to 307 study the
following bar-diagram and answer the questions. Elec-
trlc;ty units consumed by a family in two consecu-
tive yc - during July to November;

ﬁr?wgo to 307 <T AEE H AT A TgH I B
ICE) AR 2 A W g @ AEE @ e v efEr

302.

aﬁm% @ A W

303.

(a) 30 {b) 50 (c) 60 (@40 4 o fawreht 71 @)
208. the total scores in the first innings contnbuted%ﬁ (CGL-16-08-2015 Evening)
by the four players is ; & 2002
vom R § W feenfedl S @@ A AT . na LI Months of 2012
(2) 200 0220 (9210  (dy190° g o BE Months of 2013
269. The average score in second innings contrib- 2 500 = =
uted by the four playersis; sty 5 400 EE-'E . g}
%ﬁﬂqmﬂam@w%ﬁéﬁakaﬂuaw% 5300 = =
(a) 60 )50 (38 (@40 Z 200 = B OB B =1
300. The average run of two-finnirf'gs of the player 100 _ _
who scored highest ip average is; o )

ﬁmmﬂmmmﬁﬁmﬁﬁwaﬂm

Ecieal Y

(a) 85 B ‘i""‘ (c) 75 (d) 80
Directions: anuQQ_ nos. 301 to 303, The pie-chart

given here shows gxpenditure incurred by a family
on various items and their savings. Study the chart
and answer the.questions based on the pie-chart

fdwr : 301-303 KU Tu wE-=E ¥ fafw—= w3 ¥ ufEr %
3 fe T T qw a=a  framn T f - ®) om |
TgHL YTl H 36 ¥

(CGL - 16-08-2015 Morning)
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JULY AUG SEPT. OCT NOV.
MONTHS —

304. In how many months in 2012, the consumption
of electric units was more than the average
units consumption in that years:
o 2012 % forae W o fastelt =1 @d 39 94 & sffoa
T U AU @i
(a) 5 b)2 (c) 4 d)3
The total units consumption in the years 2013

during these 5 months, in respect of the same
in the previous year has been:

Td 2013 9 HF T [To0 9 #1 g | F=0 w2

305.

870




(a) increased by 2.27% ! Fgmd
(b) found unaltered F§ TREAT 7=
(c) decreased by 2.27% %! FHi

(d) increased by 2.22% ! Rl

The maximum difference in the units consump-
tion between these two years has been found
in the month of :-

¥ 2 Aul & di= 5w 9d@h ¥ gfe ' w0 AW
Taifus @12

{a) October (b) August

{c) November (d) July

The average electric consumption by the fam-
ily during these 5 months in 2013 is

g 2013 ¥ 5 T & I T F s fasel w9

306.

307,

I F
{a) 450 units (b} 470 units
{c) 440 units (d) 400 units

Directions: Questions nos. 308 to 309 the income of
a state under different heads is given in the follow-
ing pie-chart and answer the questions.

e - 308 - 510 : faf= &6l W 79 % T Tt o™ w
o = ¥ T T R 8 W B oA W g qEA % I A

{CGL-16-08-2015 Evening)

Income tax
35% > 4

308. If the income from the marke‘t“E‘ax m a year be
¥ 165 crores then the total 1 cfme from other
sources is (in T cores):-.
uﬁ@aﬁﬁwwﬁfﬁsmmﬁmaﬁ% al
31 F ¥ W AT FE F (P )

(@) T335 (b)R' 325 (c)T345 (AT 365

If the tot%&mbome in a year be ¥ 733 crores
then the uﬁomgd (in T crores) from Income tax
and ‘egpigeidaty’ is:

ﬂﬁma&%‘%@ A 733 F0¢ ¥, A SUET 91 TR
o § it o g

(8) T329.80 (b)T331.45(c) T 329.85(d)T 331.50

Directions (310-313}): Study the following bar dia-
gram carefully and answer the following Four ques-
tions.

309,
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The number of the production of electronic items (TVs
and LCDs) in a factory during the period from 2009 to
2013.

frdw- A feu o S-eE = @ Tew T % W R
2009 ¥ 2013 % = T BFR A faoel STFE(eAl
L.C.D) % 31aEd i &A1? (CGL-09-08-2015 Morning)

O Tvs i LCDs

13,000
12,000
11,00
10,00
9,00
8,00
7,000
6,000

© [T

&QO?‘*QOIO 2011 2012 2013
Vears ———y

310. The tota} number of production of electronic
4 items is maximum in the years
gm ad faweh STl i wE IR e W
Jai 2009 (5)2010  (¢}2011  (d)2013

311 The ratio of production of LCDs in the year 2011

. and 2013 is:
g 2011 ae1 a4 2013 # LCD # IORA F MM
T2
(a)3:4 h)4:3 d)2:3 (dy1:4
The difference between averages of production
of TVs and LCDs from 2009 to 2012 is:
2009 42012 F s TV AW LCD #F 30T 3T9RA
SR T B2
(a) 600 {b) 700 (c) 800 (d) 900
The ratio of productions of TVs in the years 2009
and 2010 is:
T4 2009 9201 2010 ¥ 00 F STUH FT IR T FL?
a)7:6 b)6:7 (©)2:3 d)3 2
Directions (314-316):- The following pie-chart
shows the sources of funds to be collected by the
National Highways Authority of India (NHAI) for its

Phase II projects. Study the pie - chart and answer
the following three questions:

(Frée) feu e wE-= § Ui Tomnl wieEe (NHAL @ gr

-1 afeErsmet & fae g7 9w F1 @ fafe @l <9

T & TR~ F EH ® 9w TR & SW 2
(CGL-09-08-2015 Moming)

312,

313,




External
Assistance

314. If the toll is to. be collected through and
outsourced agency by allowing a maximum 10%
commission how much amount should be

. permitted to be collected by the outsourced
agency, so that the project is supported with
¥4,910 crores?

I T TR FH 10% FHTH W I 25 FYwel €,
W 4910 w8 TYC H GEU@ 3 P AU TR FE F
fosan d= T e

(a) ¥ 6,213 crores (b) ¥ 5,827 crores

(c) 5,401 crores {d) ¥5,316 crores
If NHAI could receive a total of T 9,695 crores as

External Assistance, by what percent (approxi-
mately) should it increase the Market Borrow-
ing to arrange for the shortage of funds?

g (NHAI) % 9l Semd 9 9695 %13 I W9 8
2, Al IR B0 F e TRIYE GG € aife 98
FH w0 fFw w1 wH?
(a} 4.5% (b) 7.5%

315.

(c) 6% (d) 8%
316.
Borrowing is
SR Y T AR AR F DL FO FA EN?
(a) 52° () 137.8 (c}187.2°
Directions (317-313):- The graph shows the deniand
and production of different companies. mthe
graph and answer the question nos.

frdwr :- fRu T o A fafe wetEl @ it gen SR w5
=yl T R OWE W oA F g WA B I 2
(CGL-09-08:2015 Evning)

7000— o _
Units(in lakh metric tonnes)
6000 :

5000+

4000+

& Producticn

3000
2000+

* Demand

1000
O[A B C D E T

Companies

L 4

The central angle corresponding to Market___

() 194.4°

Wizard of Maths - Rakesh Yadav Sir

317. What is the ratio of the companies having more
demand then production to those having more
production than demand?

SR § At TN S HOE ae SERA | FH WA
el Fafrl 1 s w27

a)1:2 b)2:3 gg2:1 d)3:2
The demand of company B is what percentage
of the production of company A ?

HT B # W, B F H 30N 1 fehanl wiaem @2
(a) S0% {b) 70% (c) 80% (@) 60%
The production of company A is approximately
what percent of the demand of gompany C?
FE A F I, FIA C F A fFaw v 32
(a) 0% (b] 60% (C] 5&/0 " (Cl] 65%
Directions (320-322):- Stuﬂ‘y‘fﬂle following fre-
quency polygon and answer questions num-
bered 521 to 523. Given i line graph showing the
number of students pagséd in Higher Secondary Ex-
amination in a sdlool (wer the years from 2008 to
2012 -

fdwr .- ﬁqwmﬁwﬁmﬁﬁwm&;w%l
feg T e ¥ fafa= i 4 © faamm 9§ ssw mefis T
ﬁmmﬁaﬁm?mnéél

{CGL-09-08-2015 Evning)

318.

319,

:'.1_. 11?80_
T
] FO0 =
140 -

120+

2008 2009 20102011 2012 2013
320. The average of passed students in the years
2008, 2009, 2012 approximately is:
2008, 2009, 2012 ¥ T Bl # i wer w7 2
(&) 134.56 (b} 134.67 (c) 134.41 (d) 134.32
321. The decrease in percentage of passed students
from 2011 to 2012 approximately is:
2011 %t g ¥ 2012 ® 9%« I & Sfavm o foraet
fivrae <= =+ T2
(a) 8.22%  (b)8.27% (c)8.25% (d)8.24%
322. The increase in percentage of passed students
from 2008 to 201 1 approximately is:

2008 ¥ 2011 % 9 ¥%d IEI it IfavE gfg F@ w
{a} 55% (b)54.5% {¢) 50.5% (d) 53.05%
Directions (323-325): The expenses of a country

‘for a particular year is given in Pie-Chart. Read the

Pie- Chart and answer the questions,
(Frwr - o @ S el 2w @ T B - W <
T 3 S 9§ 9gHt T % SW Sl

{(CPO 21-06-2015 Morning)
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323.

324.

325,

326.

327.

Education

10%
Defence
15%

30%
Others

If the total amount spent by the government
during the year was ~ 1,00,000 crores, then the
amount spent of Health and education together
was:

IR TEFRA QI A Ja Fa= 1,00,000 Fg T9¢
T feu, @ @nam a fman #1591 freres fea wug
4 g0

(a) T 20,000 crore (b) ¥ 25,000 crore

(c) ¥ 30,000 crore (d) ¥ 15,000 crore

The percent of the total spending that is spent
on health is:

W W Ed %ol |@d W e wfave 82

{a} 15% (b} 30% {c) 253% (d} 20%
The percent of less money spent on non plane
than that on defence is:

T # e | rasare = e wfiem ®
(a) 10% (b) 125 {c) 15% (d) 5%

The percent of excess money spent on others
than that on Sports is:

T F g T 3 T fraw i st @ s
() 27% -
If the total amount spent by the Gog;rnment

(a) 28% (b) 26% (c) 25%
during the year was ¥ 3,00,000 @Iopes'%ﬂ;ie
amount spent on state developmen' *ﬂé‘meeeds

that on sports by:
uﬁm#@aﬁﬂsooooomm@%m a
@aﬁwﬂmﬁmmmmaﬁ@m

(a) ¥ 35,000 crores (b} ¥25%00 crore
{c) T 45,000 crore (d) T8Q000 crore

Directions (328-332): Study the BAR Graph and
answer the questions -

o - ﬁmmmﬁﬁwmﬁwél

a.;(CPO 21-06-2015 Morning)
='anth infported

d&&lue of bags

330

S50

12e

30

1997 1998 1999 2000 2001

4

328.

329,

330.

331.

The approximate percentage increase in quan-
tity from 1997 to 1998 was?

1997 9 1998 4 o | fifaw wiavm #1375 €32
(a}27.8% (b)27.3% (¢)26.9% {(d)26.5%
The difference between the bags exported in
1999 and 2000 was ?

1999 3ir 2000 ¥ fifa d0f o s @0 &2

(a) 1,00,00,000 (b) 1,50,00,000
() 50,00,000 (d} 2,00,00,000
Value per bag was minimum in the year?

Terg o wha & W =aw an?

(@)2001  (b)1999 (¢) 1996  (d) 1997
Percentage fall in value from 2000 to 2001 is?
2000 #1 g 2001ﬁq\al‘lrrmﬁwﬁmaﬁﬁmaz
3

(a) 40% (b) 25%

©75%  (d)50%

Directions {332-313); The bar graph shows the per-
centage distribution of the total expenditures ofa
company under various expenses heads during
2005, Study the bar graph and answer the follow-
ing four Questﬁ,om.

frdor: iy moRs-sTem A o 2005 # fft wo @ fafe
Eﬁﬁﬁﬂhﬂ%tﬁ%ﬁ@mmﬁaﬁﬁmﬁﬁﬁ
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wﬁ 33 ?@ 2 CPO 21-06-2015 Evening)
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332. If the expenditure on advertisement is ¥ 2.10
crores then the difference between the expen-
diture on transport and taxes is equal to.

i faRvA ™ 2,10 0T T T @4 g0 F, 9 I
qm F () & @H H AR FA L ?

(a) T 1.25 crores {b} T 95 lakhs

{c) T35 lakhs (d) 2 65 lakhs

The ratio of the total expenditure on infrastruc-
ture and transport to the total expenditure on
taxes and interest on loans is

(SHTEZFER TN T W & I |/ q9) a9 (FA e
Fo W @) B @l B |/ F I W R ?
@8:7 (by13:11 (c}5:4 dj9 :7

If the interest on loans amounted to ¥ 2.45
crores, then the total amount of expenditure on
advertisement taxes and research and devel-
opment is equal to

Ify F9 W 2.45 Tg € A9 TOA w0 ™, @
T, 39 (F) a1 TN 7 far W @ W wa
qm F| FK 7

{(a) T 7 crores (b) ¥ 3 crores

(c) ¥ 4.2 crores (d) T 5.4 crores

The expenditure on the interest on loans is by
what percent more than the expenditure on
transport?

F W o @, TR W G5 4 fRa viva s §
{a) 40% (b) 20% {c) 10% (d) 5%
Direction (336-338) Percentage of different types
of employees in a company in two consecutive
years,
Study the graph carefully and answer the follow-
ing five questions: e

%1 yReTa g9 T 1 (WF R AE W T TS Fewd)?
(CPO 21-06-2015 Evening)
Percentage of Employees
Total NO. of employees Totz ND. of employees
42980 T 48640

333,

334.

335.

1997 1998

336. In 1997 the total number of which of the follow-
ing types of pairs of employees was approxi-
mately equal to A type of employees in 1998 ?

74 1997 W f # | fA @ R § FHEAnE B F|
HrEm, 1998 § A TOR P HiOfEl +1 gem 3 FuaR o7

Wizard of Maths - Rakesh Yadav Sir

(@ Dand E b)Cand D
(c)Aand C ({d)Band C
From 1997 to 1998 in the case of which of the
following types of employees the change was
maximum ?
1997 ¥ 1998 ¥ f&F@ ¥R ® A F W
i
(a) C (b) D (©B dA
What was the approximate difference in the
number of B type of employees during 1997
and 1998 ?
ad 1997 T 1998 ® B TR,
(@) 2620  (b)2085 #ck@285  (d) 2325
If the number of D type e vees in 1998 was
5000. What would htwe been its approximate
percentage in the company ?
i 1998 ¥ DAFHR & wrfenfea 1 Weas5000 o, 6@ 7%
FE % wrwE F e vhea o
(@) 14 ., @)to (c) 12 (d) 16
The numbekof A type employees in 1998 was
approximately what percent of the number of A
type employees in 1997 ?

. 1998 § A W#R & F=iEl #t Hem, 1997 FA THER &

. ‘prwiEl w1 gem & fEan viav o
., Fenfd) 125 (b) 95 (c) 115 (d) 140
Direction {341-345) :The following graph shows pro-
datction ({in thousands) of two types (P and Q) of ve-
hicles by a factory over the years 2009 to 2014. Study
the graph and answer five question
frder : Frafefem TF Y e deed gEwr ad 2009 9
2014 TF 9EA & 3 WEH (P T Q) & I Tl (TR N )
Twiar TAT §1 W H e Sy o = f¥w g uiw

337.
338.
ﬁ&dﬁtﬁﬁl ColE

339,

340.

Tyt @ 3w (CGL Mains 25-10-2015)
_® —x—Type P/ @iu P
C 1 —+=Type Q/ = Q
& 300 t
o~ o7 275
g 2751 3
SE 25071
5E 225 1
8> 2007 7q 295
» E 175
5. 150 + 175 175
£ G 1251
[ 100 +
"EE -5 ] 100
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341. Approximate percentage decrease in production

of Types Q vehicles from 2010 to 2011 is

74 2010 ¥ 2011 7% Y Q A F IARA § T
fea wiowa =t and?

(@) 14.3 b)10.1 (¢} 16.3 (d) 12.5
The ratio of total production of Type P vehicles

to total production of Type Q vehicles over the
years is

f&u o o ¥ Y PARA| B F SAEA 38K 219 Q AR
F FH SERA 1 AU 20

(a)41:48 (b)5:8 {c)8:5 (d)48: 41
The production of Type Q vehicles in 2010 was

approximately what percent of Type P vehicles
in 20147

2010 ¥ 29 Q M B SEOET 2014 HIXI P F
A 1 T gfave en?

(a) 60 (b) 45.5 {c) 54.5 (d) 75

In how many of the given years, was the pro-
duction of Type P vehicles of the company more
than the average preduction of this type vehicles
in the given years?

feu My e a9 o SO 2B P Al w1 S K
T A WS Y R amdl & siEd Soa Q fwan

Afaw a2
{a) 3

342,

343.

344.

b S (c} 2 d4

345,

aﬁ2009ed\12011ﬁzsqpmwamgaﬁgmom
aﬂ12014ﬁzmQ%mmmmmmﬁWW?
(2)81.25 (b 75 (©)80  (d)68.25

Direction (346~347): The followipgh sraph shows
the marks obtain by Student in &),ll pEing gubjects

ﬂmm

Y ;L! Marks in 2nd term
% #"",{, B Marks in 1st term

1

Physics Chemistry Biclogy

Marks ——p

English Maths
Subject =———p

(CGL Mains 12-04-2015)

E

The total production of Type P vehicles in they *_-':" y
year 2009 and 2011 is what percent of total pr&-k
duction of Type Q vehicles in 2010 and 20 14 %

Wizard of Maths - Rakesh Yadav Sir

346. Ratio of highest and lowest marks obtained in
first term among all the subjects is

weft foli & wuw w3 & wr sifuepam siit = ot W
ST T 2
(a}7:9 (b)9:7 (c) 10:7 {dy7:10

Average marks obtained by the students for all
subject in second term is

fadfte v 4 = gr Wl faval W wra i w1 Slmg

w22

{a) 65 by 73 (62 (@72
Direction (348-350) : In an Institution there are 800
students. Students use different modgs of transport
for going to the institution aqq,rf:tu:n The given pie

diagram represents the requisite data. Study the dia-
gram carefully and answer, the ¢nietions

= : & W § 800 ) B wewn H -9 & Ay
wfeas # fafa= w1 @A @ 1 Frafafen w-Tmm
ﬂaﬁfmmmwammmmﬁmﬁm
it ww # SR Y| c (CGL Mains 12-04-2015)

347.

Institute bus

348. Number of student travel in public bus is - _
e 9 G A e O #) Yo R €2

{a) 150 M 120 (¢} 130 d 125
349. Number of students who do not use institute
busis

A H 9 F T T A B ® e
fapertt &2

(a} 330 (b 350 (c) 480 d) 320
Number of students who go to institute on
footis

HeqH 5o S A BEl w e feat 22

{a) 160 B 170 (¢} 120 (d) 106
Directions(351-354): Study the following histogram
and answer the four questions.

frw : Fraforelia fet 1 sreae =T 3 g T 4 vl
I L (LDC 1-11-2015 Morning)

350.
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Marks Obtained
W
351. The no. of students securing marks in the

range 90 - 100 is

90 - 100 % ¥ 7% W@ & T il + gem 32
{a) 10 {b) 20 {c} 30 {d) 40
The range of marks obtained by maximum no.
of students is

sfuman famfifal gm v ofs frefafes + @ frae
¥ 32

() 30-40 (b)60-70 (c) 50-60 (d)80-90
The percentage of students securing marks less
than 50 is

S0 ¥ W oF W W At faenfedal wt sfewaa 2

352,

353,

4
(@)28-% (b)27 é%

354,
was made is

aﬂﬁmﬁﬁtﬁmmmﬁ%mwuzmm

TR
(a) 190 (1200 (c) 220 (d) 210
DIRECTIONS (355-359):

Read it carefully and answer five’ huesnon

Total cost of production of a firm is. ¥ 250 lakh. Fol-
lowing pie-chart shows the percentage of costs of pro-
duction in different purpose.
Letters A, B, C, D represent the followmg

A = Cost of raw materials

B = Cost of paﬂﬂng materials
C = Cost of labour: D = Maintenance cost

frdwr : 8 wIFYEE W IR XU TG 5w I 2

T TH B IR WA A0 2250 7 21 Frefaten o =@

¥ fafir vl & Seared anE #1 Sfowma g T 82
AW A, B, C, D Frfafaa =it fefta =@ 32
A = %= U $I aFF B = U amdt =Y o
C = 3™ & =WE D = @ W@E @

(LDC 1-11-2015 Morning)

() 23—% (d) 47-—% .3
The total no. of students on whom this survey h

Wizard of Maths - Rakesh Yadav Sir—————— -

355. If the production increases to five times of the

present cost, then the percentage increases of
the cost is

At IEEA aHUR AR F A W’ﬂa S €, @ A
gfg = wiawmm 2 .

@50%  (b)400%  (c)300%  (d) 500%
Cost of packing materials’and raw materials
together amounts te.

(@) 717 lakh/RL75.  (b)T 87.5 lakh/ 87.5
(c) 2162.5 lakh € 162.5 (4) 3137.5 lakh/ T137.5

If the cost of production doubles in a period of 3
years, then the corresponding maintenance
cost in rupees will be

C g 3 AN § ISR ArE g @ S #, A g
- “42) T 12.5 lakh (b) T 25 lakh
" (¢)T 125 1akh (d) T 75 lakh
. If the total maintenance cost increases from
T12.5 lakh to ¥ 50 lakh, then the percentage
increase of the maintenance cost is
T} T TEREE A T12.5 9 § 9@ T 50 T @
T &, @ vEvEE wa § gfe # wfiead 82
(a) 300% (b) 400% (¢} 75% {d) 25%

If the packing cost increases by 2%, then the
new packing cost will be

Tfg WEET A 2% 98 ST &, @ T8 SRR @ R
Fit?

(a) T 62.5 lakh (b) Z 5 lakh

(c) T 1.25 lakh (d) ¥ 63.75 lakh

Directions (360-364)/ 5% : The pie chart shows
how the shcool funds is spent under different heads
in a cetain school. Using the pie chart answer the
questions.

W UR 9% ¥ T0f T # R o o i a ® eiwta
e # el # #9 Td fw 9 w9l W o s
T 5T H OIW 2

356.

357,

359.

(LDC 1-11-2015 Evening)
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Wizard of Maths - Rakesh Yadav Sir

Production {in million tons)

4 I (fafeem <A H)
110 100.17
100+ ]
90+ 91.75
804 7623 (2 =
71.30 m
701 N 67.66
604
360. Which head has the maximum expenditure? 50
59 o =1 T wfykan 27 20 43.51
(a) sports/ @WE  (b) Art & Craft/ Fen i faey 20 As
(c) Library/ T (d) Science/ faam g '
361. Which heads have the same amount of expen- 207
diture? 10+ g
e T & = F e 9uE @
2 A 05 0
(a) Sports and Science /Sehg 3R fagm \9‘2- \g'l_ 33% iqq' 1977 4927 \9%
{b)Library ans Science /T&&a iR faam 3 i
(¢} Science and Miscellaneous /famr aiit fafam 365. The differengey ) the production of steel in the
{d) Miscellaneous and Libraray/ fafau sir qeem z:lar ]‘igfz fami:lzi 1? X% of 1927. Then the
362. Whait is the ratio of expenditure on sports to that K N il ey .
on art and craft? 7 1994 3 1024 W Te % TeaRA W SKR 1927 H
TR AR wen 9 fed ® @ w1 oI 7 R? aff’o%lx%"qﬁmﬁﬁﬁm%
_ fay1:1 b 1:4 (J2:1 h4:3 4a‘i1 M) . ) 001 (1
363. Which head uses 25% of the funds? ﬁe nuamber Ofyears dunng which the company
fFa 75 W 25% fafsl = =« &= = 82 ;7 as its production less than the average
(a) Miscellaneous/fafds (b} Library / Teseids, 4 %& * prodetion during 1920 -1927 is approximately.:
(c) Sports /@a#z %%% T T & e T R § R SRE e #
(d) Art and Culture /@ 3R frea - - I 9 1920-1927 F 3 ST ¥ w9 €2
364. (\)J\ilhle:;rii;t;entage of the total expen@w’m §ﬁ§;ﬁ (@) 3 b 4 (c) 6 (d) 2
> 367. The ratio of production of steel in the year 1924
%A T T T i g e f“‘%’“" #? and 1925 to that of 1923 and 1927 is:
32‘2365_36(3,24 3 Th{C)féf 6%?;:)0120 . T 1924 3k 1925 § vewa B A A 1923 sk
Directions, T=w: The n e shows I Y I fE 22
the world production of steel in 19%%2? Study the 1927% N &
table and aswer the question. k- {(a) 2005 : 2077 (b) 2077 : 2205
frefafea mfm 3 fava o o # g0 ‘q'Qﬁ'ﬂT ™ & 1920- (c) 2205 : 2007 (d) 2205 : 2077
1927 w| e Eﬂmﬁﬂi T F I K| 368. The average production of steel is:
Yew% {iﬁmi;iﬁ:: T H S SR &
_Tons) (a)74.07  (B)75.13 (c)77.10 (d)76.09
nx Direction(369-373):- Study the bar chart &
6?..66 answer the Questions.
76.23 Frdor- s o T oA HIf SR Tl F I A
77.23 Income and Expenditure(in crore Rs.) in 2001 of five
g?gg companies
100.17 " HYCE H12001 9 31 IR FRA(HIS €.) H)

(LDC 15-11-2015 Morning)
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60=
55—
50 20 50
5 35 2 IS [
40L..) 40
40— g™ ol -
35 | o ” ™ -
357 ::: - - -
30- S OH M | E
25- S H H E
20 ” = o e
15- Sl OHE
10+ A 1 E =
5 - S 0 HOIH | E
0 I'EI — I’EI &'I &-
M N P Q R
EXPENDITURE INCOME
369. Forcompany R, if the expenditure had increased

370.

371,

372.

by 20% in the year 2001 from the year 2000
and the company had earned profit of 10% in
2000, the company's income in 2000 (in crore)

HE RS =@ ¥ a4 2001 7 a9 2000 F g1 § 20%
gig g ol S F 99 2000 ¥ 10% 1 A g2 o, A
F Ft a4 2000 ¥ fFad i g o7

(2)35.75 () 37.25 (0)41.67 (d)38.5 %

In 2001, the approximate percentage of profit f“
loss of all the five companies taken tqgether’ﬁs '

equal to:
2001#@Wﬁﬁmmmmﬁm¥m
AN/ T2

(a) 4% loss /31 (b) 6 proﬁt/ﬂl‘ii

(c) 6.88% loss /I (d)4,64€5 profit/@™

In the income of company Q¥%n 2001 was 10%
more than 2000 and the.comp#ny had earned a
profit of 20% in 2000 thﬁn its expenditure in
2000(in crores) was

Az FUH Q F A zoog ﬁ‘fzoooﬁ om § 10% afa
FE aﬁta;qﬁ’rai:ag&gﬁm%mmw o1 F 2000
A = (Eﬁ@ ®) gn wr?

(a) 32.32, gﬂ)j 28.28 (¢)34.34 (d)29.09
The compaagxe’s M and N together had a percent-
age of profit/loss of:

M it N FufEl ) frers fred shem sweift 882
(@) 12% loss /@A (b) 10% loss/@f

(c) No loss and No profit/®E if1 3l 7 & =y
{d) 10% profit/emw

Wizard of Maths — Rakesh Yadav Sir

373. The company earning the percentage of profit
in the year 2001 is:

T8 2001 ¥ sfiman wiava o FAH Tell ST SR-d E?

(&) N b} Q (c) P M
Directions(374-377):- Study the pie chart cerefully
and answer the questions.

FrEon- TR-9K 1 WIS AT HI SN WE B IW
i

STUDENTS OF A COLLEGE
FAR F B =
NON MEMBE,RS N
R wgE coosing, %
MEI@ESE U%FOFP?LCY)TBALL
. 4 _ﬁaﬁ el F" B T

MEMBERS OF CRICKET
PR ¥ CLUB ONLY
MEKBERS ORBOTH CULBS Had feee 799 & WH
L (LDC 15-11-2015 Morning)

374 Percentage of students who are not members of

any club is:
T ol W A I S e aom B v = A
{a) 10% b} 6% (c) 5% d) &%

375. Ratio of members of cricket clube only and foot
ball elub only is:
Fas fade o IR Foo oAl FE @ Il
I SR
a)1:2 b 1:3 (¢3:1 d2:1

376. Number of sutdents who are members of both
the clubs is:

T4 B F GEN JaRY S <A o % w9 R
(a) 500 b) 650 (c}550  (d) 600

377. Number of students who are members of cricket
club only?

o8 B F gem T S Bact fFee Fo 9 wee 2
(@) 35 () 41 (c) 42 (d) 40

Direction{378-382) : The following chart represents
Demand and Production for 5 companies ABCDE.

frdwr : tafafige 9 4 5 F=t@l ABCDE #1 o 3 sas
IOEA # @i ™ #1 (LDC 15-11-201S Evening)
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D demand E production
35004 o o
30004
25004
2000 1
1500 4
1000+
500 1

3300
3000
—

2700

1
200 2200

1500

LO0O 12

600

A B C D E

378.

379.

380.

381.

382,

Direction{383-386} : The tot
pany for a particular mbpity is

The difference between average demand and
average production of the five companies taken
together is:

viel St Fi et ST siem i SR ST siea
I 3 2

(a) 280 (b) 130 {c} 620 (d) 400

If the production of company D is h times of the
production of company A. Then h equals.

aft D A F IARA A FE B ST T h AR A
h fra® auR 37

(a) 2.5 b 12 (c) 1.8 d} 1.5

If x% of demand for company C equals demand
for company B, then x equals:

s FT C I TN F 1% FH BF W1 H TR, W@
x Tereh TR 87

(a) 20 b 60 (c) 4 (d) 24

The ratio of the number of companies having

more demand than production to those havmg;

more production than demand is:

Wﬂﬁwma@mﬁﬁmaﬁtmﬁsﬁﬁ

@2:2 ) 3:2 (02:3 (chw
If company A desires to meet the detﬁ@nd by
purchasing surplus production of-a company,
then the most suitable compan$ig:

Az A fret it % orfesis i, wfe aroef win
F W F A E, mmwmﬁﬁﬁ%7
{a) D ) E B 7 (d}C

penditure of a com-
60000, The various

heads of expendlture;t té: I%’ are indicated in a pie

chart given below

se heads are:
¢ Raw,materials
""FsCenveyance

~ Blectricity

2 Overhead expenses

L.
IL.
11
v

fdw maﬁqwﬁ@mﬁm-@am%oom%nm

F 1 IVH v o) 5 frefaten o 9 | <o
™ # 3w T
I. F== o
V. Suftema

11, ufE=a 111, faereit

Wizard of Maths - Rakesh Yadav Sir

<

108°
Study the pie chart and answer Question No.

W iy iR wed gEn % IW i)
383. What is the amount spent on overhead ex-
penses?
Iufema w1 gl = R?
(a) T15,000 (b)Kl&,DOO
() 10,000 ) 342900
384. Total expenditure on convgyeﬁgy:e is:
TaE W FA =
(a) ¥15,000 : (bmo 000
() 710,000 g o (d)T12,000
385. What percentage taf total expenditure is on raw
materials? %,
F WE W a‘lf or @ e v 8
(@) 30% = ’@, Yo o (¢)23% (d) 25%
386. What Rergeﬂpage of total expenditure is on elec-
triéit e
fasiell WP Fo =9 &1 e yhawa @2
. (#.25% (b) 30%  (c) 20% (d) 23%

Direc‘%@s(SB’T—GQO) Following pie-chart shows the
q;'cen%age distribution of the expenditure incurred
in pu‘bhshmg a book. Read the pie—chart and answer

*.the question.

Prdor.-

frefafem ar-vd & f&l y&F % 79 7 gT
“erd w1 wfaer faawer gwim w #) wE-WR # SeAEA

Ffu st gvAt @1 w2

Various Expenditure (in percentage}
incurred in publishing a book

T & wenee § g fafaw @ (wfvem )

PROMOTION
COST

qcE" T

PRINTING COST
O AT

BINDING COST
fameadl emm
20¢%

PAPER COST
Eaus ESINGH

25%

(LDC 6-12-2015 Morning)
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387. Royalty on the book is less than the printing 392. The percentage increase in the production of
cost by: Company Y from 1996 to 1999 is:

T T e, qE0 arE ¥ R #w 82 1996 & 1999 7% Y ®wH & I W fRer wiowm Iis
1, g

(a) 333%  B)20%  (25% (@)% @55% (B 0% (Q60%  (d)40%

388. If 5500 copies are pubished and the 393. The differnce between the production of com-

tranportation cost on them amount to I82500, pany Z in 1998 and company Y in 1996 is:
then‘ the selling price of the book.so that the 1998 ¥ Z FI 3iT 1996 ¥ Y w0 B I & 9 =
publisher can earn a profit of 25% is: s 8
afz 5500 Wi wEIE 1 ST € 3R I W wfiagw @ ‘
282500 o &, F T W Y TR N B e f (a} 20,00,000 tonnes /A (b) 10,00,000 tonnes /A
ST 25% T T TR (c) 15,00,000 tonnes /@ (d) 25,09,000 tonnes /1
(@) 7 191.50 (b) T 175 394, The average production foﬁﬁ& years in maxi-
(¢} T 150 (d) T 187.50 mum for company?

389. If for a certain quantity of books, the publisher wia a6l # aifEa SR ﬁ?ﬂﬁm aTi!?l st &2
has to pay ¥30600 as printingcost, then the ay (4B
abm(;{ur}t of royalty cost to be paid for these (c) X and Z/X #R Zw (d X

ooks is:
; 395. The percentage o@r?ﬂuchon of company Zto

b TRH N HS HOA F Fer e E S ?} & the production of chimpany Y is maximum in:
4 ¥30600 1 WA FT & A T TR e Faed 2% % T ST FTH F T T SR o
a1 fEa ofn w1 g wen gm? st T

(a) T19450 (b) ¥ 21200 (c) ¥ 26150(d)T 22950 (a) 1996 %b) 1999  ()2000  (d) 1998

390. The central angle of the sector corresponding p..o ctions[39€-399) The Expenditure of a in a
to the expenditure incurred on Royalty is: month is repfesented by a Pie-chart. Read it and
Toedt T gW @ B ITET YR F1 DA HO W ENM?  andwet. the questions.

{a) 54° b) 48°  [¢)24° (@ 15° ﬁggpqa:qﬁanwmmmwréaﬁﬁmw%m

Directions(391-394):- The bar graph provided below %m;ﬁfﬁq AR v w TR ﬁﬁm
gives the data of the production of paper (in lakh ¢ ; .

tonnes) by three different companies X, Y, Z over the
years. Study the bar chart and answer the fo]lowmg’*
questions.

frdor:- ﬁ@wmmﬁ@ﬂmmaﬁﬁﬂmaﬁmﬁ
W(maﬁ)maﬁmwé‘lmﬁ#mm
e, sl Wt @ sw S %

o
[=

Quantity in Lakh tonnes
i o ce g i)
(S
[ R=

LT T TR IS

2000
40
50

E-R e e 2 (LDC 6-12-2015 Evening)
391. The ratid,ofthe average production of company ~396. The total money spent on clothes and miscella-

X in the ];iénod 1698-2000 to the average pro- neous items are:

duction of company Y in the same period is: (a) T 3600

1998-2000 %t sfafy & X FF # ofea IwweA oin &t (b} None of the options f%T 7 fawedi & 4 ¢ T
safy § Y I & oied Seamd w1 o w82 {c) 22000

{a) 24:27 (1) 23:25 () 25:26 (d) 27:29 (d) T 900

2] Wizard of Maths — Rakesh Yadav Sir 880
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397. The ratio of the amount spent on food and
clothes?

i i aol = TE # W T FouE Fn 8?
&4:5 b) 4:1 [(¢)2:5 ds5:1
The % money spent on food compared to house
rent is by?

e f&d F gem o o W EE % o '@l w12
(a) 50% b 12.5%

(¢} 25%

(d) None of the options &t 7t fawedl ¥ | FE 78
If the total amount spent is ¥ 7,200, Find the
amount spent on food?

7fs @4 ® T A W T 7,200 F 95 R @ F
¥ af TaRe?

{a)T 6000 () T4500 (¢)T3000 (@)X 1500

Directions(400—404) : In Question Nos. 601 to 605,
Study the following bar graph and answer the ques-
tion.

398,

399.

g ; Prafafed w7 @ 601 B 605 T, R UTH HI
A Hifw 3R 9w @1 S sy
8¢
o 65
60 F 60
50 ‘7 '

SHE T I {10000 H)

{(Pruduction of Fertilizer {in 10000 tonnes|

1995 1996 1997 19%99 2000 2001 2002

\EARS T

cBne in the production of
0 1988is:

(@) 23% w{% B 5% (©26%  d)27.5%
The percepta.ge increase in production of fer-
tilizes in 2002 compared to that in 1995 is:

2002 ¥ SatH B 3T H 1995 ¥ 3 # gern W
frm wieww 3 €2
(@ 220%  (b) 240%

401,

(c) 180% {d) 200%

HUH % SAEA ¥ fona Wfawa g gen? 407.

- Wizard of Maths - Rakesh Yadav Sir—

402, The average production of 1996 and 1997 is ex-
actly equal to the average pruduction of the
years?

1996 3R 1997 F siwd I i a6l F shoa e

% faega IUR @17

(a) 2000 and / 3R 2001 (b) 1995 and / 3R 1999

(c) 1995 and / 3R 2001 (d} 1999 and / 3R 2000

The number of years, the production of fertiliz-

ers was more than average production of the

given years is:

o T o , A T Seared AU T A @ sia seRE

q aAfus wn? j%?

(a) 1 (b) 3 (e) 4& % (@2

The percentage 1ncreasgm~gpr"ﬁﬂuct1on as com-

pared to previous year is ma}umum in year:

I H qﬁaﬁaﬁwﬁuﬁvﬁﬁ%ﬁaaﬁaﬁmn@’

(a)1999 (o) 1997  (c)2002  (d) 1996
#{LDC 20-12-2015 Morning)

Directions(405—440 ).; Revenue earned by the Cen-

tral Government i§ gﬁ in Pie-chart. Study the pie-

chart and answér 4,4:[uest10ns

403.

404.

A= Custom duty/#m ==
B= Other/ ™
C= Income Tax />R

D= Corporation Tax/ fm &

E= Excise duty/ I@=a o=

“ 405. The ratio of revenue earned from excise duty

and custom duty to that of other is

TR, I AR Hi ek § sfda T w1 ST S
gt & o1fsia Tora | wand)

@11:3 () 11:2 (0)11:4 (d11:5

If the income of Central Government from Ex-

cise Duty is 28,618 crores, then the total rev-
enue earned by the government is

7fy IeZ Yo W FE TER 51 Aeh 3T 28,618
FUZ TG B, @ TEHR g A FA T FAwl

(a) 58,900 crores/®J%  (b) 47,200 croves /T
{c} 69,800 crores/®E  (d) 45,600 crores /&S
If the percentage of revenue earned by the Cen-
tral Government from Corporation Tax is x
times to that of the percentage of money earned

from percentage of money earned from Excise
Duty, then the value of x is

Ify 2 TEHER-F I | Q] i 3R 9w =\
T, 3K Y A s B A oftr & wfewme @ x
o 2, @ x @ AH S

406,

(881



41 9 14 41
@ B ©a @5
The ratio of revenue of the Central Govern-
ment earned from the Custom Duty and Income
Tax is

F% WER A dm TEF 3R A | afsa e )

T I T

(a)14:41 ([ 9:26 ()10:9 (d7:13
Directions|409-413) : The bar graph is represent-
ing marks of a students in different subjects. Study
the bar graph and answer 5 questions.
Trdw : <5 o o forsit faemeff gro fafi= famedl o e o
Taiy Ty § <3 e W AeRE Y ik Frafafas 5wl 3
IW <

408.

(LDC 20-12-2015 Morning)

A
90- —
5 804 —
o
E 70-
£ 60~ -
S 504 E
S 404 - “8’— _ -
S 30- "E ol |- ﬁ E
3 < £ < v
= 10 2| (&l 15] |g| |&
o = = o -
0 - & 4 g g 2
gl 1=1 8] |& T

Subject (fawm) ——>
At what subject the student is sharp?
farenfel form fovm o &91 2
(a) English st (b) Mathemam:ﬁ n’r‘wa
(c) Science faam (d) History Eﬁﬁtﬁ
In which subject the student is poor?
fomedf frm o A w22
(a) English 310t (b) %dﬂ‘themaﬂcs T
(c) Science foam (d) Higtory 3fmm
What are the average [ rharks obtained by the
student?

ferenefl 3 s ﬁﬁfﬁ%ﬁgﬁ fF2
(a) 57 ), 63 (c) 80

(d) 80
What is th av;f&gc percentage obtained by the
student? % d

frﬂneﬁm Fi F1 sie wRwm wad)

{a) 80% -, = (b] 63% () 57% {d} 90%%
What is the ratio of the highest marks to the
lowest marks cbtained by the students?

farmeli gr i sifireram sl Wil = SR F TR
¥ &7
(a)2:11

=1

409,

410.

411.

412,

413.

b 9:2 ({¢)2:9 d11:2

415,

Wizard of Maths — Rakesh Yadav Sir

DIRECTIONS(414-418) : The bar graph shows the
foreign exchange reserve of a country (in million US$)
from 1991-1992 to 1998-1999. Based on the bar graph
answer the § questions.

dr : 76 aR W ® fedll 39 B 1991-1992 | 1998-1999
@ B faell g e =1 (fafern smfE ster o) =i mn
1 T9H YR W 5 vE F IR A

(LDC 20-12-2015 Evening)

5040

: %

: - : &
gx.fag,),qggg e 969 969 . o g%,q
414, The foreign exchange reserves ion 1997-1998
“sas how many times that in 1994-1995?

11> 1997-1998 ¥ fR¥ T SER 1994-1995 Ht Tom1 §
{(a) 1.5 b 2 (c) 3.5 dj 2.6
What was the percentage increase in the
foreign exchange reserves in 1997-1998 over
1993-1994?
1993-1994 Ft o0 H 1997-1998 # fagwii g1 Her
F fore i 975 792
(a) 8B0% b) 90% () 100% id) 110%
For which year, the percent increase of foreign
exchange reserves over the previous year is the
highest?
d o F ga | f6a @ fRyi qx siEr § ufem gis
it off?
(a} 1994-1995 {b) 1995-1996
(c) 1998-1999 {d) 1992-1993
The foreign exchange reserves in 1996-1997
were approximately what percent of the average
foreign exchange reserves over the period under
review?
19961997 ¥ faiy ug1 Her wiand safy & sl
fadeht T oer # o fore it of?
(a) 80% (b} 100% {c) 120%

416.

417.

(d 123%

882




418. The ratio of the number of years, in which the
foreign exchange reserves are above the
average reserves, to those in which the
reserves are below the average is:

7 =l A fadvh g wen siima WER B ofirs o 5T
%1 3l fom anl | 3R A | w9 @, W 99 ® AT
22

@3:5 b) 5:3 (c)4:7 dy3:7

Directions(419-423): Study the following table which

shows the amount of money invested {Rupees in crore)

in the core infrastructure areas of two districts. A and B
of a State, and answer the below five question.

frdor ; Frafafan afem #1 e Fifg fad o 1 & T ol
A 3t B3 #R soeEe o6 3 few 6 & ofe (v 30
o) =zt T 2 i Frefafea 9 WA sw Rl

(SSC CPO 20-03-2016 Morning)

DistrictfamA |Districtf= B
1556 [ 1995 | 1996

ore
Electricity/fem
Chemical AT
Thermal /A9

Solar/mdR

815.2
389.5
632.4
468.1

1054.2] 2065.8] 23651
476.7] 745.3 |986.4
565.9] 1232.7]1026.3
sa9.6] 1363.5] 17921
Nuclear/frer | 617.9|803.1] 1674.3] 2182.1
Total A 1 20723.1 3459.5 708 1.6{ 8352.0

By approximately what percent was the total invest-
ment in the two districts A and B more in 1996 as
compared to 1995 ?

1995 F g ¥ 1996 ¥ & fvai A @ik B § F@ faw
= T wiawe sfus gan?
{a) 18% (b} 24%
(©) 21% (d) 14%

The total investment
electricity and thermal energy in 1995, i ﬂthese tWD
districts A and B formed approximate w}:at per-
cent of the total investment made in that’ yeaf"?

1 3 forei A @R B d 1995, ﬁ’r‘a-{gae-ﬁg.,mﬁﬁaga
ﬁa‘mmﬂaﬁ*wﬁﬁmwmwmuﬁmgm?
(a) 47% (b) 41% A A
() 52% (d) 55% s ¥
In district B, the investment in which area in 1996

did show the highegt pe e increase over the
investment in that a¥ %9959

foren B H 1996%«#@@?&% 1995 & =4 &= 4 Fraw
1 sAfiran % o <o 2

{a} Chemic pl"b} Solar/9R

(c) Eleﬁ%yjhﬂ Nuclear /=afFmR

Approxlmateﬁ how many times was the total invest-
ment in 19 and 1996 in district B was that of
total investment of district A in the same years ?

1995 3ix 1996 ¥ f3en B ¥ %= faw 39 o« # faen A
¥ 3@ few 1 T e n a?
(a) 2.8 (b) 24 (o 1.7

419.

420.

421.

422,

(d} 1.9

p-.
.

Wizard of Maths - Rakesh Yadav Sir

423, If the toal investment in district B shows the same
rate of incrase in 1997, as it had shown from 1995
to 1996, What approximately would be the toal in-
vestment in B in 1997 ?

af fsren B Y 5 FRW 1997 ¥ 3@ @ gfe | # <o 2

faret 1995/ 1996 7% =it oft, 5t fren B H 1997 # =

R o A @ e

{a) Rs. 10020 crore (b} Rs. 8540 crore

(c) Rs. 9850 crore {d) Rs. 9170 crore
Directions{424-427): The bar graph shows the results
of an annual examination in a secondary school in a cer-
tain year. Answer the following four questions based on
this chart
frder: ﬁﬂﬁmﬂﬁmmﬁuaﬁﬁm
# it v B Somd @ i R e s w A
feu 9R we % WE IAR TEY i

(ssc CPO 26-03 2016 Morning)

Boys
Girls

)%?:

vii X X

e T Clas gm—s
42&@112 class in which the number of hoys passed is
% tn*earest to the average number of girls passed per
¢ § class, is
o wa - 2, Fr I T A e 9 we, S
wehFdl 2 W T 71 shwa dem @ freeaw 22
{a) VIII (b}IX g X (d) VI
The average number of boys passed per class is

i 2R T TR A WA W S R W s Tem e §2
(a) 78 (b) 72 {c) 75 (d) 70

The class having the highest number of passed stu-
dents, is

o T TR 3, fr IE W A Rl WA ¥2
{a)] VII {b) 1X (c) VIII {d} X

The ratio of the toal number of boys passed to the
total number of girls passed in the three classes
VIL, VIII and IX is

& VII, VI aen [X ¥ S+l ¥R ot ogs! @ wsfea &t
@ T W A feen 82

(a) 19:25 (b)21:26 (¢)20:23 (d) 18:21
Directions (428 to 432):- The Pie-chart shows the
result of a survey among 119060 people concerning

the use of tobacco. Study the Pie-chart and answer
the question.

fador; wE-w¢ § T F GO O ¥ §Eg 119060 @ B
THem § W SR F 9 v # we-= W s st sl
o Iwt it

425.

426.

427.

(SSC CPO 20-03-2016 Evening)
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OTHER TOBACCO
HABITS

WITHOUT
SMOKING
HABIT

180°
CIGARETTES

428. Number of people smoking Cigarettes is:
fame 4R i @ 9 g et 22
(a) 53905 {b)59305 (c) 59530 (d)} 11906
429. Percentage of People under survey, who do not
have any smoking habit is:
wEyw & ety 39 @l w1 ufowe = R faR el of wem
& quuE W A T 82

(a) 7.5% {b) 10% (c) 5% (d) 5.2%
430. Number of people preferring Bidi is:

E I @ @l W e feat 82

(a) 29790 (b)35718  (¢) 29765 (d) 37185

431.Number of Cigarette smoking people is greater
than the number of pipe smoking peopie by:
fere 9F 9 S w1 SR URY 1 99T w9 A oo
et sifue 22
(a) 59530 (b)47624 () 11906 (d} 29765

432.Let P be the percentage of people using Cigarettes,

: Pipe and Bidi as their smoking means and Q be

the percentage of people using other means as their
smoking habits. Then P is more than Q by:

HH wifee P ud @ afava 2 St ymee # o fame, grg

IR WSt T T ¥ ol Q T A woww # < R
% for ora frt oo 1 e 7 1P,Q @ e afumd?
% ~Directio (437 - 440): Study the following graph

(a) 85% b)75% (¢) 10% d) 25% .
Directions (433 to 436):~ The data given in Bar di;;
gram relate to the department wise admlss;c-n of‘az
students to BSc. {Honors) first year classes of-q cer-
tain college in the given five subjects. Study the
graph and answer the question.
fw : o sPmm ¥ U g awg Rl S w0 Ao,
() v o w1 wanst § 320@%@‘%1‘&&#@ R DI
mﬁmﬁlmmawﬁm%m¢wml

(8SC CPQ.20-03-2016 Evening)
801 . e
701

62 61
60+ .

. "D Meie student
""‘::I,‘ . Female Student
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433.The total number of male students who got ad-

mitted in Mathematics and Economics as com-

pared to the total number of female students

getting admission in Mathematics and Econom-

ics is:

TR 3R sefone ¥ waw oF At (afEen) oEet w3

Hen &t ger U T o v 4 6w 9 W (TE)

JE F) FH we fwat 22

(a} more by 4.2% (b} more by 12.8%

(c) more by 14.8% (d} less by 17%

The subject which the female students are find-

ing difficult as compared to othfg subject is:

(wiean) oA mfaw’faﬁgmﬁﬁmﬁwﬁwﬁ?é

LR Y

{a) Statistics/@iTEast (b} Ec@nomlcs/a&fw

(c) Chemistry/T@m@  (d) Mathematics/7for

The difference of the c,hozce of the subject be-

tweern male and femaie students is maximum

for the subjeey. ; "

(gea) mﬁﬁngn%m;ma}aﬁaﬁaﬁma}wﬁw

e fawa a]ﬁ%—cm 2

(a) Chemlst‘& /WA (b) Economics /efameR

(c) Statistics’ jmﬁmﬁ (d) Physics/ «ifa®t

436.The subject in which the difference in the num-
_ber of male and female students is minimum in:
Ie%) orl wE (afeen) swel w1 Wem § A few fawg

. ¥

[a) Chemistry /rad

{c) Statistics /et

434.

435.

(b) Physics/ wifa@t
{d) Economics /3fare

carefully and answer the given questions (638-641):
T4 U T WE 1 wE EE st w5 e R m e (638
641) & |

(SSC CPO(RE. EXAM) 04-06-2016 MORNING}

Production of electrical components
faga I =1 I

70
60
50
40
30
20
10
0

A B C D

#2010 B 2013 02012
437. Which company has the highest average pro-

duction over the three years?

= 4 A 3R 9@ FF A o § v e sien s
foran 27

(a) Company A /FFHI A
{c) Company D /%51 D

(b) Company C /&wt C
(d) Company B /%9t B

884



438.The total production of Companies A and D in
year 2010 is what percent of total production of
four companies in the year 2012?
T4 2010 A T A sR D # FHo 39UEA 3¢ 2012 § WW
Fofel ® FW I w1 fan w2
{(a) 57% (b} 55% (c} 52% (d) 61%
439, Which the drop in production of company D from
year 2010 to 2012 in percentage?
ad 2010 ® 2012 T ®7 D W A=A | firme fam
wiawma 2
(a) 18% {b) 33.3% () 50% (d) 25%
440.What is the ratio between average production
by company B in three years to the average pro-
duction by company C in three years?

" T # FTi B o 7 C 9 sftud I ® d=9 T

Direction (444-446): The pie chart represent the
distribution of cost of productionof a firm in different

purpose. Total cost of production of firm is Rs. 720
lakh.

TF FH $ IAEA OFE @ fafa= o9 o faam v sma o i
T %) o F1 H@ IeRA @@ Rs. 720 @ )

A = Cost of raw materials
o WE H AE

B = Cost of packing materials
Hw et &1 wE

C = Cost of labour

a9 Hi T

D = Maintenance cost
@ A

Ceuici ¥
@1:2 (b)a:3 ©3:2 d2:3 -
Direction (441-443): ‘The following columq repre- 90°
sents the marks obtained by five students in three
different subjects our of 50 marks in each subjects.
Studey the column carefully and answer the ques-
tion given below.
frdadresl g iR i e F e W= 509 9
T 3 T T 31 T (FSRE) F AE W SR AR A Fioaet
fu W & IW T .
(8SC CPO(RE. EXAM) 04-06-2016 EVENING) \\
130 % g B
S —
100 g B {SSC CPO(RE. EXAM) 05-06-2016 MORNING)
i it

10— —faer e o

T

Anjana  Mittal Cham

B LI
% Math DPhgl.rs:cs i
441.Find the approxunate d@ence between aggre-

gate percentages é ﬁar@ obtained by Charu
and Punit in all th.r& dubjects.

9% 3R T\ g H wra i & FA W@
F I AT \
(a) 2% (b) ¥ % (d} 9%

442 . Find 'tentage of marks obtained by
Manish. ¥#ig0 W@ #& = vfovm 7@ H

(a) 33%% *b) 50% () 66%% (d} 60%

443. What is the sum of marks obtained by Mittal and
Punit in chemistry?
fave ok i o @R 9 wa sE W oam feen ®2
(a) 70 (b} 50 (c} 100 (d) 60

6¥ 444, Find the difference between Maintenance cost

Wizard of Maths — Rakesh Yadav Sir

and raw materials.
TEEE A 9 el Wi B e % 9 AW T\ H

{a) Rs. 50 Lakh (b) Rs. 60 Lakh
(c) Rs. 70 Lakh {(d) Rs. 45 Lakh
445. Cost of packing materials and labour together
amount to:
e gmfiml 3R om 1 whafaa awm feed &
{a) 250 lakh {b) 430 lakh
{c) 300 lakh (d) 220 lakh

446.1f cost of production is increased by 10%, then
the new packing cost will be

IEA WA 10% g 9 W, 7§ e o fee g
{a) Rs. 200 lakh/¥/@ (b} Rs. 220 lakh /@
(c) Rs. 180 lakh/@m@  (d) Rs. 150 lakh/ra

Direction (447-449): The following pie chart shows
the export of automobiles of India to the 10 coun-
tries given below in 2014. The 10 countries imported
47.8% of the total export of India. Observe the chart
given below and answer the following question.




4= fou g e wE § W & g 2014 § 10 390 i
f T SiviERen =1 J@i@ TN} 10 | A 9@ B FW Faik
#1 47.8 sfom oaa fra AR Ry mowd W fem w ¥ ol
fyafafaa om 1 R 2

Bangladesh
Unted states $592 Imillion
$1.2 million Lot
United 8.40% Colombia
Kingdom $428.9 millicn
$637.4 million 3%
4,405

UAE
$4336

Million, 3% Migeria §346.8
Turkey $580.4 million,3.80%
Miltion, 4%

Srilanka $BES Smillion
$596 9miltion 6.10%
4.10%

(88SC CPO(RE. EXAM) 05-06-2016 EVENING)
447, Which country is the fifth largest importer of
Automobiles from India?
T W 20 YR A EveEa w1 o vey 99 SEEE 39 87
{a) United Kindom (b) Bangladesh
{c} South Africa (d) Sri Lanka
448,  What is the average of imprts of the countries
UAE, Bangladesh, and Sri Lanka?
g, wireRy AR e F1 oie aEE feen 22
(a} 580.5 million; fafam™ (b) 618.6 million/fuferm
(c) 473.7 million/ffd@3 (d) 540.8 million/ffam
449, The number of automobiles exported to United

States is roughly equal to the combined export
to which two countries?

o 9 2w & wym frafa @ o &7
{a) Sri lanka-Turkey/ sidH1-gH1
(b) Sri lanka-Bangladesh

sttt e B %
{c) Mexcio-UAE/AfrFt-qud R
(d) United kingdom-Turkey ' Y
T fEmes- Tl g “i

40.01

p 38.51
2977 3365 32.85 3404535 96

24.35

) | 1 ) 1 ) 1 | k 1 I
2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014
Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan

(S8C CPO{RE. EXAM) 06-06-2016 MORNING)
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450. What is the approximate percentage difference
in average price of Petrol in 2004 and 20147

2004 &R 2014 § e & ofoa geg A o fe i
w1 A &7

{a) 98% (b} 100% (c) 102% (d) 105%

In which year the difference between average
prices of petrol and Diesel is minium?

g o6 ¥ T2W ot $m P ofa ew @ W sia gEem #2

451.

(a) 2005 {b) 2009
(c) 2014 (d) 2004
452, What is the average of dlesel prices over the

years 2006-20127 ‘%
2006-2012 % a9 I wiﬁm‘gﬂm L2

(a) 36.47 (b) 37.34 "“%
(c) 35.67 (d) 38.%7 R
Direction {453-454): Stadghment is a data regarding

export and impoxt of“% pany over the years.
Answer the quest gvlvm below.

4w Fwh @ o s frk @

vﬁ?ﬁ%tr—ﬂt gsnl‘;‘ﬁ‘fﬁwéq

%’Value of exports (in ¥ lakhs)
T fyEle w AR (e H)

0
2009 2010 2011 2012 2013 2014

Value of Import (in ¥ lakhs}
| T A (T orE W)

400
350
300
250
200
150
100

50

2009 2010 2011 2012 2013 2014
(SSC CPO(RE. EXAM]) 06-06-2016 EVENING)

453. What was the percentage increase in imports

from year 2011 to 20127
A W o9 2011 8 94 2012 § fea wivam =1 gf f?
(a) 25% {b) 40% (c) 20% (d) 50%

454 In which year the difference between the

imports and exports was minimum?
9 ad sram o falm & @9 1 NN wEE HH o
{a) 2009  (b)2010 {c) 2011 (d) 2012




455.In the following pie charts percentage of student
studied A, B, C and D in year 2014 and 2015 are
shown.
frefafam wE-=rd § 2§ 2014 ik 2015,A, B, C sk D
1 Ao w0 I freia 3 s 9 W @

Year 2014 =i 2014 Year 2015 =¢ 2015

\VA

40%

20%

Total students in year 2014 and year 2015 are
3600 and 4000 respectively.

T4 2014 3 2015 % o frneRl w09 3600 it 4000 29
Number of student who studied subject B and C
in year 2014 is how much percent less than
that of year 2015,

74 2014 ¥ fmg B 3R € wed ot frenfoal # wem o

2015 ¥ 32 T84 gt 9 fra wfaeE 8 #1
(a) 37.5 (b) 27.5
fc) 47.5 (d} 32.5

Direction (456-459): Following table gives details
about the percentage change of the population in a
particular town for given years. Go through the chart
given and answer the question that follows:
F=iafEd ofd f v el | R TR B Sreen @ wfew
vferda 1 =9 #1 i oW W W@ st v # 3w

Percentage increase in population
T ¥ ufem ghs

-
<

L I e S e I = Tt [+ Y =]

AM) 07-06-2016 MORNING)
wse 8 years has the highest

(a) 2008\

(c) 2010 N, {d) 2011
457. What was "the population of the town in year
20097
2009 ¥ TR T FAEE a2
{a) 3 {b) 5 {c) 4

(d) can't be determined

=l
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458. What was the percentage increase in population
of the town from 2008 to 20087
2005 9 2008 7% TR & TGN 5 1 9w F= o
(a) 19%
{b) 33.33%
(c) 22.6%
(d) can't determined
459.How many years witnessed a decrease in
population across all the given years?
e T Hyt anl F A frad o Seem § e #2
{a) 1 (b) 2
(c) 3 (d) O LR
460.5tudy the following b ‘\gﬁgﬂ showing the
percentage of children who at first grade

level, grouped by their grade level Jn an Indian state.
For example, in 2008, 88% of the children from

Standard 3 could read t from standard 1. Now
answer the following, ur?‘ﬁuesions based on this

3

ﬁﬂlmaumrh‘ #| T 9Rdg N § Tem i
LR R F TATT W TR U TR B MR W
WE

TG g% of 39 WF § WR W iR 9% 9¥4 # IW
qg?h

) : 2006 2007 2008 2009 2010 2011

% C I T

5td 5

Sud 1 S5td2 Std3 Sud4

In the year 2010, what is the approximate value
of average of all Std 1, 2, 3, 4, 5 children who
could read the Std 1 text?

¥4 2010 9 7 FwAl 1, 2, 3, 4, 3R 5 a1 w1 2w
TR 2 N FN T B TS H R oEE D

(a) 49.2% (b} 38.6% (c) 34.6%

(d) Data insufficient

Direction (461- 463):Study the following graph
carefully and answer the question the question given
below.

= mMF F eArgdE wW R R Ry w1 sE S

The graph gives the three types of mobile phones
manufactured by a company over the years.

= T v T F uw 7 g e oheme e @ @9 ve 5
zain #:




(S8C CPO(RE. EXAM) 07-06-2016 EVENING)

461.In which of the following years, the percentage
production of type Y to Z type mobile phones is

Production of mobiles {in thousand)
W w1 TR (FA H)

2008 2000 2010 2011 201

| ] )
Type X Type ¥ Type 2

the maximum?

firet 9§ 8§ frg o o, Z YR R AEEA BF # e | Y TR

F HiaRA ©F 1 Tfawa SearA firad 32
(a) 2008 (b) 2010
(c) 2011 (d) 2012

462. The total number of all the three types of mobiles
manufactured was least in which of the following

463.What is the percentage drop in the number of Z
type mobiles manufactured from 2009 to 20107

T 2009-2010 ¥ 79 9% 998 T Z TR & g 3
wem ¥ frat whwm % firee g @2

(a) 25%

{c) 33.3%
464.The slope of the given line is:
ERHE (Rl

E .:"“ea,f"‘"é
(a) PM\;WE

(b) 50%
(d) 30%

k]

years? )

frm 6 % f5g ad A 9 diasel W H@ IR N 27 w}Nega$e/m

(a) 2011 (b} 2008 “{c}:Undefined J srafuia

(c} 2010 (d) 2012 - (& Bero/TA

| ANSWER KEY

1. b 31. (d) 61. () 91. (@) 121. (@) 151. (@) 181.d) | 211.4) 241. (b} 271.(a}
2. @ 32. (g 62. @ 92. fa) 122.(9) 152. () 182.(d) 212.(c) 242, (c} 272.(c)
3. (o) 33. (& 63. (b) 93. o) 123. () 153.1c) 183.(c) 213. 1) 243. (b} 273. ()
4. b 34. (8 64. () 94. (d) 124. (d) 154.{c) 184. (b) 214. (a) 244, (a) 274. (a)
5 0 35. (o) 65. () 95. {a) 125.(c) 155. () 185. (a) 215. (d) 245, (c) 275. (c)
6. (9 36. ) 66. (b) 96. {b) 126. {d) 156. (b) 186.id) | 216.(0) 246. (a) 276.(d)
7.0 37. () 67. (d) 97. (d) 127.a) 157.(d) 187.@@ | 217.(8) 247.(d) 277.1d)
8. @ 38. ) 68. (c) 98. (c} 128.(d) 158. id) 188.0) | 218.(a) 248. (d) 278. (a)
9. (d | 39 @ | 69 @ | 99 (@ 129.{a) 159.(c) 189.@@ | 219.() 249. (a) 279. (a)
10. @ 40. (@ 70. (c) 100. {d) 130.{d) 160. {d) 190. (b) 220. (a) 250. (b) 280. (3)
11. B 41, (M) 71. fb) | 101.{d) 131. (a} 161.{d) 191.6) | 221.0) 251. f¢) 281.(d)
12. () 42. 72. (¢} 102. {a) 132. (@) 162. (a} 192. {b) 222. (d) 252. (b) 282. (b
13. i) 43. (a) 73. () 103. (b) 133.(a} 163. (b} 193.(a) | 223.0) 253.(¢) 283.(c)
14. (d) 44. (b 74. (d) 104. (b) 134. (¢} 164. (a) 194.(c) | 224.(c) 254. {a) 284, {a)
15. () 45. (o) 75. (o) 105. (b) 135. (a) 165. (d) 195. [c) 225. {a) 255. {¢) 285. {a)
16. {c) 46. (c) 76. (a) 106. (c) 136. (b 166. (a) 196.(c) | 226.(3) 256.(c) 286. {c}
17. () 47. () 77. (¢} 107. (d) 137.1d) 167. (b) 197.(a) | 227.6) 257. (b} 287.{a}
18. {a) 48. {a} 78. (d) 108. (c) 138.(d) 168. (c) 198.(0) | 228.(a) 258. {c) 288. (b}
19. {(c} 49. ) 79. (d) 109. (a) 139.(c) 169. (b) 199.¢d) | 229.0) 259.(d) 289. (b}
20. () 50. {d) 80. (c) 110. (b) 140. (a) 170. (b) 200. (c) 230. {b} 260. (b) 290. (d)
21. {a) Sl {a 81. (d) 111.(a) 141.(c) 171.(d} 201.(a) 231.1d) 261.1d) 291.(a)
22. {a) 52. {d) 82. (a) 112.(c) 142. (d) 172.(3) 202.() | 232.(c) 262. (a) 292.(c)
23. &) | 53. ) | 83. b 113. (b 143. b} 17319 | 203.() | 233.4) | 263.(d) | 293.(d)
24. (c) 54. (b} 84. (o) 114.(c) 144. {b) 174.(b) 204.{d) | 234.(a) 264.(c) 294, (c)
25. (@ 55. [c) 85. () 115.(d) 145. ) 175. () 205.() | 235.(c) 265. (b) 295.(d)
26. () 56. (a) 86. (a) 116. (b 146.(d) 176.(d} 206. (c) 236.(c) 266. (b) 296. ()
27. () 57. (a) 87. (M) 117.(a) 147.{9) 177.1¢) 207.{0) 237. (a) 267. (b) 297.{d)
28. (M) 58. () 88. (o) 118. {d} 148. (d) 178.{a) 208.0) | 238.(0) 268. (c) 298, {c)
29. () | 59. () | 89. W) | 119.¢) 149. a) 179.40) | 209.) | 239.4) | 269.60 | 299.¢)
(30 ) 60. (d) 90. (c) 120. (d) 150.(c) 180. (b) 210.f) | 240.(d) 270. (b) 300. {b)
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( ANSWER KEY \

301.(c) 318.(0) 335.(a) 352. (¢} 369.{c) 385.1d) 401. () 417.(d) 433.(¢) 449.(d)
302. (d) 319.(c) | 336.() 353.(a) 370.(d) 386.(c) 402. (¢ 418.(a) 434. (a) 450.(c)
303. (c) 320. (b) 337.(c} | 354.(d) 371.{d) 387.(c) 403.(c) | 419.(a) 435. (af 451.(c)
304. (b) 321.(d) 338. (o) 355.(b) 372.{c) 388. (d) 404.(d) | 420.(a) 436.(c} 452.(c)
305. {a) 322. b} 339. () 356. () 373.0) 389. (d) 405. (b} 421.(a) 437.() 453. (b)
306. (c) 323.(0) 340.(c) 357.(0) 374.(c) 390. (a) 406.(c) 422, (b 438.(d) 454. (b
307.(a) 324.(a) 341.(c) 358. {a) 375. (b} 391. 1) 407.(b) 423.(h) 439, (b) 455. (d)
308. () 325.(d) 342.(d) 359.1d) 376.(d) 392.(¢) 408.(d) 424.(d) 440.(c) 456. (a}
309. (c) 326. (c) 343.(c) 360. (a) 377.(d) 393.1a) 409. () 425.(d) 441.(b) 457.(d)
310. (c) 327.(d) 344.(a) 361.([b) 378.(a) 394. {¢) 410.(d) 426. (d) 442.(c) 458.4d)
311.(a) 328. (c) 345, (¢} 362. (d) 379.(¢) 395.4g) 411.{a) 427.(c) 443.(a) 459, {b)
312.(d) 329. (a) 346. (c) 363. (d) 380. {d) 396. (b) 412.(c) 428.(c) 444.(b) 460.(c)
313.(c) 330.(c) 347, (d) 364.(q) 381.() 397.d) 413.(b) 429.{c} 445.(c) 461.(¢)
314.(c} 331.(c) 348. (b} 365. (a) 382.{a) 398.1¢) 414.(a) 430.(c} 446.(b) 462.(c)
315.(c} 332.(c} 349.(d) 366. (b) 383. () 399.c} 415.(c) 431.{b) 447.(d) 463.(c)
316.(a) 333. (b} 350. {a) 367. (b) 384. (a) 400. {b) 416.(d) | 432.) 448.(d) 464.(b)
317.() 334.(c) 351.{a) 368. {c) _ )
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10.

11.
12,

13.

MR

A B e o LAy 0

SOLUTION

B A A A o L P

326

384

{d) Total number of students appearing in 2004 = 310 +
395 + 106 + 1180 = 1991

1180
. Required percentage = Tggy ——x100 =

(b} Required percentage = x»100 = 84.89 = LC85%

= 59.26 = 59.3%

{c) Total number of students appearing in all streams
Year 2002 = 2106
Year 2003 = 2179
Year 2004 = 1991 (Minimum}
Year 2006 = 2298
{b) Total number of students passing in all streams
Year 2005 = 382 + 382 + 74 + 1326
= 2164 (Maximum)
= (check the table)

234 -228

(b} Percentage decrease = 534 x 100
- 09 . 2sex
T 234 " P

{c) It is clear from the graph.
(B It is clear from the graph.

Pe : _8____ 60 - 680 x 100
(a) Percentage increase 680
180
- GSOXIOO = 26.47%

e e

T e e i

Rmpwmeaind

///WMI]///MWM#W#W/W//I//WM#/

14. (d) We know that
100% = 360
1% = 3.6
= The angle for the students who have failed in math-
ematics = 30%
=30 % 3.6 = 108 °
15. (b) Total no. of students who failed in maths,
Language and science = 32% + 36% + 30%
= 98%
f d = —8 490
No. of students = 500 x 100
16. f{c) Difference between no. of students, who have not
qualified in maths and language = 36 - 30% = 6%
&‘.
17. udents who have failed in maths
430 + 36)% = 66%
18. ts who enrolled in N.C.C. Activity
19. (¢ Total%umber of students enrolled in debating club
and HRD club
+ 11}% of 1200
% of 1200
i z 5- 1200 x 100 = 288

: 60 ; ‘ 22 .
{d) Required percentage = Ex 100 = 400% 6%‘ 20. {d) Required percentage = -é—l-x 00 = 104.76%
200 . . 18+21 39 3
{a) School A = 275 x100 = 72,72% % - (a) Required ratio = —7=— = 73 = I
150
School B = x100 = 66.66% 22. (@) Eco club
225 Human resource development club
68
School C = x100 = 53 22 2
126 = T_f = T = 2:1
School D = ><100 666% 23. ([b) Required ratio = 144 : 72 =2:1
135 144 -72
() Only in case of ‘! 24. (c) Required answer = eroo
4 x term fee j* 4 x 70 = 280
tutaion fee = 790
280 = 3gge X 600= 120
(d) E
19 3 75 . _ 54° .
206k 5 25. (a) English % 360°X100 15%
0.09 .15 . X . 90° - 54°
{c) The n ts who failed in science is 26, (b} Required answer = Wx&’)o
2
500x oo = 160 ;gooxﬁoo Cw

= Remaining students who failed in other subject
= 500 - 160 = 340

= difference = 340 - 160 = 180

Wizard of Math -Rakesh Yadav Sir

=]

27 Percentage of B~ 22 %100 -
. (b} Percentage of crop 360° = 20%




28.

29.

30.

31.

32,

33.
34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

(b) Crop F (45°) = 1.5 million

—x1.5= ilti
355 - 5= 12 miltion

Total foodgrains =

(¢) 50% = 180°
Only option C, A+ B + C = 180°
{a) Crop F (45°) = 1.5 million
Total quantity of D & E (18* + 18°
_ 15
T 45¢
{d) Ratio of A & C = 3 x 72° :

= 36%)

x36° = 1.2 million

1%x36°=6:1

25
{c) Required ratio = 30 : 3= 12: 5

1
Too X 50-000 - 2 6,250

+ 30%) of 35, 000

25
{a) Clothes amount = ?
{a) Required amount = (25%

5
* 100 x35000 = ¥ 19,250
10 o
(c) Angle of Entertajnment = 100 —x 360°= 36°
25
(b) (—-10]% > 1,500
S5
5% - 1,500
2
10% —» 1,500 x —5"X10
Heouse maintenance (10%) = ¥ 6,000
15
{d) Angle of Royalty = 100 ——x360° = 54
{b) Printing & Binding (30 + 25}% = ¥ 110 %& p;
110 L
Total cost of book = x 100 = ¥ 200 Lt

{d) Book cost (100%)

55 %,
= T 200 %y

Printing cost (25%) =

100

108° \
3607 < 100 = 30% ‘

By option, only (a) is correct

(&) % =

{b) Average expenditure pepdentage = 5 - 20%

Printing and Bin%ﬂxpg iture are more than av-
erage expendituge %
{b) The chart is dw%:l nto 5 parts

360°

= 72°

It 1&‘@% Qn% c,xencllture
(a) Steel ™ Eiemient : Bricks = 36 : 72 : 54
- 2 : 4 : 3
High b diture < 108
{b) Highest expenditure = 360°
{c) Expenditure on labour = 360° 2

() Steel and Bricks total angle = 36° + 54°

«100 = 30%

= OQ°

47.

48.

49,

50.

:'%. 3
Js1¥’

52.

53.

54,
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0 100
360

= 25%

Expenditure on steel and Bricks =

11, 60000
100
= 6600
New number of people who prefer flute = 6600-2100 = 4500
4500 45

60000 1% = ¢ -

ia) Percentage of people who prefer either Sarod or Guitar
= 14% + 22% = 36%
Percentage of people who prefer either violin or sitar

(c}) People who prefer flute =

New % = 7.5%

= 20% + 14% = 34%
Difference of percentage = 36% - 34% = 2%
2
i = ——x60000 =
Required answer 100 ® 1200
14
() People who prefer Sagod = 60000><Ea = 8400
. i
B 9
L Py = —-xb60 -
(d) People whe. pr e%-@ano 560000 = 5400

S Nl
Now,162% o@w 2x5400 = 900
ﬁ f‘x.

Pe

¥ i 11
kﬁl‘ = —x60000 «
h efer flute 100 x 6600

900 + 6600
= 7500
7500

¥ e 75
Required percentage = 60000 ™ ol

= 12.5% -

New nunij er of people who prefer flute

{a} Required number of people
= {22% - (11+9)%} of 60000

2
= ——x 60000 =
100 ® 1200

{d} 100% = 360°

0)(16 -

. 0, =
- 16% = 750

57.6%
18% -15%

100
8%

(d) Percentage decrease =

3 1
- ——x1 -
SZX100 = =x100 =

{b) Let the total expenditure =
. Miscellaneous expenditure =

2
16—-%
3

Rs. x
Rs. 1848

— XX =

100 1848

1848 x100
= T4 Profit - 25%

1848 x100 125

. _ w222
Marked price of 5500 hooks 3 100

Marked price of each book
1848 x100 125 1

- 4 100" 5500 - Re 1050

[891]




55.

56.

57.

58.

59.

50,
61.

62.
63.

64.

65.
66.

68.

69,

70.
71.

72,

73.

74.

75.

76.
77.

78,

7o,

[c} 35% = Rs. 17500
. 17500
1% = 35
17500
{Royalty) 15% = 35 %15 = Rs. 7500
{a) Micellaneous changes
4% = Rs. 6000
Lo 6000
) 4
6000
18% = x18 = Rs. 27000 Ans.

4
{a) Both the lines in the graph intersect at 10:30 am

120
(b) Average Speed=? = 48 km/h
2

1
(¢} Time = 11:30 - 9:00 = 25 hours

{d) 80, It clear from the graph
(b Total sales in 2nd and 3rd year
= Rs. (1773 + 1115} = Rs. 2888 crore
(&) 10th, It is clear from the graph
(b) 3rd, 1t is clear from the graph

8730 +924 9654
2 2
(b} Required difference = (5345 - 1841) = 3504 Crores
(b} Section A = Section F = 34
{d} Regquired ratio = 34:31
{¢) Total number of students
=34+ 35+ 31+ 32+ 33+ 34 =199 Ans.

{b} Mean = = Rs. 4827

31 100
199

{d} Required percentage = = 15.571 Ans.

340 100 =110%

(c) Required percentage = .5

(b} Percentage decrease (2001} = 6%
Percentage decrease (2005) = %

Percentage decrease it least in 2001 4
{c) Required difference = (420 - 320)x1000

Required < 320 _ 8 time
(b} Required Answer = 200 _ O t1

(d) Percentage increase in 2003

Percentage increase in 2003 =™

400
t in 2004

s

Percentage increage in
{¢) Year 1999 — i__g_"-"_;_
%, 1000-500

{a] Per centage in r% W—xloo =100%
{c) Productig i/@ = 1500 quintals
: drerffise

Production = 1300 quintals

1500 -1300 40 .1
= 220100 = 221310
1500 100= F=133%

= 3300 quintals.
() Total accidents = 230+150+120+160+40+200+100 = 1000
Percentage of accidents invdving two wheelers and two

%100 = 23%

230
wheelers = 1000

80.

81.

82.

3.

84,

85.

87.

88.

89.

90. o

o1,
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-Y%Modaj A=
£ %, Modal B =

Percentave of accidents invdving gwo whhelers and

770x100
1000
:, Required difference = 7 - 23 = 54%
i¢) Two wheelers + Cars + Bases + Stationary vehiclers
= 230 + 150 + 120 + 100 = 600
600
1000
(d) . 360" = 1000
1000
360°
1000
360°

other subjects = =77%

x 100

= 60% Ans.

i*=

36° = x36° = 100

It is the accidents of stationary vehicles
40+ 200
1000 )x 100

24000
1000

:'m":c .t -
V60120 o0 Lo

{a) Required Percentage = (

=24%

A

(bl Reqired d;eren%% 1000
Reauired dod 'v«i§_"35x30+35x15 35x15
{c} Require 4n = 00 100 50
35x60

;’55@ ‘*

5+15) = -
gl AS+15)=—0 21 lakhs.
{d) Perc#atage variation
' 1

40-30
100 = 33 1o
30 3°

20-15 400-331e%
5 3

*x 100 = 25%

20-15
Modal C = 2%
35x15
- 100
44 =20
100
44x20 35x15
100 100

{a) B types mobile produced in 2007 =

B type mobile produced in 2008 =

Required Difference =

100 Lakhs = 355000
44+ 30

100 lakhs = 1320000

{b) Required production =

10
~35x—2
“100

10
‘B’ type production in 2008 = 44x—

100
Required answer

- [35x£+44x£}x_

ic) ‘B’ type production in 2007

15
100 100,100 = 118500 Ans.

(d) In 1997
Gross profit = Rs. 50 lakh
Net Profit = Rs. 25 lakh

15
20 100 = 37.5%

Rs. %(20+25+ 20+25) Lakhs

Required Percentage =
{d)} Required difference =

1
= ZXQO = 2235 lakhs.




92. (a) Year Gross Profit : Net profit
1994 30 : 10 = 3:1
1995 40 : 15 =8:3
1996 45 : 25 =9:5
1997 50 : 25 = 2:1
So, option (&) is correct.
; . _ 30+30+45+50 165 11 _,, o
93 (e} Required ratio = 4 s 5e 05 = 75~ 5
25
94. (d) Number of Hindus = Soxm = 20 lakhs
30-15
95. (a) Percentage decrease = ——~ x100 = 50%
96. (b} Required difference = 15%
97. (d) Number of Hindus = 12 lakhs
15% = 12 lakhs
1% = 2
AT
12
20% = —x20

15
Number of Muslims = 16 lakhs

ired = =35 _,100 = ogs
98. (¢) Required percentage = 85+ 35 = 29%

99. (a) Required ratio = 70 : 40 = 7 : 4

100. (d} Required ratio = S0 : 85 = 10 : 17

101. (d) Difference in 2010
= 85 - 35 = 50 millions

{a) It is clear from the graph

{b) It is clear from the bar diagram. The bar of west Ben-
gal is lowest

{b) The bar of West Bengal is largest Producer

{b) Total Production of rice = 24 million tonnes

i:i
24 12

102.
103.

104.
105,
Haryana share =

106.
107.

(c} Maharashtra
{d) Uttar Pradesh produces 16 million tonnes of

which is largest in graph
(¢} Total number of workers =
(a) Required ratio = 3 : 7

108.
109,
110,

348+5¢449+8+6+7 §

= Rs. 71600
112. 11 by car
360°

. (a) group = 1400 - 1500
Amount = 1450 x 9 = 13050
= 420 Ans.
113. (b) Car : Bus = 70° : 90° =: 9 or 21 : 27
114.{c) Number of stude ps Col g, Dy
_80°+90° LV

(b} Required amount = 3000 + 8800 + §
{c} Number of students who come to
70°
360°
115. (d) Number of styden

12600+12000+9600+11900 + 50 x 50°%
- ——x2160
360° Kook B

21

90° - 80°
; 8o
117. (a} Differente between the students of commerce and law

= 65°~ 45° = 20°

-, 100° = 1000

1° =10

20° = 200
118. {d} Required ratio = 100 : 120 = 5 : 6

116. (b) Requir =x100 =12.5%

119.

120.

121.

122.

-

128.

129,

130.

131.
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Nequjred Percentage =

© 100° = 1000
- 1000
100
1000
® = 60 =
360° = o0 2 3600

{d) Expenditure on Education in April

a7
=24000><m = Rs. 11280

Expenditure on education in May

- 25000 x =

100

12500-11280
11280

24000x18 25000x2
_ 100 100
=24 x18: 25x2
- 216 : 25
ic) Expenditure on grocery

- Qsoo

= Rs. 12500

Percentage increase = x100 = 10.82%

{a) Required ratio =

—x360° = Rs. 200000

63-36 100 =75%

. 81-54
{6} Required percentage= 31

x 100 = ZX].OO: 331%
81 3

> {d}) Expenditure on agriculture sector

72
=3¢ x1000 = 200 crores

. &) - 360° = Rs. 96000

1 96000
360°
115.2°
{cost of labour) 115.2° = WX‘QGOOO = ¥ 30720
(d) Difference of respective angles = 144°- 43.2° = 100.8°
96000 .
"+ Required difference = oo x100.8° = ¥ 26880

{a) Difference of corresponding angles
Physics and chemistry = 85° - 70° = 15°
Chemistry and social science = 70- 55 = 15°
(d) Sum of corresponding of maths and chemistry
= 90° + 70" = 160°
Sum of corresponding angles of physics and social science
= 85° + 53° = 140°
Difference = 20°

o+ 360° = 810
810
¢ = 20 =
20° = 2% 45 Ans.
(a) 360° = 810
. 810_9
=360 3

60° = %x60= 135
++ English Obtained 135 marks




132. (a) English + Physics + Social Science = 200°

Maths + Chemistry = 160° Income % = 323 ,100=25%
Required Percentage =£x 100 = 100 0 = 111% 148. (d) It is clear from the graph
- 360 9 9 149. (a) Number of studetns = 15+30+35+30+25+22.5+22,5= 180
110° 5 125 S
133. (a) Production of wheat = 360° ——x9000- 2750 tonnes  150. (¢) decrease % = “QEXIO(}: s = 155%
180 %100 Exports 175 _7
134. (o) C.P = — o~ = Rs. 150 151. (&) Fmports =175=166" 4
15015 After 40% increase in imporis
.. Cost of Papers = —— -~ = T 22,50 g = 4x 140 _560_56
100 A Imports = %780 100 10
20-15 Exports 7x10 70 5
135. {a) Required percentage = %100 =25% POTES _ - —===1325
@) Req pe 28 20 imports 56 56 4
. 108° %100 152. (b) In the year 2005
136. (b} Required percentage = =ooc = 30% Imports of company % = Rs. 180 crores
137. {d) Expenditure on labourers: Exports = 1.75 x 180 = Rs. 315 crores
360000 x 90° Exports of company y = Rs. 157.5 crore
Year 1991 = — 360° - Rs. 90000 157.5
.. Imports of company = ——— = 210 crores
864000 x 100° 0.75
Year 2001 — — 360° Rs. 240000 153. (c) Average producth,u
240000 -90000 1244+10@+72&;164?6+1240+1345+1560
i = X = :
Percentage increase 50000 % I‘;‘g 7
2 8834 VI
- 1665 % = = i@z QUINTALS.
138. (d) Expenditure on Steel Years, OI n‘];;;g an average production= 2003, 2005, 2006
50° “
Year 1991 = 360°XS60000 = Rs. 50000 =3
864000 1'_5&;1 ;g] Rate of percent dectine:
Year 2001 = Wxﬁo = Rs. 144000 kX - 1085-720 o
139. (¢} Two wheelers : cars % Year 2002 = 1085
-15:21=5:7
140, (a) Required difference = {36 - 21}% of 1400 A @,'y*‘ _ 13;)6855 <100 = 33.64%
- 1400x15_210
100 280
141. (¢} Number of officers who go to office by metro ér% 155, (b) Average marks = = =56
1300x 8 . o |
= o0 112 -W%f* 156. ((b) 3 members type of family is the most common
1400 =21 * 100 5
142. (d) Number of L 1400x21 o0, Y, i i
{d) Number of car uses 100 % 157. {d} Required ratio 20 3
20 : f =5 .
143. {b} No. of buss uses = "’.=-.-,-_ q =5:2
100 % 158. {d) Required ratio = 80 : 60 = 4 : 3 Ans.
144. {b)} Difference hetween temperatife } g
Sunday =39-23 =16° Y~ ) 70+40 110 .
Saturday = 42.5 - 24,4 18.5° (Maximum) 159. (c) Required average = ~——— =5
145. b) g;g::ﬁl‘g;m A 17:5 160. (d} Total number of students in 2008 = 170
’ 120 12 Students passed in Ist division = 20
140 26 k = 14 20 200 13
‘ . i = = x100=2 0 1122
160 3 - 8 . Required percentage = 170 7 1117 %
180 [ = 6 161. (d} Total students who passed in 2008 = 140
200 = 10 140 1400 6
_ 8 -, Required percentage = T5—x100=——=82-—-9%
-, Requi spbentage = — X 100=16% 170 17 17
L 50 162. {a) Percentage of passed candidates
Y LV +HV 120+200 6
146. (d) Median = 5 - 5 = Rs. 160 Year 2008 = SQF%
I1_1_4 140
147. 2001:=—==-=— = —x100
() E 1 4 Year 2009 190X = 73.7%
2002: J.75 .3 Year 2010 = 120

=100 =75%
E 1060 4 00
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163. (b Students passed with third division in 183, {¢) Totad students in 2003 - 04 = 1600
2008 = 140 — 80 = 60 Total students in law faculiy = 250

60 250
164. {a) Required percentage = o> 100 = 30% Percentage of studetns = J-oo% 100 = 15.6%

165. (d) Number of studetns passed with second class in 2000 = 50 184, (b) Percentage of increase in science students in 2003 -

50 125 1 04 over 2001 - 02 is
-, Required percentage = — - x100= ——=31— 600 — 400 200
160 4 2 = X100 =S—=x100 = 50%
60 400 400
166. (a) Required percentage = mxlOO =50% 185. {a) Percentage increase in year 1996
167. (b} Number of studens who passed with third class in . . 225-120 _ o
2002 = 10 = Ty 100= 87.5%
168. (cj) Number of students who passed with second class in Percentage increase in year 1997
the year 2002 = 130 - 80 = 50 (875-225) .0
169. (b) Required ratio = 45 : 30 = 3 : 2 = T35 ¢ = 67%
170. (b Production of sandal perfume in 1995 = 20% 186. {d} Average of total investment

Productionof sandal perfume in 1997 = 20% 1
20 = —{l20+ 225+ 375 +330+ 525+ 420)
Required ratio = ——=1

20 1
171. (d) Production of jasmine perfume in 1997 = 30% of 5000 gx1995 Rs. 332.5 Lakhs

200 $B00 + 500 + 400 + 600 + 460
1

30
= ——x 5000 = 1500 Ans. Average of sales =

100

172. (a) In the year 2007 _ 6
60 - 50 2 Ry
Decrease in percentage = x100 = 165% % = Rs. 410
leference ; - 332.5 = 77.5 Lakhs
. 60 + 60 100 187, (a) St t4, igarts = 2400
173. {c) Required percentage =mx S § ¥ommerce = 1000
2900 12
L120x100 ) a o0, " 1000 5 T CF '
90 188. (b) The pErcentage increase in Science Students in 2007-
300 Y -
174. (b) Average production flavour P = —— %8 over 2006-07 = wao
3 & 450
flavour Q = 3 — Maximum . T v - %:11.1%
300 A4
Flavour R = 3 : _ 33x120+33x120
% 189. (a) Required average Price =
60 - 40 1 2
175. (b} Percentage decrease = x100 = 352% 20 66
1 %
176. (d) Average production of flavour Q dur 8,%2009 == 5 - Rs. 3960
55+50+55 50 + 55 160
and 2010 = lakh bo 190. (b} Required cost of wheat = 36 x 156 = Rs. 5616
Average productmn of flavour P guring 2005, 2006, 191. (b) Required number of students in 2002
50+40+55 =15+ 60 + 120 = 195
and 2007 = bottles
14 192. (b) Required tage i 120129100 = o%
. equired percentage increase = = 0%
Required difference = “—'——"— = 5 lakh bottles 120

193.{a) Number of students
Year 2000 = 20 + 50 + 90 = 160

yvear 2001 = 30 + 60 + 110 = 200
year 2002 — 195
Year 2003 = 170

177. (¢} Total income =

Average =

178. (a) Income
179. (c] Reqyjred ‘
' 500000 x 55

180. (b) Hindok Rdstims = —og " 275000 194, (c} Required ratic = 50 : 160 = 5 : 16. Ans.
Yo = + -
181, () Hindus = S0t 2 - 1750000 1o :Z: ’SII,T,ZZJ’iEfiifEE sbore 60 - 35
B ol studetns in science = 400 om0 . Requi . 35,100~ 70%
400 .. Required percentage = 50
Percentage of students = ﬁﬂm' 29.6% 197. (a} Total no. of the students = 4 + 6 +10 + 8 + 5 = 33

-| Wizard of Math -Rakesh Yadav Sir



198,

199,

200.

201.

202,

203.

204,

205.

206.
207.
208.

209.

210.
211.

212.
213.

214.

(b) It is clear from the graph 217. (a) Candidates qualified under science discipline in year
Maximum no. of studenis got the maximum marks in 780 x 40

{20-30) interval. 2006 = W = 312
6
(d) It is clear from the graph = 1 5 =0.4 492
Year 2007 = 650"100 = 273
least no. of the studenis (0 -10] interval.
{c) Required ratio = 4 : 5 Year 2008 500x45 205
_ _ 1000 - 400 ear = 100
@) Required percentage increase = — oo > 100 45
600 Year 20090 —>  620x 00 - 279
= x 100 = 15008 1
400 as
{a} Required percentage decrease Year 2010 = 900*100 = 315
900 ~ 800 100 1,
Aot x100 = 11—=% 42
s00 100 = 300 9 Year 2011 =  850x Too - 357
{a) Percentage increase (lowest) = Year 2007 - 2008 A ,
200 Required average difference
x100= 20% (I t]
1000 b (lowest) - %{(279+315+357)—(312+273+225)}
g ired . 1200-600 160 - 100% !
(d) Required peroentge increase 600 b _ 5{951—810) &\,
Recuired _ 100+220+4300+200+250 1070 _ 1 %\w‘
{c) Required average= 5 =Tg ° = —x141 A4 47% )
{¢) Required number of students = 25 + 7 + 4 + 2 = 38 3 sw
{¢) Required number of students = 6 + 8 = 14 218, (a} Change 1n¥0 as¥ inerval ]
(b) Maximum Number of students in 150-160 class in- Height w No. of girls
ternal = 25 138 - m oo 04
o-ask . . . . . 07
bty Average production of whole duration=ﬂ= 79.2 = 79 1 .. ... 18
6 ' 150 55 . . . . . . 11
79, which is total production in 2000. G 4 155160 . . . . . . 06
(b) Number of people who read only English Newspa- ’%&% 160 — 165 . . . 05
pers = 123 + 206 + 325 = 654 ‘Requ.lred answer = 11 + 6+5- 22.

{d Total number of people surveyed = 608+586+742 = 1936, @;ﬁb} Take value of class interval 155 - 160 and 160 - 165
i.e. 157.5 and 162.5. Multiply them bf' their respec-
ta

380320 tive frequency and then clwlcle by total no. of girls =
Percen increase in barley =——————x100= 18.75%
9 tage ¥ =320 % {w 157.5%6+162.5x5
{b) Total production, 11
Wheat — 3700 million tonnes
Rice — 2000 milllion tonees _345+8125 17575 o
Barley — 1800 million tonnes 11 11

220, {a) Percentage of people below 36 years
= (20 + 18,25 + 16.75)% = 55%

% 55% = 22 millions

L TA=x9900 = 3700 22

100 N 1% = —

Other cereals —» 2400 million tonnes
«. Total = 9900

= —x100 = 37.4% 3
*T % ) / 12.6% = 22125 - 5 millions
(&) Percentage increase in " ' 55
160 221. (b Difference = (.9735 millions
Rice = x @ {18.25 - 15)% = 0.975 millions
400 , 3.25% = 0.975
190 0.975
Cereals = 38% 2 =
s ° 1% 3.25
4 R red . 2000_1800_200 . 0.975 .
. {d) Reqyire eWhee = ——-—— =" 100% - 335 *100 = 30 millions

= 40 million tonnes 17
. (b) Candidqte® qualified under area discipline in 2010 222, {d) Expenses on food = 40000x 100 - Rs. 6800
_ 20019 . .30 10
100 223. 100 100= Rs. 1440.
850x18 224, {c) Savings per month = §%
in 2011 = _16'6_ = 153

Required savings =

Difference = 171 - 153 18

I

>-x48000 - Rs. 3840
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225.

226.

227.

228.

229,

230,

231.

232.

233,
234.

235,

236.
237.

238.

239.

240.

=

{8} Difference of percentage = 25 -

5
-, Required difference = IEX‘FSOOO = Rs. 2400
(a) Food + Rent + Clothing + Miscellaneous = 108° + 90°

5+ 15 = 5%

+ 36° + 72° = 306°
Savings = 360° - 306° = 54°
{d} Expenditure of food is maximum = 25%
* Savings, 15% = Rs. 3000
3000
1% = —1 5
. 3000
(Food) 25% = 15 %25 = Rs. 5000
{a) Number of employees in HR department
5
= « 800 -
100 40
Numbers of females = 40 - 12 = 28

Ratio= 28:40 — 7: 10

(b} Numher of employees in marketing department =
24
—x 800 =
100 192
. 165
Required percentage = ExlOO- 86%
(b) Number of employees in IT department
20
= 800 x =
o0 - '®
Number of females = 160 - 74 = 86
. 86
*. Required percentage = SOOXIOO = 10.75%

(d) Total employees in Marketing department = 192

Males = 165
Females = 192 - 165 = 27
Required Ratio = 165: 27 = 55 : 9

241, (b) Difference in percentage for expenditure on trans-
port and taxes = 12.5 - 10 = 2.5%
15% = Rs. 2.1 crore
2.1x2.5
2.5% = T Rs. 35 lakhs
242, (c) Tetal expenditure = 5 x N = 100
N m 20
=5 *
243. (b) Percentage of (advertisement + taxes +
Research and development) = 15+ 10+ 5 = 30%
+ 17.5% = Rs. 2.45 crore
300% = — 5><30
Yo = 17.5 = Rs. 4.2 crore
244, (a) Total number of students in year 2007 = 190
Students who passed in first division = 30
30 300 15
i = x100 = — 15 —%
Required percent 190 19 19
245. (c) Total students in the year 2008 = 240
passed students = 180
i
246.
247.

g 140

I7-6XI00 = 82.35%
, 150
=-4100 - .
: 190 78.94%
& 180
f\;’ear 2008 = 5 ox100 = 75%

} It is clear from the graph.
Minimum sales is in 1989 =

%

55 lakh bottles

[c} Number of examinees getting more than the aerage /2#9’ {a) Average annual sales during 1988 - 1993

marks = 72 + 48 + 24 + § = 152 %
[d) Number of students who got above 80% m

= 24+8= 32 f _
H

i = ——x100 = 14
Required percent 373 * 1

{a) Number of students who got marks
below 80% = 72 + 48 = 120

Required percentage =

(¢} Number of students who got
4+12+26= 44

o
Required percentd \%XIOO = 16.11%
(¢c) Required numberd = 15+ 10 = 25
(a) Number of ’ ate s8ix or more
servings jgie +3+3=9
9 25
. o] J = —-——xlOO - = = ‘0
S R 72 > 12.5%
(<) Requ:;%i faber of girls = 10 + 8 +5 = 23
2’* 17.5-12.5
{d) Required percent= ——————x100
12.5
5
- 100 = A
125 40%
(d) Required ratic = (20 + 12.5) (10 + 17.5)

= 325 : 275 = 13 : 11
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25+6+19+15+25+30

120
Cool up = 6

"6 - 20 lakh bottles

30+35+30+25+20+20 160
Pep up = 6 T e

2
= 265 lakh bottles

(b) Sales of pep-up:-
Year 1989 = 35 lakh bottles
Year 1990 = 30 lakh bottles
35-30
3s

100

2350.

=100

. Required percent=

1428 = 14

251. 1989 =

1990 =

19-6 =x100 = E>(100
6 6

6 lakh bottles
19 lakh bottles

(c) Bales of cool up in
Sales of cod sip in

Required percent=

= 216%
(b} Sales of Dew drop in 1992 = 30 lakh bottles
(¢} Average annual sales of Dew-Drop
10+15+15+15+30+25 110

- 6 =—6“— = 18.3 lakh bottles

252.
253.

120
Average sales of cool - up = ? = 20 lakh bottles




254.

255,

256,
257,

258.

259,

260.

261.
262.

263.

264.

265.
266.

267.
268.

269.

270.

271.
272.

273.

(a) Profit of company during 2007= 45-40 = Rs. 5 crores
Profit of company during 2008 = 60 - 30
= Rs. 10 crores
Required difference = 10 - 5 = Rs. 5 crores .
{c) Average expenditure of the company
25+40+40+50+55 210
= = —— = Rs. 42 crores

5 5
Required answer = 2 years i.e. 2008 and 2009,
{c) Required percentage increase
60 -45 100 1

33-%
3

=100 =

{b) Total income of company
= {35+ 50 + 45 + 60 + 60) =
Total expenditure of company =

Rs. 250 crore
Rs. 210 crore

Required ratic = 25 21
{c} Number of wrist watches sold in 2010
= 28.7 lakhs
Number of table clocks sold in 2010 = 22.3 lakhs
28.7-223
i = ————— %100
Required percent 573 #
6.4
x100 = 2, 0,
223 =28.69% — 28.7%
{d) Required ratio = 195 = 7 : 19
30.7—9.5
i = ————x100
(b} Required percent 30.7 *
21.2
- 100 =
30.7 X 69.05%

{d) Wall clocks (from bar diagram}
{a) Percentage increase in the sales of table clock

274.

275.

276,

277,
278.

‘%5% N

_ A0 00 -
2170

Required percentage increase
_ 1454-1240 ..,
1240

214
= 100 0% =
1240x = 17.258%

Required percentage increase
2230-1870
= 1870

360
100 < L/
1870 x 19.25%

Total sale of branches Bl, B3 and B5 together hoth

18.89%

17.26%

—
)

=100

(d)

the years = 80 +105 + 95 +110 + 75 + 95
= 560 thousands
41 Recuired ragio o 15185 L 1407
(@) Required ratio = ¢5°95 = 180 -~ 9
(a) Average sale of branches Bl, B3 and B6 in 2000
80+95+70 345
—3 %thousands
Average sal§ o l&ches Bl, B2 and B3 in 2001
105+65 280 h d
= @?@; = 3 thousands
“*""*m 245
- =3-x100

Reqmred percentage 280

= MX 100 = 135%
9.5 o, ﬁf*
i i d d than ducti B
(d} ‘i):arg}:;:m(:s l:';avmg more deman production are Qm% _ z;g <100 = 87.5%
Companies having more production than dem@d "!B
and D) = 110-65
.. Required ratio= 3 : 2 ’*‘};M 279. {a} Required percentage = TXIOO
3300 + 1200 + 3000 £ 60 j%’_
fc) Required difference = 0‘@ K 45
L = —x100 = 69.2%
_ 2200+2700+1500+1800+1000 _ G 280 65
5 280. {a) Girls in Biology = 300
] Girls in all other departments
{b) Required percentage= ><10 = ‘ , 24% = 140 + 180 + 260 + 220 = 800
() Required ratio = 900 : s 300 1
& $‘3 . Required percentage = 0 x100 - 375%
() Take ratio, Required answer %ﬁm il 0.75 281 totel o 60 + 290 + 100 + 160 + 120 660
. unber = + + + + =
fc) Total production of stat + 14 + 21 = 41 lakh @ Tota]nnumber E?ys-ﬂs - 1100
Total production o state 15 + 18 5 18 = 48 lakh ot © &
41 < 48 4 I Required difference = 1100 - 660 = 440
{c) Average productip, __ - 1993
47 282 (b} Average number of boys = T = 132
5 ° 9.4 lakhs .
283. {v] Boys in Biology = 220
1993 - 94 220 1
. i = = 33—?’/
2 < 128 lakh ., Required percentage o = 100 3 o
pladuction of the five states in the year 284, {a} Required ratio = 140 220 = 7 11
21+18+15+12+7 73 285. {a) In class IX maximum students participated in exhibi-
= — = 14.6 lakh o
5 5 tion 75
{a) Maximum demand is Chemistry subject. 286. (c) Average number of students participating in cultural
c} Boton
© Y 60+45+45+30 180
R Lo _ 2580-2170 events = = —— = 45
(b} Required percentage increase = —_——— x100 4 4
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Required rati 75 LR
al uired ratio = ——————— e =
@) Rea (75+40) — 105 7
=25: 7
{b) Total number of participants in cultural events = 180
Students of class VIl participants in cultural events = 45
45

Required percentage = 180

287.

288.

)(100 =

25%

289,
290.
291.
292,

{bl Required answer = 4 patients

{d) Required answer = 4+ 3 + 2+ 1= 10

{a} Required answer = 8 + 7+ 5= 20

{c} Total number of patients
=1+4+8+7+5+4+3+2+1= 35
Patients of age less than 45 years = 1+4+48 = 13

13

Required percent = E

x100 -

37.14% = 37%

11
- —x35 =
(d) 11% of 35 = 7o~

Patients between 33 years and 40 years = 4
Patients between 55 years and 60 years = 4
{c) People in south zone =1450+1120+420+330+50=
People who take coffee at least once a day
= 1120 + 1450 = 2570

2570
3390

293. 3.85 = 4

294. 3390

x100 =

Required percentage = 75.811%

295. (d) Non west zone:-
Total people in north zone =
Total people in south zone = 3390
Total people in East zone = 2320
Total population of non-west zone
= 4840 + 3390 + 2820 = 11050
People who take coffee only once a week in
zones = 620 + 340 + 350 = 1510

1510 o
i = 100 - 5 ;
Required percent 11050 - l,f'% :&4&’

Number of people who take coffee more
a day = 410 + 310 + 700 + 1450 = 2870%
Total number of people who do notwéake coffee at all
= 950 + 430 + 620 + 50 = 2050["-.7.
Required ratio = 2870 “295@

=14
{d} Average run that was scored%é'fthe‘ players in the

70 + 10
second innings = —“w:: 40

4840

296. (b)

297.

298.

{c) Total score of thf ﬁr ﬁm.gs 60+50+70+30 = 210
299, i h

(d) Average score e dond innings

_ 80+50+ﬁ_iﬁ_; - 20
i @4@ L%
% 0460 -0
“'.4.“‘@3’ 2
{¢) Ratio of saving = 120° : 60° = 2 : 1
{d} The exp'gnditure on education is (70 - 54} = 16~

more than that of housing

., 16° = 1600

Lo1° =100

-, expenditure on food is = 120°

= 120 x 100 = Rs. 12000

300.

301.
302.

" ., 33% of Income = Market Tax =
&i@e!‘e to
(*
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303. (¢} Monthly income = 360°
. 360° = 36000 (Given)
1* = 100
Yearly savings = (60 x 12)° = 720°
= 720 x 100 = 72000
Total consumption

Number of monthly
= Average consumption of electricity in 2012

_600+700+400+300+200

5
= -’.2_215(_)9 =440 units

304,

(b)) Average =

Only in two months {July and August) the consumption
is greater than average consumption
{a) Total consumption of electicity in 2013
= 500+500+400+3500+500 = 2250 units
= Total consumption of electicity in 2012
= 600+700+400+300+200 = 2200 units

2250 — 2200
2200

27% increased
Difference in uu@t ‘Hnsumed in 2012 and 2013
Differencedin Julg. = 600 - 550 = 50 units
Difference i A‘hjgust = 700 - 500 = 200 units
Difference i a%eptempber = 400 - 400 = 0 uniis
Differen Ottober = 350 - 300 = 5C wunits
Differencé, i#*November 500 — 200 = 300 units
=y Novgmﬁtr it is largest
307. (a) Ave&ge*ﬁonsumptwn of electricity in 2013

22
. SO = 450 units
_[a Here, 100% = 360°

(4]
1% = 5

305.

Increased % = [ % 100] %

306. (o

165 crore

3% x Income = 165 crore

165100

= Income= =500 crores

= Then total income from other sources
{100-33)% of S00 crores
= 335 crores
309. {c] If total income in 1 year = 733 crores
= Income from income tax and excise
= {(10+35}% of 733 crores
= 329.85 crores

310. (¢} From figure it is clear.
311. (a} The Ratio will be LCDs in 2011 : 2013 = 9000 : 1200
- 3:4
312. (d) Average of Tv's production - Average of LCDs product
During the period from 2009 to 2012
(6000 +9000+13000+1 1000)
=
4
(7000 +9400 + 9000 + 10000)
=
4
39000 _ 35400 3600
a s = 4
313. (¢) Required Ratio
= 2009 : 2010
= 6000 : 9000
=2:3




314.

315.

316.

317.

318.

319.

320.

321.
322.

323.

324.

-{d} % decrease in number from 2011 to p.
170-156 Ry
- [T 100]% = §.249% (‘PP) ?

(c) Let the amount permitted to be collected = T x

x=4910x[]+£}

100
110
= 14910
[ XIOOJ
= 491 x 11 = T 5401 crores

{c) The amount require for compensation
= 11,486 - 9695 = T 1791
% increase in market borrowing
_ 1791
29952

(a) Total funds = 29,952 + 11, 486 + 5252 + 4910 + 6000
= 57600
57600 = 360°

29952

57600
(A+D)

(B,CEandF)

2
Required ratio = 1 }/
Demand B
Demand of F
3150
4500

{c} Required answer
Production of com. A

= x100
Demand of comp. C

_ 1450 Lo0% -
2600

{b) Average of students in 2008. 2009 and 2012
110+138+156
3 - 3

x 100% = 5.9% = 6% (appox)

then 29,952 = = 52°

{a) Required ratic =

(b} Required% = x100%

x100 = 70%

55% (App.)

A 4

= 134.67=,

(b) % increase in number of s p@ 2008 to 2011
170-110 o :
= [‘-‘_"HO—XIOOJ /El - 5 0 {App_,
{b} Total expenditurg = g, 00,000 crores
Amount spent on i Heatth = 10% + 54°

) +54°
+54° = 90°

will be 100000x 22 ~Rs. 25000
360°

(a) Required~percentage
Health «
= Total expenditure
54°
360°

100

x100 =

15%

o
404 ,%;ﬁi’
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325, (d) Required difference % = Defence — Non plan
= 15% - 36°
36x5 5
= 15%- % vo19= —
TT18 ” [ 18
= 15% - 10% = 5%
326. (c) According te the question,
: 18° N
Required = 30% — [360" x 100] % = 25%
327. () I 360° = 3,00,000
1°= 3,00,000
360
: 3,00,
Required amount = ————99-9—(54 ~18)
360
= 30,000 crore
328. (¢) According to the question,
{330 -260)
% increase =-————=x100% = 26.9%
0 260 ¢ 26.9%
329. (a}) Difference = {200 - "B00} lakhs
%‘ { ,00,000 lakhs
. % 150 _5
330. {c]) Value per%f %@96 = 120 = 7 =1.25
That is m rwm in the given option.
500-120
331. (0) Rer @fall in value—-(——) 100%
75% [Appro]
332. {c) 15% ¥ 2.10 crore (Given),
B ,ﬁ,
1 ;1% = crore
. %h%\ i 1% 15

=2.5% =219%25 _ 4 35 crore = 35 lakhs
333. (b) Required ratio — (20+12.5) {10+17.5)
32.5 27.5
13 11
334. (¢) 17.5% = 2.45 crore (Given)
1% = 2.45
17.5
2.45
Required amount = 17.5 x30= 4.2 crore
17.5-12.5
— =" %100 = 40%
335. (a) ( 12.5 J o
336. (b} For 1997 For 1998
100% = 42980 100% = 48640
1% = 42980 1% = 48640
0 100
For C For D
10% = 22980 19 9% = 38640 g
100
= 4208 = 4377.6
Onption (b} is correct answer,
337. (¢) Change was maximum in B
48640 42980
x10 - 6=2285.2
100 100

%)

. The difference of amount spent on transportation and taxes.

oy



338. (o) Bin 1997 = 12280x0 5709
4864010
i =——— " =4864
B in 1998 100
Difference = 4864 - 2578.8 = 2285 (Approx)
339. (b} D = 5000
5000
D% = =10.
38640 x100 =10.27 (Approx)
42980
Ain 1997 = 20
340. (c) 100 -
Ain 1998 = 28940 o9
100
48640 <22
: - 100 -
Required % = 73980 % 100 = ([Approx)
x 20
100
945560
= ==————= 115 Ans.
859600
150-125 100
h————_
341. (¢) 150

150

342, (d) P> 100 + 125 + 200 + 225 + 275 + 275 = 1200
Q 5 175 + 150 + 125 + 175 + 175 + 275 = 1025

P : Q
1200 1025

= 48 : 41

Type Q(2010)
TypeP(2014) *
150

= 375 % 100 = 54.5

344. (a) Average production (Type P} = 200
No. of years productionof Type P is
higher than average = 3
100 + 200

345. (¢} —'—150+225 x 100 = =

346. (c) Highest marks in First term
Lowest marks in First term =

x 100 =16.6% - 16.3

343. (¢} 100

Rati 100 1 1 .
atio = 0 N :
347. (d} Marks obtained term = 80, 80, 75, 65, 60
_ +65+60 360
*. Average =5 =72

348. (b Acc din questnon

s travel in publicbus

= 120
360"
349, (d) According to the question,
No. of Students do not use institute bus
144°

~ 360°

x 800 = 320
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350. {a} According to the question.
No. of Students who go to institute of foot is

72 800 = 160
B — x =
360°
351. (a) The no. of students secoring marks in the range
90 - 100 = 10

352. (¢) The range of marks obtained by maximum no. of stu-
dents is = 50 - 60

353. (a) Total number of studetns = 210,
no. of students securing marks less than 50 - 60

60
% of students = 210 ¢ 100 = 28;%

354. (d) Total number of students are = 210
355. (b) Let the production = 1 unit

increased production = 1 x 5 = 5 unit

4
', Increase % = TxlOO = 400%

25 +40
356. {c) Cost = ( ) ﬁO
50

- XR54 :
357. (b) cd&t o{'\@nance = 100><250 vy

of production doubles
. 50
:. cost of maintenance = 2 x T = 25 lakh

(50 -12.5)

125 x 100

Percentage increase =

37.5
12.5
. {d) Packaging cost increase by 2%

x100 = 300 %

O
100 100 = 63.75 lakh

. ta) It is cleared by figure.
. (b) Library and science
. (d} Required Ratio

sport 120 _4 _ 3
" Artandcradit ~ 90 3 7
90° 1
363. (d) by figred = Sog= o x 100% = 25%

= On art and culture.
364. {c) The total expense is spent on library
0

= x 100% = 16.6%

360°
365. (a) According to the qquestion,
X
= 100.17x 100 = (77.23 - 76.23)
100 .
= X = 100—17 = x = (.99860..%
= x = .1% (Approx.)




366. (b) The average production during (1920 - 1927)

71.30+43.51467.66+76.23+77.23+88.93 +91.75+100. 17

8

= 77.0975 [million tons)
The required number of year =

367. (b} Required Ratio
Production of steel in 1924+1925
Production of steel in 1923+1927
77.23+88.93 - 166.16 2077

76.23+100.17 1764 2205
368. (c]The average production during (1920 - 1927}

4 (1920, 1921, 1922, 1923)

7130+ 43.51+67.66+ 7623+ 77.234 88.93 +91.75 + 100,17

8
= ¥77.0975 (million tons)
369. (¢j Expenditure in 2001 of R = 45
100
Expenditure in 2000 of R = 45 x 120 = 37.5
100
The income of company in 2000 = 37.5 x 90 -

41.67

370. (d) Total income of all are = 35 + 50 + 40 + 40 + 50 = 215
Total expenditure of all are = 45 + 40 + 45 + 30 + 45 = 205
Saving = 215 - 205 = 10

10
Profit% = - ¢ x100= 4.65% profit
371. (d) Income of company q in 2001 = 40
100
Income of company Q in 2000 = 40x 110 - 36.36
Profit in 2000 20 7.27
ofit in = 36.36 100 -~
‘., Expenditure in 2000 = 36.36 - 7.27 = 29‘09¢' £
372. (c) Income of M & Nin = 35+ 50 = 85 }.
Expenditure of M & N is = 45 + 40 = 385
.. No loss and NO profit : :
373. (b} Maximum percentage of profit in the xﬁs‘?f 200F in
10 2 TuK
= —x100 -
Q 0 25% .

374. {c) According to the question, 8
= Students of who are not mem b.ny club is = 40
=> Their percentage = [100% +15% + 5% ]= 5%
= ie 5% = 40 ¥

Total student 100% = 800
= Their percentage¥e: =x100% = 5%
375, (b} According to thﬂ?ié‘n,
Cricket clyb 1
Foot ball o} 5% 3~ '3

376. (d} TotalpnumB, of Students = 800
= M both the clubs = 75%
=» Theirspumber = 800 x 75%

3
= = 800)<Z = 600
377. (d) Total students = 800

=> Members of only cricket club =
= Their number = 800 x 5% =

=1

5%
40

378.

379,

380.

381.

382.
383.

384.

385.

386.

387.

388.

L3

¥ o
{7 -
}%‘%39.

390.

391

392.

393.

394.
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{a) Total Demand = 10,600

10600 _ 5120

Avg. Demand =
Total production = 9200

9200
Avg. production = T =1840

Difference = 2120 - 1840 = 280
(¢) Production of company D = h Production of Company A

2700 = h x 1500
h =18
(d} x % x 2500= 600
x = 24
(b} 3 : 2
A, C, E) B. D

(a} D (Production — demand = 1500)

(b} ;03: x 60,000 = 18000

o
x 60,000 =

(a) T 15000

diy,

190°
{d) % on raw mate i %x 100 = 25%

,.
0

c) % of electlil&g'%;, 360°

x 100 =20%

20% — 1%,/ 5
(¢} - ‘QC!’.@ '3,—_-.._:-_“‘* = 50 ¥ 100 = 25%
(d) tra;;:ﬁrt;;ion cost of one book = @ =15
5500

transportation cost (10%) — T15
“transportation cost (100%) — 7150

(Profit 25%) Afteradding |

187.30
(d) 20% — T 30600
15% —> 30690 415 T 22950
20
(@} 100% — 360°
360°
15% — 700 x15 = 54
production of x _ 25450+ 40
- production of y 35+ 40+ 50
115 23
= 125 ~ 25
40-25
) = Tx 10
5
= Eg * 100 = 60%

(&) Production of company z {1998) = 45 lakh
Production of company y (1996) = 25 lakh

Difference = 20 lakh tonnes
190
{c) Average production of x = ‘—5*' = 38 lakh tonnes
185
Average preduction of y = ? = 37 lakh tonnes
180

Average production of y = 38 lakh tonnes

5
{x and z} is maximwmn




